[wan Aye — uay Ast |

ke : 6 2wsu: 2 [Qna : aadl 25U Un : [Kerad Asian
—— —
DR i e W2 Qiod [@Asey uaie s394 e viruul O Quil,
1. [Reaai Aotan 21 sieu sia A6 avuy 8 ?
(A) [R-eA (B) cunsia (C) axdladiA (D) R-euiair
2. [ReHidiA dotan 21 steusit s[Ad A seudl.
(A) dieus (B) -uneud g4 (C) uBwisus ‘siea’ (D) 2doud
3. el — el 4¥ wodi Aisin uRuR dau cuadl 8aill w6 ?
(A) Y ussidl  (B) dreuasl (C) adl »adl1 (D) 2idl ol
4, [eutdl 2 steuni Acuiril Alou HolA 9 53 8 ?
(A) ust (B) uxn (C) wel-u (D) uamed
5. ‘S [Bradui [Qecua w1’ W2 steudl s3L A6 quAALD ?
(A) w:l (B) S (C) [8g (D) [asaunzil
6.  DNAumiedl [R-g qui-i qu e Al .
(A) ®orag ol (B) i-uua (C) eusdora (D) Hs1®uRd
7. ollvi s adR | M oRual.
(A) vis (B) 2218 (C) Héue wudioR (D) 2ule sis=und
8. w2 Qe oeudl.
(A) +ile (B) uRere (C) gan (D) 2l
9. s(a Al el A o1 69 ?
(A) aH wA 9 ddl  (B) 2=vis MRd 9 ddl  (C) st Wit 9 ddl - (D) uduet 2uamun © dell
10.  ADA-usif cndla AglA 4 2u0g qa sy el ?
(A) [Alaami sisar (B) AdaH auesua (C) awell :ad-udl (D) 2nla &g
11, DA wiedl GuRd Hididl Adidd sa18 ?
(A) 2120 214 A2l (B) aflot A ador - (C) sull 21 R2a2 (D) e o
12, AH AR Wi’ AL AU U Rual ?
(A) acilil (B) aaller (C) -uns (D) dgcua
13, ADA-umiddl ddoir aee-l ax-udl aoe syl -l ?
(A) Qas1R (B) a-tart (C) xR (D) &R«
<+ % ANS. KEY &+ %
2 3 4 5 6 7 8 9 10 11 12 13
C A C D C B D C D D B D

(1)




[wan Aye — uay Ast |

ke : 6 Asu: 3 [Qna : aadl U un : [Bsa

> DAL E35 UL st w2 dudd [Aseuinidl [Aseu il
1. Ree’ st Auisd -un yual ?

(A) d sud (B) -uaicud g4 (C) 4L »us.3. dlwullaun (D) wiriarlis
2. ADA-uuied si.[Qesullawn w86t U yads weudl ?

(A) HidluRl (B) ausSaru wllo (C) GeeusSA uivii 2udl (D) eiéa o
3. (el 1 Aadl y[d 2 e ereudl

(A) a4 01 4 o) ed). (B) uiou 58+l 4 ¢l

(C) -1 i1 WA 851 AL Sl (D) 4l as edl.
4 anHML i [Rulasd a8 8y 8d ?

(A) yldd (B) g (C) yilea (D) #le2d
5. ADaA-unie 56 2wl ozl Al

(A) 4[d (B) lael (C) Reln (D) #lz:
6. DA asadl usi weudl : Frase sl dal w21 Riedld i el !

(A) GgauR sy (B) wusausu (C) mg sy (D) zusd awsu
7. AR, Alid, 4912 A UER 2SR 2UUAR 3 Sl 512

(A) asdu (B) [l (C) siaxellsi (D) mdlcusiz
8.  A-uuidl sui uoe (335 el

(A) sadi sadi (B) w2l vand (C) #isL %13 (D) Aimnd)
9.  yadu3dl Bud din stucn dR wal R 0121 Al g sl ?

(A) stwdl (B) %3z -l

(C) W2 cul Wi 89 d-iefl uA 518 sdlue el (D) ugdl sla
10.  dmiRaui Al ag sim s s 9 ?

(A) W (B) (C) aus (D) 18
11, “Gldid’ ase- [Qzenell aoe ovual.

(A) WR (B) ax (C) urs (D) g
12, DA causyHl Us1R eual.

UElRUL A uull 21 6 y[d2il 32 8 P

(A) g sy (B) s cusu (C) Geour asy (D) uusd asu
13, ya3 s sint uR W W aud 53 ?

(A) $int wRA6L Sl (B) uasil $12 WAL 245 WRAGL Sl

(C) 1<% 4 A™MUAL Sl (D) 2152 U3 sd
14.  [R: ase w0 uoe-l ax-udl aoe il

(A) AeR ave (B) ave [a-uq (C) 2ot us (D) [asin ave

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 11 | 12 | 13 | 14
D C D B A B D C A C B B B

(2)




[wan Aye — uay Ast |

ke : 6 AsU: 4 [Qna : aadl 25U U : AAAS neRIY
—— .
DAL EI5 UL oL w2 2l a [Aseuinidl [Aseu il
1. A% AL YA ST UM Ul ?

(A) 2l (B) areR acamenss  (C) 2Aqeis wsy (D) “wrueua
2. AA2(52 HYIRAY’ WIS~ Avis- UH Ul

(A) deus udlw (B) -uaucid g4 (C) d.BuRfRis udd (D) ddona
3. waRe uisan 3Ry 242 Ul

(A) waren e (B) waL Guisan (C) warmi ugd (D) a32ud s24l
4, AA252 SR’ A HRRAS L Ela’ s UL ?

(A) audle (B) sals (C) ureR w2 (D) »are Heusll
5. AA2(52 HYIRAY AL %~ 56§ AaHi AUl ?

(A) §.21. 1890 (B) .. 1884 (C) .. 1871 (D) §.u. 1875
6. Rz wadl vl el snagh 1ol ?

(A) H&nd-l (B) aud 2ai-l (C) ugufl>u-l (D) ustnai-l
7wy 2Rl Al R si-) wAsd) 1wl ed ?

(A) 232 wasl (B) Hir wiziell (C) My wiziell (D) [agufl wizill
8. ‘ALSSEU UR ATIL AAIAIR M2 AMS SUL A6E AL O ?

(A) 2Aasis2 (B) HswR1e (C) Aas (D) 23®
9. |8 el 24 Rual.

(A) |2l A (B) dd¥sd (C) uswngld (D) wienes
10. g5l wiel W2 Ml 33—32 4o A 6lFoL sAcui d-uell dua 54 M 1,

(A) well 2uu-R (B) siiZatcuon vy (C) usiriey (D) [z

<+ % ANS. KEY &+ %
1 2 3 4 5 6 7 9 10

C A D D B B B

(3)




[wan Aye — uay Ast |

ke : 6 Asu: 5 [Qna : aadl 25U U : AAAS neRIY
—— P
DAL EI5 UL oL w2 2l a [Aseuinidl [Aseu il
1. "uded-ll Wian" sieun sla- A gual.

(A) ulaeis: e (B) ddcua (C) -uneud gd (D) »dzaie Hanell
2. sl wsA qaudl g 59 Wian eud O ?

(A) u-d-l Hiuu (B) ol (C) aquicu-ll (D) Gruoul
3. 9dlGu sl ud s 9 ?

(A) A4 (B) {3 (C) Agen (D) 4d
4, s(a dldlojdlA 9 duiR sau 58 ¢ ?

(A) il (B) a2 (C) v (D) vidr
5. swl3u suBeala s3 9 ?

(A) 313 Guz (B) §siBur (C) >usani (D) i
6.  gaR-l saudl w2 s[Al sui woe aruai o ?

(A) uvi (B) 21249 (C) qial (D) el
7. s[a Aled-n g s seui e ?

(A) 229 (B) awxt (C) laul (D) ulax
8. AAULE AR UL AH sl o €9 ?

(A) $sazell (B) 25qarell (C) el (D) aGazull
9. "B6l, A1 24 AU, ) H3ul L L AL SiA 58U 9 ?

(A) 2l (B) wause1d 183 (C) el [Adsivie (D) ueun3s
10. Al A 5 e steaurl oul......

(A) vl (B) earc (C) wer (D) vidz
11.  @isi-i Sl 2uis well s ol 8 ?

(A) arzue 2uadl (B) 112 et Sicuell  (C) udHiA 2uqauell (D) waiot icuell
12. a1 2l A s s vl Gley © ?

(A) siud (B) $82d (C) adl (D) <€l
13.  wsesinnl sHui Al udal 268 531 2ud d Feudl.

(A) [dun (B) [Que (C) [ana (D) [agin

<+ % ANS. KEY <+ %
2 3 4 5 6 7 8 9 10 11 12 13
A A C C C C C C C A A B B

(4)




[wan Aye — uay Ast |

ke : 6 Asu: 6 [Qna : aadl 25U Un : Quiar ondll i 2L
—— P
DR iU e W2 qiou [@Asey wris s34 duil,
1. ‘Quial el Al L wisHL Auise A Ul
(A) HRaRis siga (B) Adoud (C) -umcid g4 (D) Bairlis uidd
2. A % %YL 21y ; A3 DRadi 2 asumi su1 QARG GuaiolL AL 6 ?
(A) a3l (B) 21¢u [d1m (C) 2nade g (D) »ndlam
3. G unHl A8 weu — i Ul3dA o sda ?
(A) 32w (B) slaa (C) s8ad (D) Q2R [@zdiR
4, vinrell ool o - W YA $30 8 A SIS 77 — 21 Asuul s Rg auda 8 ?
(A) 2rR[Em (B) 2x1culdrm (C) 2nadw g (D) xélan
5. “,...5 senAdeusS ! adl wd olZud AAA 1 — 20 asuul s34 RgA avda 9 ?
(A) 2lam (B) 2teuldm (C) 2nade g (D) »ndlam
6. s il Gasd — 3RuUldLL 2 orvual
(A) s5a L 2uadl (B) awi wiad (C) vilea 2uadl (D) wui ting
7. e S U AL — 8-l 242 opeual ?
(A) st sty (B) 1 2aa (C) ad radl (D) 1™ 61g uHAA
8. SU1e 580421 QUL 2 s sa [A-dl 531 ?
(A) s udlsi (B) @i ¢l (C) swallaud suas (D) da-u sou
9. g siri ed ?
(A) ssniad (B) smed (C) 2und (D) u8:3ed
10, cul®a [Qeu sioaiul € ?
(A) Rud (B) swiesd (C) alza (D) ssnziol
11, SuAerl HAAH suL ol auAA Al e ?
(A) ‘vune meu =3 ! (B) ‘uwo; 2yd 56 59 94
(C) “Hut, 24 243, Ay’ (D) ‘inga diell Mt 2’
12, SRWRAL Sirll AL ol Qe ?
(A) ssnRidiru Bt (B) Hidirw (C) vanidl-u (M EMIEEEIRAALT!
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 11 12
A D C A C C D C A B A A

(5)




[wan Aye — uay Ast |

ke : 6 wsu: 7 [Qna : aadl 2sU UH : WId — uad

g, e

-—

o DA usirn st 2 4oy [sey vae sAA 20l im0 quil.

1. 4l — vad st slad - eeual ?

(A) ddcua (B) Aasell2 (C) dd s (D) an-l
2. sld v 5dldd stuaurl A 5269 ?

(A) 4R — 4R (B) »3udl (C) aidel (D) - Gonelld
3. sldSid v 58 8 ?

(A) wou- (B) »idz (C) 2l 4 (D) 2um
4, @Ay Ao ?

(A) nasa (B) 2% (C) wom (D) $ese91ul
5.  s@gaviaised?

(A) vilea (B) [Eua (C) dsia (D) wu
6. Al3d, well, ueid, 3 axd- ¥Ad d..... s d ?

(A) aseuus (B) [Qgina (C) dsu (D) ud-unm
7. Ail% AR WHNELA SIAYHL MRAUL Sell. dui ALl A 9 sl ?

(A) ave uns (B) alsaaasdsu  (C) [ (D) Ad-un
8. UOLA WAL A 51Ul USIR Rl

(A) wel-u (B) ax»e (C) ol (D) siag
9. s[A wad yad Aad A 9 warzladld 58 © ?

(A) dnaal (B) 54 (C) kai (D) nan
10.  wig aoenl ax-uel a0g oual.

(A) vusi (B) wisq (C) ddar (D) g

11, ‘dudd A 24390 o1 208 uddd 56 A e ?
(A) s s (B) #1dl cuas (C) v cwus (D) v cwas

12, 93, €, udd, ARA4R, ugl, U, IR, UM, W, $A A3 UMl 56 A sld & .

(A) alza s (B) s s (C) v s (D) #ndlanus
13, sd S ws Al 2uuaunL 8 9.
(A) [Ret, 2ild, A (B) Hs8IndL (C) G2 [z (D) Bua
<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 10 11 | 12

©

A A B B B C B C A C B C

(6)




[wan Aye — uay Ast |

ke : 6 Asu: § [Qna : aadl 2su U : Broad ulq
1. Udd wsdi AR usi s 9 ?
(A) ais il (B) dis s (C) g s (D) siié cual

2. addl uaR cusws »3vu-l A g iy ?
(A) 152 el Gl Sl
(C) s 515+ ud clied Sl Sl

3. el well 531 cugaus 9 s isL ?
(A) viedll (B) wel-u (C) 2t 2
4, Sl QUG AN 531 Sl ?
(A) cusus-u (B) siom-uL (C) gauvuru
5. AU UR $UL ABIH ALY 3 8l ?
(A) »1rvis (B) GrRwis (C) visa vig
6.  Friulicudl [Ba 6213 Al S11-L B W] W2 sUL AE AuAULE ?
(A) syl (B) siamia (C) silie
7. ongusd o118 el Guidl dan 5w s8y ?

(A) d 2041 sat dell

(B) -5 o3l Aidu- Aol el
(D) A5 AAUH 53l &l

(D) rwmw

(D) Brrea-u

(D) il

(D) sunflon

(B) tigavis-t Ao A3l 530 8l dedl

(C) s1nxeud v iy ddl (D) @ivll awollui udl dsd
8. e[l 51 S8l ussul ?

(A) Rrusx (B) cusus (C) sizllaR (D) Brewd
9. A5 aiet ma-R 59l ed ?

(A) slan (B) a-uula (C) Brura (D) 2un @ist
10. il el $291 bus S AAHA 64 s . U s S GUA 9 ?

(A) slan (B) B3l His: (C) Brrua (D) ~ualaa
11, wad, vidlle, 2, W2 §6 Asuiql A 9.

(A) aus aas (B) cua was (C) la cwus (D) geu awas
12, 2l A, AIEA Bl AGEL 5O AL HR2 AYAAED |

(A) ®naas (B) 1l cuas (C) uus was (D) geu aras
13, DA-unidl sul aoe uxe Aus Ase O ?

(A) A~ (B) [aenell (C) »tux (D) Rws
14. ol HEE HULAL IS ... AGTAYE WIS $UL AGE AUAA &) ?

(A) Brewn (B) urwa (C) Sesion (D) S-um
15. R aos <l ol s iy 9 ?

(A) oluiR- Mios+ (G EEERRTEN (C) iy ®ig- (D) 2a3ull 2134 4.
16.  2AouRl A siall St W2 9iel YR A31AAH] A 9 ?

(A) 9l u2 (B) 2521 6u2 (C) Hiad (D) a& Guz

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 111 /12|13 |14 |15 16
C B D B C A D | A C B | D/ B|A|B|B|C

(7)




[wan Aye — uay Ast |

ke : 6 Qna : aeradl 25U un 2 Yell-) uiv 1 wie
—— .
1. ol uivHl wie” wisHl AL usIR 5416 ?

(A) dissa (B) discudi (C) etircual (D) [Reia
2. Mdd Wsti Auis s e ?

(A) RaRis siea (B) sist ko sdas:  (C) stBaARis a3t (D) sLBuRRs A6
3. “UIER” AUGE ALMULAL Y QL5 -l UM A 8 ?

(A) g (B) 2¥Ru1-i (C) g:vi-l (D) @il
4, Auts wigA ol suL unedl i 8§ ?

(A) cuatin (B) 21iex (C) A= (D) iRl
5. Auis gl WAl — wHoaal 1yt sud ¢ ?

(A) 2t (B) aisde (C) asauSii (D) 221
6. g2 al 54 ga wididl ascusSuil aard 28 © ?

(A) a3 (B) dlmsi (C) Nluni (D) Wluz
7. auuL wigHL vt wiell Wlan w12 oi-udai 31 9 seain ?

(A) vusi (B) seust (C) wuneust (D) dvua
8. e siuAMANAD ?

(A) aigu-il (B) uaii-ii (C) aifluati-il (D) disi-i
9. A3 @Al 101l ALU3L S S8l ?

(A) i YAdA (B) wsiaun (C) 2tigaA (D) qa
10.  lrid — GdR 2A%RdA Wl 22 Ly €9 ?

(A) M-l (B) @isolldi (C) 21=06u-l (D) eu-it
11, Qw3 i UMl WL 58 6 ?

(A) qad (B) aaueq (ENETE] (D) ascur
12, 1 WSHL 501 AU W2 521 AGE QURAAL 8 ?

(A) sl (B) s1012l (C) silie (D) sianvil
13, UM, yu, e 3 g Ban Asel 58 A sld 8 ?

(A) @alsa aias (B) vy (C) ;uaaas (D) lacas
14.  Ho 2udl ogaur 212 W2 U1 A6E AL WSHL QUAALED ?

(A) %@l (B) 2usl (C) wsiscudl (D) Q221
15.  closid 3 dweua A sgouud ?

(A) sidlaust

(B) trrursisl

(C) naradL

(D) vuRielsL

<+ % ANS.KEY <+ %
2 3 5 6 7 8 9 10 |11 |12 | 13 | 14 | 15
D D A A A B C C A | C|B|]C|B]|C

(8)




[wan Aye — uay Ast |

Qe : 7 2wsu: 2 [Qna : aadl 25U un : up-l adl elunsll
1. u-lad ellunell sieunn sla s e ?
(A) (R Heal (B) uruaid uia (C) Hed 2uidl (D) a4 ™g
2. gl 8 Q0RHEN MBANAHL SiA Aot s 2 S ?
(A) aellA (B) uéur (C) =[RigA (D) asieun
3. oud) sivit viaai agmell 2ud ¢ ?
(A) aell-u (B) gl adl-u (C) asiau-u (D) ueu-u
4, Avil sa aiA aglaand 58 © ?
(A) Glau (B) ust (C) da (D) 2uncudla
5. aluHidl asiau Hi2 9 vl e ?
(A) vuedl (B) sy (C) dlasi (D) vvil
6.  dRul i@ su1 gaeL uir-l Asda el ?
(A) 2uAiuda (B) vl (C) -uldaz (D) 30
7. Al dlRuidie sui vitaal 58 © ?
(A) Rl uR (B) 4ile2 w (C) eural (D) %3
8. Al Als el yar s O ?
(A) Hidlsil (B) uigsiel (C) aimell (D) 32l
9. oyl 8l el sl sun [Qenomi ysau ?
(A) QN (B) &ilBadfla (C) 2uvuin (D) 2wrell
10.  um-l adl 20flumel’ siani wsll’ w2 sal aoe quaa d ?
(A) (B) 4 (C) aul (D) Ges
11, wuedl adl 0flumell siequi Al sid asian s8 8 ?
(A) ulan (B) Badu (C) 4l ymaA (D) awctm
12. o gu-ls IR Houddusd $120....
(A) Aisui iz (B) ®dratt 2t #i2  (C) ulaz well Ylar e (D) dtaisi- udL usina
13. €« @)’ 2ed...
(A) dlswa (B) uvll (C) M2raur (D) il
14. 56 6t AR Houda uvll 58 8 ?
(A) 1él — ardl (B) el — awrddl  (C) aists dxal (D) oiou— aH-u
15.  sw welai-) i 8 R aa-dl daqn 53 8 ?
(A) Ris (B) w1l (C) et (D) =isi
16. %+ uld said siu dd) 201
(A) [@Qaa (B) [aa: (C) aisiow (D) ulastcu
%+ % ANS. KEY &+ %
2 3 4 5 6 7 8 9 10 |11 (12|13 |14 | 15| 16
A C D B D C | A B A | C D A|D|B|C

(9)




[wan Aye — uay Ast |

Qe : 7 2wsu: 3 [Qna : aadl 2su un : udan
1. 20 wsHi [Qenlaisidl »i24....
(A) Raaixn@5  (B) Qe x1land (C) udla (D) uzs1l (a5
2. ‘e’ dldi- AvisH -un oudl .
(A) ulaw e (B) urueua w4 (C) ausd (D) sis1 s1das:
3. ‘ulaw wsll A32UAHL Auis 5 Hedrd ael sU O ?
(A) are (B) aa (C) wrvR (D) ani
4, HiA YRd Al 519 2088 saL QY ?
(A) il ua-t (B) 212&-l uan (C) WA -l yan (D) il
5. Heiga-l o2 xAsuis 54 defl ag ?
(A) Hid iS4 (B) 213+i1 353 15 (C) Godail %S (D) wid vidl 2uud s
6.  HSISd Uidlrd £5dR S A ?
(A) gisA (B) r@sis11 (C) viananA (D) wAllA
7. ouuuidl disi-i g0 widlA S8l VidR qqied ed ?
(A) usied (B) vaunamA (C) sis1 (D) r@sis1t
8. W] Sl31HL HRA — 2id HeIBAA 51 58 O ?
(A) 2uad (B) sis2d (C) usdA (D) ewred
9. Ha1gafl viiviui Hinadi-l acusl sidl i ?
(A) S=usel (B) wudlA (C) ais? (D) -ues15131
10.  usigadl sisi-l A/id 3al Sdi ?
(A) Hradicugl (B) vudlal (C) 52 (D) s
11, usigadl A821 Wi w31l edi ?
(A) anell (B) iyl (C) Slusll (D) wuell
12, $-Us23 He1gad UUR Uyl S 54 sul ?
(A) 2u14 (B) ugiauwouA (C) [z (D) quraS»-
13. [Rraglaqn ueumi s2an [Qeudli 6t g ?
(A) 2us (B) £ (C) 2 (D)
14.  DA-unidl sul 20 olddl avid AL AL ML GUR diotad 243184 sllcuy € ?
(A) i (B) Ad (C) aid (D) Al
15, ounuidl A 4w e9ey ?
(A) 2ua— @A (B) Aa1 — visud (C) Gled (D) aisid
16.  Rrugla) udlau st daid ed ?
(A) [2was (B) 83scus (O RASITENE] (D) S-usez o
17, 63l HIHL YL 8L ?
(A) HHAAER (B) widla (C) saus (D) acud
<+ % ANS. KEY <+ %
2 3 4 5 6 7 8 9 10 (11|12 (13|14 |15 (16|17
B B A D A B | A|A B B|C|B|C|A|B|A

(10)




[wan Aye — uay Ast |

Qe : 7 AsU: 4 [Qna : aadl 25U UH : A vl wRas
> DAL E35 UL st w2 dudd [Aseuinidl [Aseu il
1. Ailova su1 auSunuA wnal Bedl gaud ed ?

(A) ais scusa (B) ais 3ae16:il (C) ais (-2 (D) dif WG-2 slen
2. U8 AEleoHL 9 Al 8el ?

(A) yAl (B) WAl (C) aR-A (D) el
3. ‘6L vitettl uRAs” wisdl ad el 3....

(A) gy 4 aurd  (B) das s:al (C) u1asiql Guiol s34 (D) Hrittd- A1l gl
4, il yausdd W2 suL AL SHsIR sul ?

(A) Hizaudl-L (B) 2wroudl-il (C) [asunii (D) gl
5. R4 — 2294 Si g2l s 8 Rl Aell o1ud) el ?

(A) AER val (B) wasraid Asxu  (C) idleo-u (D) sLRABUAEAL
6.  uausdrl wHrt duy seudl uedHl raeid) Aidlwa sid Al edl ?

(A) yga e (B) Hrt8 A (C) u2eR uean (D) Ramazn
7. ARl [BaAlui 61y Ui+ M- 32l Aol Adi ?

(A) 10 awy (B) 11 @i (C) 12 awxy, (D) 1
8. HAOIS L GUYZDL VALALHL HUCAUL AR UYL 9 5l el ?

(A) qvidl 8l (B) %Hdl el (C) Gladr g (D) su2d $2ql
9. Al Ut Fdd- seurll oull 812 g tldidal Hidldl Sd ?

(A) el (B) aal (C) desdi dist (D) ¥idzi
10. @ %S Sid 9l At Mol B W2 d awud — dui e 9 Aidl set ?

(A) 2 (B) [Ea (C) xulRas (D) saiél
11, vl uWRAS’ wisel Quise -1 eudl.

(A) uncna ua (B) Hr1e18 Uil (C) ‘ausq’ (D) sis1 s1das:
12, ‘Gl virell uRAS’ wisHl SR eudl .

(A) siia s (B) waidt el (C) 2ucusu vig (D) 2dde-t su
13, DaA-uniell sul woe Auiys’ A ?

(A) 23 (B) 224 (C) % (D) i
14, “Aaqr Al gy ?

(A) S (B) s1 (C) wor (D) aass
15. [Bisirui idle ad) sia siu dcuad ?

(A) ygaL 48 (B) 2a usia (C) g2 (D) o8

%+ % ANS. KEY &+ %
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15
D B A C C B A A C B B|B|C|B|A

(11)




[wan Aye — uay Ast |

Qe : 7 Asu: 5 [Qna : aadl BsU UN 2 AL

o A usAi s e QoY [Qsey ude A1 quil.

1. W51 84 QLA A WEA AL A D 5 ..............

(A) 2usna Al evusl  (B) araue arusl (C) [2au 2uana (D) axdl-i »us19 vasl
2. aesell ofl 2142 w9l ?

(A) wsA wel waal. (B) eRul wassl

(C) euon uell wigll usan qrd (D) arqil ¢lonsl
3. qRE A S 195l oIl 5 9 ?

(A) 2uu4 (B) 1irA (C) asdli (D) unA
4, g si-iL 2iacufl Aiui 2ua9 ?

(A) aRue-u (B) Hiz-u (C) arnu (D) araue-u
5. dlea sui yddl o ?

(A) 213 U2 (B) s u (C) a2 uR (D) #ile2 ur
6. QUAHD sl s[A-d un 8¢9 ?

(A) ausd (B) ulawa e: (C) aa ™z (D) Ris H8a
7. DaAqumie suiaoe A AL auudl 9,

(A) wr (B) #a4 (C) $2r (D) cuen
8. QU Sledrl USIR Ul .

(A) uslaola (B) ais Md (C) @al3dt et (D) sun od
9. A’ 5ULUD 8 ?

(A) gl (B) 2u-u (C) Amui (D) "™mi
10. R AL @ ?

(A) a3 6§ (B) xR 418 (C) usi6ié (D) Glz 6§
11, -l Mg @a 8 usal’ ansaui [Qsive eeudl

(A) usal (B) 24 (C) @a (D) ouag

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 11
B D B D B C B A A B D

(12)




[wan Aye — uay Ast |

qRaL: 7 WsH: 6 R : Aol BsHrd -un : ol
DAL i e W2 Qiou [Asey uaie s394 2uda viruul O Quil,
1 2l WAL 6611 224 ...

(A) ass usdl (B) olls (C) A (D) »omeue
2. S 215 % Aldrl R 423 254 Yl v adl al’ 2Aed....

(A) Wil 42t (B) s2wa uz 2l (C) A3 u 2l (D)us UsI-L Al 2l
3. ‘@llur’ WIsHI, L 9IS M €9 — AGEIAL w12 WL 6 ?

(A) s sl (B) s2omi gawier  (C) sHudi (D) 21391
4, ‘el wisHll g2l suL adAL & ?

(A) ledl (B) tuglcus (C) 2z (D) dlryz
5. dlyell-) il il sivdl ad) edl ?

(A) qrusiell (B) B e (C) ansi dl (D) s ol
6. gRaosl Al A5l sHIAHL 51 68 8 ?

(A) anteun 0l (B) soum 0l (C) [ (D) eilmy
7. s 50 U Sl 281 520! 2L Al S A S ?

(A) allwg (B) $oun 0 (C) aisi (D) €34
8.  yeyni wumidll wisuA sidl sdl dlal ?

(A) avi3 (B) soun 20 (C) sisd (D) w23
9. 2S5 SUSIMIL YR Sirl dRs el ?

(A) 91531 drs (B) &isu-dl uiL s (C) avis dzs (D) @isi dzs
10.  MaSN gsiui gsire w e Aad sA el ?

(A) ddarA $181 (B) Hl618 1S asiy ddl (C) disiA susdan (D) aisi-l 581 $1281
11, [Greudl 9 V20 9 ivuddl sdi ?

(A) sl (B) W (C) wasll (D) o124
12, ‘ollv’ wigni @uisH -um ovual.

(A) 2adlz A4 (B) t1sa =Nlwél (C) auzd (D) uicna ue
13, ‘ellw’ wisHl usiR eual.

(A) de s (B) wxidt agi (C) vt s (D) Reia
14.  viaid dieus @d Al .......... 2L ALSY 5101 U 9 ?

(A) aus (B) [dawy (C) wisall (D) Glamiall s19id #9153
15,  ueL ¥ ol su ? aisumi dlE) £ © 2 s [QamRgA © ?

(A) Geaur [Rg (B) 2rf@n (C) yal [am (D) uz-ugl R~
16.  ADA-uniel sul woe ‘geaw’ aoe-l uxrull aog 4l ?

(A) dra (B) S0 (C) qwu (D) arcnadl
17.  ‘aid sous 30 3uaiot-l 21 oraual.

(A) anens oa (B) @l flu uga odl (C) [Rua ae g (D) we $24
18.  31SdR W2 WsUL Sl A6E AYAALE ?

(A) s (B) 8isnR (C) aca-R (D) B3-s

<+ % ANS. KEY <+ %
2 3 4 5 6 7 9 110(11/12|13|14|15|/16|17 |18
B B B | A | B B B A|A CIAICID DA A




[wan Aye — uay Ast |

Qe : 7 wsu: 7 [Qna : aadl s UH : @ar W AY

1.

10.

11.

12.

13.

14,

15.

16.

[ 2l eqA sidorui ¢au 4 Hisddd [QaRdL sdl sia 3....

(A) £ SRR A 8l (B) sido-l 4l ag Hid) ¢

(C) et sH1dl 53] Batl 8ell (D) sxirit teus cusuil sidy Ui Rvsn el sl

‘@an WAy weHl fAaR yuiar xeq .........

(A) Qi sBisar  (B) wa (C) eau (D) Hirael

st51 A0 sunuRil $20flos-l su1 U sl ?

(A) ud (B) en (C) s8¢ (D) 15

Quign 2uvdl 2d 2udlui Gla 4 puqaid siReL sy sd ?

(A) Auisa ueidl Adl 8l (B) Auis+ll diog=u vig 2] e

(C) avisi i s~ ) (D) AvisA 2 84 € 59 dd awfla,

‘@A WAY’ Uls AuisHi Ul uds Hidl a9 ?

(A) ML UL (B) @ari-ii »u-ig (C) ®andlal (D) R il weu

‘CrA 1A% UL el o HisAAl wg udd Al 519 454 54 e ?

(A) RMa¢ (B) Mt (C) cus (D)

2 quid A2 Radlomi ol e 59 udlan wa sl usdl ¢dl?

(A) vin.zin.0l (B) 2. 2i.:ll (C) Dlun (D) wda udlau

Auis suL el 1132 2L ?

(A) 2qauui aHoEa nani (B) ani x4 oifEa A1aqa1-l

(C) ari1RHi AEIRAIR AAAdIL (D) Agsuarit uwal-

Auisl gl sun p%a-l 2003 261U et ?

(A) yal (B) uiadl (C) aal (D) -ulas

¢ atsuui Bur A slarl M gl d asy s s siu ?

(A) adwur s (B) mdsin (C) ailawasin (D) yal &asn

QUAL]ALS 539 21 5L 5101 YA D ?

(A) Masn (B) ailawasin (C) adnsin (D) 2is wa dl.

DA aogi-l 2l oisell awnl ave suL e ?

(A) ylalkid (B) ulRaxilA (C) ulRalid (D) uRaladl

e i [aeandl aoe oeudl .

(A) 21242 (B) Q21w (C) Brxmza (D) EXESEL]

‘@art — WAY’ UISHL USIR YRul.

(A) de s (B) sliasa (C) [oia (D) 2ucHisa

‘@ —AY’ YIsiL Quis el

(A) st 8o sidas  (B) ausa (C) aamz (D) [ 1

‘BUE 612 L 2itad)’ A 3[3uAioil viel i Ay 9 ?

(A) 2uau + sudl (B) uldrsl Gedl ad) (C) cuas as Bled (D) 2usd Al3d as %4
<+ % ANS. KEY &+ %

N

5 6 7 8 9 |10 | 111213141516

3 | 4
A|lB|]C Al A C| A B A|B|C B|/D|A A

(14)




[wan Aye — uay Ast |

Qe : 7 2wsu: 8 [Qna : aadl BsU UH : WAH SAAL WR
e —— % =t

(o

1.

10.

11.

12.

13.

14.

15.

A usAi-w gaier 2 Ay [@Aseu we 5901 2004 vi-uml O Q.

WAH, Hi2l SAUL d WL 2L ASY 510 GNA € ?
(A) sla (B) [euz

[Bu2A slRuruz qu 2 ol 291 ¢9 ?

(A) s (B) 28«

(C) cuedl

(C) s

Al WA Wil uld qal’ — 2l wld yadl 224 ...

(A) eilea 2uadl
([Eu2 cuedld Sau ssued ?

(B) 2 suin >
(A) uuerR (B) su-ll
[Bu2 au Al AuER S ?
(A) ags-l (B) 2um-il

[BuR sl vid 8, w1 cucll-i uld g $3 8 ?

(A) s 8 (B) uaul 52 8
ASIEL SSIRIR HIS SIUHL SUL AGE QUAALED ?
(A) awan (B) 1an

2L S1UUL Si-L uoi8 <A sl Aue 9 ?

(A) cuedl — €lur i (B) cug— cucdl-u
VYL SLUHL SR S, 2512 5369 7

(A) By — cucllA (B) cuedl — [
[Bu- su1 6ie sHIQaL od €9 ?

(A) slest (B) e

aedl SiA 200 58 € ?

(A) [BurA (B) uldA

A 5l AR uRIaL 526 ¢ ?

(A) »at -l (B) uenell
st sl Risadlw’ aoenl x1e iy €9 ?
(B) s

s[A wiel ¢Aui Wl sid 58 69 ?

(B) [euz-

QA Aoerl A2 w6 ?

(A) Rigii 2y

(A) &L

(A) [ sismur (B) t1ngalig sistu

(C) sl 2.

(C) sedl-u

(C) 2un-il

(C) A &

(C) ~ulas

(C) eug — o8-l

(C) aus — cueild

(C) s3can

(C) Waun

(C) a1 — 2usl-l

(C) dlast

(C) maHA

(C) o sisuR

(D) -ulas

(D) v

(D) uRet duiR 2l

(D) suzell-u

(D) 4Rl

(D) 2unu 53 6

(D) wadie

(D) [Bu2 — yguell -z

(D) cuell — cud4

(D) igdl

(D) uu1A

(D) su#-)

(D) aaglu

(D) aq

(D) asia 8isu




16.

17.

18.

19.

(e HSIAOIR AL 215 6127 DirL HIS SIAHL SUL A6E AUAALED ?

(A) Risaglu (B) »1an (C) wrwn
‘elsen idar 3[Rudior ued g ?
(A) uiosHosL 54 (B) uyeq ad (C) ud 2ud)

HLAH SAAL HIR' SLedll USIR wRuAl.
(A) uslaoa (B) disolld (C) 3ol

AQan AU IR’ 1 B 1S w4 2ud’ AL ...

(D) nawn

(D) us $:d

(D) awva

(A) cui o 8aL |i3 (B) Ay vl ©  (C) vl usu © (D) cuiell Rigadlu %
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10
B A B D C A B A B
11 12 13 14 15 16 17 18 19
A B C C D B A B A

(16)




[wan Aye — uay Ast |

Qe : 7 Asu: 9 [Qna : aadl BSH N : 61 -l sl
DR i e W2 Qiod [@Asey uaie s394 e viruul O Quil,
1. ol Il 2 Baiq 22d 33yl Alsoll ugt o 9.4 awsunl 249 9.

(A) o 33uell iea Hid 69(B) ou g el o 9(C) onoumd ol 2889 (D) buwie s3 8
2. ol 1 15 QY H2d....

(A) R (B) sn—sa (C) Qus (D) i
3. AuisHl a2t o’ 224....

(A) a8 £, Q=) (B) noid siian-ll (C) aidz an-) (D) 3R Gewat
4, ol $413 AL [l BRAYL 2AMd © ?

(A) suuta g R (B) uldlae 2ud cn  (C) usishA cui o cn (D) €lsuA 8 o1 R
5. 61l HI2 215 % AGE AURCAIAL SIA dl ...

(A) s4s oul (B) 154 o1 (C) cwellell ou (D) v ou
6. o siA ‘@l A, @)l A’ 2AH Avis 58 O ?

(A) &L (B) uHu A (C) een (D) vz
7. S8 60AL DA AAYA AHIA 8 ?

(A) yoll (B) yall (C) M1 £ (D) i
8. 611 A AUSIHL HSarll UL LS el el ?

(A) el (B) [agsll (C) Anely (D) AL
9. Auts AR didlol Hie sid 58 © ?

(A) tus (B) Mz (C) awsi (D) a4
10.  ourdl vt s el 2 odl ?

(A) i %S (B) €154 i (C) Rt aid Astrai (D) uld-l aid Asndi
11, surl @anadid [Q8 [QanRdi, adul {im 35 asi dd sueid 55 ¢l ?

(A) ai-l (B) nizieus -t @art »i3i-(C) Aeuril 2431 (D) eu i Hasia-l
12.  ou il viud sdi i ?

(A) el (B) st—sdi-l (C) sn—sai-uolly-dl (D) dlo-l
13, suet cusial Aus su1-ud e © ?

(A) saadl (B) A (C) 2@t (D) su2
14, e uden sadl - Rsd well vidlAd cadi ?

(A) 3id WRsd (B) a3t wiRsd (C) asvll Hisd (D) 153 WRsd
15. ‘ol il AL Wis+Ul Avist -uH Ul

(A) ulaw g2 (B) seda vda (C) Bair iwdu (D) 4a ™z

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15

bp| b, b, B |B|]D|]C | B | DJA|C|B|C]|A

(17)




[wan Aye — uay Ast |

Qe : 7 Asu: 10 [Qna : aadl su un : aqu-l xnasel s

——
“-.—_-==

o DA usin gast # 41y [sey e sAA 20l vi-ml O quil.

1. ‘qausll uasiall w5’ WsHIAL Bt 2™ su1 HRAAL Sl ?

(A) Al (B) % (C) A (D) s
2. Adi—3el BNLSAL AUAL 2SR 34l el ?

(A) AHARA (B) doiaia (C) aum (D) deolin
3. ctdlu [t sui Aus Gu sdi ?

(A) s (B) i (C) Rat (D) aau
4. yedl GuR 56 g Haal wasaRlll AL Hisaall gdi ?

(A) dzilaun w2 (B) a3-lun w2 (C) il w2 (D) i~ w2
5. 2124 Us12ld Al A QAL 2Us1L dRs Si et A ?

(A) nauq (B) aqu- (C) [Qmur (B)CEIER]
6.  AHsl usld gl uR sui Gldul ?

(A) Qs Gy (B) atizuadlui (C) stu-i il (D) Hial Asiui
7. suoll vigdlal FH iRy [Bami g well 2 ?

(A) eul (B) - (C) §§ (D) 3%
8. (AR @an S1ani dion A0 Y 9l 8d ?

(A) 2 (B) ygi vzt Bl Raai  (C) 3aoiis (D) auSeian
9. UAS GURTL GHASIHL Sal 205130 Sl ?

(A) doriRa (B) agrsigla (C) wesielu (D) 21x2siclly
10.  Aw3 [aRs il 2o @did sil g[Ran sl 8 ?

(A) &ian-l (B) &asin-ll (C) daufAsi-l (D) 2o
11, uasaR2iz 2 315 o 215141 S ?

(A) u3e (B) @& (C) dlai (D) a3
12, [Qny 24 [Qe2 si-) 21ouellui ydt s ?

(A) uau-ll (B) aqu-l (C) [rau-l (D) lra-l
13,  [Qauy, Q2 244 aduq s [anaui Qi ag 4 ed ?

(A) [sunmi (B) [R-€lni (C) ABani (D) »i3® wi
14,  $.2. (s 2R2ud) 4 a2 su1 o1 0042 Wil tiid 8 ?

(A) aioidl (B) @ia (QELON (D) Mou
15.  §.A. Al i 3d) ed) ?

(A) 2yelan (B) doiaia (C) AiRA (D) [Asigusi

(18)




16.  s2140iis g1kt uAs RNz e 3uid 56 cunmi ad ed ?
(A) 3w (B) 2wudl (C) [&-2l (D) 2sd
17, ydHouL 9gL ASH WH U ?
(A) s (B) R (C) al (D) wal
18.  suwL A sdi aqul® ?
(A) w2l (B) (C) (D) al
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10
C D B C D B B A
11 12 13 14 15 16 17 18
B B A C A A C D

(19)




[wan Aye — uay Ast |

Qe : 8 2Asu: 1 [Qna : aadl sU Un : U (RA W)

(o

1.

DA uasivi el w2 qioy [@Asey e s394 2uda vu-uui O quil,

R wsed)l DA-umiadl sui s1ael adi el

(A) 2=[¢ea3a vld (B) ufalBd-l [As 2 (C) dsalBdaui aaii 2 (D) Heastd slacd [Qsa
QA-unidl 568 ouod gL asalEd , QaRalZEd 214 seunalEa- Qs wa 9.

(A) &L udl ardiduin  (B) 2A1dvuin (C) ndvin (D) a1advir

835 Ul3d [QaRdl aud 5§ cuni-l Guaiol 53 8 ?

(A) ezeum (B) 2tidddu st (C) Hud™ (D) 2is ua 1l

AAUAMA AA2d 9 ?

(A) el 2iddl Ma (B) uidid 28d vada (C) ond 2dd siaMa (D) u1R A 2dd ™A

U5/ AHA 4N A udar 2.

(A) 108 (B) 801 (C) 100 (D)101
%+ % ANS. KEY  + %
1 2 3 4 5
D A C B A

(20)




[wan Aye — uay Ast |

Qe : 8 2wsu: 2 [Qna : aadl 25U un : A o 8 R
1. [Qsainia aoeui S2c et 8 o ?
(A) ¢ (B) « (C) 10 (D) 114
2. [Qud aee- anrudl 4 gl dal [Aseu uiie 3
(A) 2usd (B) naesdl (C) 2uulx (D) ula
3. 2% aoe-l [Qgel asual.
(A) Rar (B) ala (C) Garan (D) naiel
4, %Al GHUNIHL UldlrL 2214 GURid usuid) sl el ............. 58 8. gl Avaul ... 8.
(A) Rzr-ulas, u (B) teuma, 14 (C) 2x-ulas, u (D) Hera, 3%
5. uloy %18 siy ddl [Asey vais s AB CD
(A) R (1) GolisL (A)3 142
(B) 3+ (2) Hle= (B)2 431
(C) wr:l (3) »Brdl (C)1324
(D) vlig (¥) eRuAR (D)1 212
6. ‘@ $0UrL 5L — Wel-l st sla ., 8.
(A) 2dd wss (B) Mlaxn (C) ~sirucuna (D) equdun
7. ajad H[ER vidl s’ — wielHt siea- s[A- A esudl.
(A) RRIsAa [galar  (B) e (C) uncid w24 (D) sadl
8. vl yisellawvil Aoe uRiE S3U.
(A) el (B) [¥eoll (C) Rad (D) Roudd
9. ‘A5 % ¢ AU siu- slad am ......... 8.

(A) wmgisz gol2az Mz (B) sRe: wmgisz Mz (C) swi HRim

10. U il cuni [Aseu vaie 3. ABCD
(A) ®oragollal (1) dlm (A)23 41
(B) ausn (R) vl (B)4 132
(C) seuya (3) B (C)3213
(D) (iluzs (¥) [8-¢ (D)1 423
11, - a4 gl ddl [Qseu vaie 2.
(A) 2ulecn (B) ®us2 (C) néus

12, axruel A 8l dal [Rsau urie 5.

(A) ¥ — i (B) at — 2R (C) 2d — 24l

(21)

(D) 2ula.wss

(D) 2la

(D) dis — i




Al A i dal [Qsey uaie s
(A) [¥eoll — an, (B) igal — wied- (C) Hérd — uRam (D) sRwe — 2uay
dlaoy — viedl — 3RuALAL 212 Rl

(A) Garan ad (B) 2Auzn Avdl (C) S2e91 awdl (D) sy amdl
GUMLAL AL AL E2S e, adl3 s 6.
(A) ave (B) &R (C) awsu (D) taln
% el S1UN GRAIRYL ALY B AUE A Ui $U Geurt Wy dal Ay ... 2oy 58 69
(A) 2acumsL (B) us1um (C) aim (D) 2481
2% o 22l GlALdL ARIA ... AR s8R .
(A) andlu (B) [aendla (C) Ax1iBoid (D) 2is ua 1l
DA-nuiel euuie o+ wel.
(A) 2 (B) & (C) s (D) &
ol BAREL Quid ......... A Hee Adl ug ©.
(A) 2R (B) ave (C) awsu (D) »is w1l
ydaiin A2 9 ?
(A) udaud sur (B) usdld su (C) adwind s (D) A1 C oid
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10
B D C C B A A A B B

11 12 13 14 15 16 17 18 19 20

C D D A D C A A A A

(22)




[wan Aye — uay Ast |

Qe : 8 Asu: 3 [Qna : aadl U UH : gl [Badl
—— .
DAL EI5 UL oL W2 A [Asedinil [Aseu il
1. ‘Ul [Haell’” — atalui si-ll ad-u An-d Azue 2y o,
(A) Hrdl 24 Hindl 2241 (B) Hird) 24 421917 Q3L
(C) @21t 241 ugL AL (D) ug 244 Hindl a2+
2. NeisR dlad-am ANl G ... 8.
(A) wausdd (B) 4¥3d (C) angun (D) [g3s
3. %31l UL AUAH AUATHAS ... O,
(A) 2o 2um (B) udi (C) areuzizn — 4 (D) ucuazl
4, w0y [Qsey vais s3U.
(A) adlaid ulda — 536 s (B) s¢la udd — Alsl
(C) S2ar dedls — @il w2us (D) daiH 4ivu &
5. il 2t wiell aaA) Woll Al ¢ A saladl giy ddl [R-€) e 56 6.
(A) u€ (B) siell A3 el (C) Al udcu-lau (D) s
6. Vau in 3endl’ — 3[3uaionL el il
(A) dau-l dall gidl (B) viet Qau gial (C) Vo AR (D) Brausid Vvl oan
7. %Hi....... ALHAL UHHUL AL Sl
(A) gy (B) 2uieyr (C) 2y (D) dlayz
8. ‘Qanfauld’ aoeni qar avel A ...... Y O,
(A) ex12 (B) dt (C) 313 (D) 2A01%¢
9. DAuniell 53 wad well el ?
(A) sun (B) @it (C) Ris (D) w54l
10. ol s el v ARllA yaRial ol gl ?
(A) Q31 v (B) wist w2 (C) 1l u (D) Ris ur
11, asuudl A sl dat [Qsey uie s
(A) s59 — 5612 (B) 2161 — %51 (C) sisdl — wied) (D) 2iie — g : ™

12, wiA gzl 2o uds 52U

(A) 3udl (B) vl (C) Al (D) sl
13. R w2 210 [Aseu e s

(A) [R: + 200 =R (B) R +20a =R (C)[A+2xd = «ud (D) 25 + 215 = i3
14.  usguys -l il [Aseu viie s

(A) &R vagtaal-l 215 a-uld — 210t (B) wusll ¢2au AHL Al — HAS

(23)




(C) wtiawll-i D31l euaL — 224 (D) a6 wii-l tidwfl — ueuny

s ARl s qull — cawsuHi [@ANeL 2unvual

(A) w3 (B) usdl (C) slaan (D) avll
All A 6llogt suL WA dAUHE 204 B,
(A) aavial (B) alast (C) a2 (D) aasu
sal-l weurdL gl day asud ........... CTEDRERETH]
(A) sdB (B) s¥l (C) 925 (D) eud
Aruell Wiell spH UL — sl UsR wRudl
(A) sdB (B) 51l (C) A5 (D) s
ogruell 2 BIdR WIS YoUAL — disA-l USIR %Rudl
(A) sdB (B) s¥l (C) 925 (D) ®d
28U QA A B, — ASUAL USIR VUL
(A) 5dB (B) sl (C) A5 (D) s
suL ddaiHi ezl Aledl Qe 2152411l Mi2L oA 9.
(A) el (B) o-Hnedl (C) Grnaua () REEIE]
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10

D B C D D B B B C C

11 12 13 14 15 16 17 18 19 20

D B D D B B A D B C

21

(24)




[wan Aye — uay At |

AELE wsH: 4 [Qna : awdl BsU UH 2 dd VO E9
—— .
1. 'dnd A €9, L' steull 5[ ddn tuanRR e ........ UM €9,

(A) wadl (B) awaldl (C) uudluu (3) EEIRETE
2. Al 20 ¢, HI— steul AR UsIR sUL 9.

(A) A2 (B) e+ A (C) QBN (D) a»a
3. slal s 5l Ad g w9 ?

(A) |l il g 2cuql el acuell (B) Hiel 81428 Sud R

(C) Y& el (D) 82 ou R
4,  DA-uuidl w00 [@scu s s3u.

(A) %l — oli21g 52 (B) i § Yl — sAUAAH

(C) su-il siciaus — HBieud 21 (D) vy qiou &
5. -l AEL A i dal [Qseu vaie s

(A) ®a — 1y[d (B) asll — s (C) Al — 2L (D) ueL— el
6. 10y, Ai3sR, M, Gl — 211 AGEIA AGESIAA SHUL disadl Al Ded sUL AoE B ?

(A) 2120 (B) 23512 (C) =M (D) G-
7. slaaell g2 o cud vl d sie i 9 ?

(A) 2aw (B) Hid (C) M (D) aisi
8.  DA-uuiedl 5 sld uAig: RALHA 4l ?

(A) wwregd sinys  (B) =l (C) 192 44 (D) u2zadlis
9. 83, vl ASARE ARA B AMRY — s1ed UlBdtl 21el sl w.

(A) 8-l vigumi aA1E ud 9. (B) a2+t vigumi tifld w23 8

(C) - vieuni el M1 69, (D) Gurumiell 5 uw el

10.  ARHL Mt ML 2udl 8 — [Nl 20nvndl

(A) aRul (B) M (C) ™rdl (D) 2udl
11, sl sifl usaru 23 Qenau 9 ?

(A) e (B) Rl (C) uwu- (D) usigl-
12, Gruoudl AU Sal — ACEANE HI2 WS AGE AL

(A) & (B) sl (C) 24l (D) usial

13, Saun viel 56 o flau 4 2uddl e ?

(A) yd i1 G2 (B) GnR ud slaw (C) sl 21 ulan (D) ulray 214 Gur
14. s all’ 2ied s2dl il an

(A) 1R (B) ¥ (C) 3¢ (D) so

(25)




15.

16.

17.

18.

19.

20.

aHrell 4 Sl dal [Riseusnan

(A) zusna (B) 1™ (C) a2
5901 61 Adl ¢ galaar w2 DA-uuigd sai Geou auud 9.
(A) g1 (B) 132 (C) v

AL — AU AHvAl

(A) AHe s (B) Muacuas (C) lacuas
Hldtdl uHAl—A 2wl s aldd we slq ....... A6e WU 8.
(A) 1usu (B) s+ (C) el
a2ty ¢ 1i Mdui 5[ sid el ol ¢ ?

(A) wsiam (B) -t 2104 (C) %-udten

Q31 AeeHl ALl Ase vl

(D) s

(D) 243 >

(D) caldaaias

(D) erseudll

(D) =l Wacun

(A) sul (B) a-Hun (C) de-u (D) u=uu
<+ % ANS. KEY &+ %
1 2 3 4 5 6 7 8 9 10
D C A D D B B B
11 12 13 14 15 16 17 18 19 20
A A A B D C B C B C

(26)




[wan Aye — uay Ast |

Qe : 8 Asu: 5 [Qna : aadl s UH 2 s Hausid

1. %Al ALUAL AU A%RAA WIRHAIR ..., ed .

(A) a2 (B) »meas (C) asisx (D) ®uasor
2. UdlR w82 si-l 2ydlni audd 9 ?

(A) ARER 24 (B) 21l (C) swasurRicw (D) HiRRR® 21
3. AR UL 2031 21 Glen HollA 54 ... U 9,

(A) 10 (B) = (C) 1u (D) a¢
4, AR 6llopL suL A 2NHAH] 2414 8 ?

(A) vas [ (B) M-l (C) s x4 (D) acuell g
5. %A AU [AAAAML A8 UM ....... 8.

(A) uer vea ™a  (B) uwy Mad (C) sacud vea mad (D) [gasusd ued ma-
6. EAUIUL UAAAL HI2H HUNBUA — AGE AHS HI2 215 ACGE UL

(A) 20y (B) dlewia (C) sizisidl (D) 81 el
7. AlBd WAl 515 DA dd O 3 ] Al dwid W2 avdi 04 ... $8 69,

(A) Reinians (B) Hza 33522 (C) 2251y (D) sicisle:
8.  ewsk -l am-udl ave ovual,

(A) Busik (B) Gz (C) Ax1iBuoid (D) 2is ua 1l
9. [Qatraeun ollon sun Ul 20l 204 © ?

(A) due usu (B) dis ueu (C) awu usu (D) &R ueu
10. R yRdl — 3RuuitHL 2

(A) uge 34 ud dua qlg (B) 251 »uual

(C) sLui¢L sl (D) axus
11, usuudl 208 4 iy ddi [Aseu vaie s:i

(A) e — [Qarucu(B) usii—™an (C) vigiaad —2lsa@t (D) #HAY — s
12. v wisellauni [Aseu vais s3l.

(A) Fiesa (B) A¥en (C) 2»lRdca (D) ¢lRuwi
13.  [@xeuedl ase 4 Siu ddl [Qseu wrie s3U.

(A) 535 x 559 (B) Guz x 13 (C) wxa x R (D) slka x awEa
14. bR & s2dl AseHi asAAE 8 ?

(A) 2e¢ (B) 30 (C) 3= (D) 3%
15,  Dauniel §5 ucad 4 Siy ddl A AGE YUE 2

(A) dailas (B) wixglas (C) Alas (D) 2malls

<+ % ANS. KEY <+ %
2 3 4 5 6 7 8 9 10 | 11 | 12 | 13| 14 | 15
B C B D B B B D D B|A| A B | D

(27)




[wan Aye — uay Ast |

ara: 8 su: 6 R : Aol sur -un : gl WwRdL
1. gl oL slAdL use gl ... siadasHiedl Garmi 2uded
(A) aend 211 diwR (B) and g (C) aa--l an (D) 2wl
2. 4@a wra slAdmi 0d 1L Aos su1 2121l uAUL O ?
(A) e — alcas wan 54 (B) ariula-l a2
(C) uut — Amadl MY @a- x1¢ (D) a0, 24 s1a x12d
3. 241 sl 5[Q Gaauull 615 sid a9 ?
(A) S2azn (B) 2usan (C) 2+l tirgn (D) 222 6isA
4, ogolaul Al g[R2 Alell yaualr a 59 © ?
(A) el i) (B) w2l [Sau ald
(C) 1 — Wt a4l uu ael (D) Y
5. wielHL,usy, wRd, yedl, — i AGEIA AESIAAL sHHL Olsadl Al 9ed sul A6E 2d ?
(A) wiel-u (B) usu (C) wra (D) yedl
6.  DA-umiel 2l izl ave ude 521
(A) usla (B) usdl (C) 18 (D) umu
7. 2L WLl AR d3as Fal ) — uwilBd ue-) vinv 20y,
(A) dsu (B) Ad-un (C) Bulagiwa (D) 2is ua 1l
8. U2 H3AU Al 318l B — BUHL w511 21 BELSQAMT GUNAU Al
(A) ¥ (B) uda (C) 24l (D) 38l
9. 2A6€ g1 ML AL AURAIR AASRA ... 588,
(A) G s (B) assicisi (C) naidsi (D) 815w il
10.  udsRA A ....... A 6,
(A) ®uR (B) 2ueua (C) xer (D) waun
11.  usced........ AL dd-ll Sl
(A) Alisa (B) dlruz (C) sua-2R (D) asisxl
12, axrudl A giu dai [Asey vais s3u.
(A) WRa — v (B) 8d — g (C) A — s1u2 (D) i — e
13, 2uusll Higeun eudl 56 arumiell Gadl uddl € ?
(A) ¥l (B) awseau-ll (C) R4 (D) aizsd
14. & windl wira 6 dl agl — 20 WlBd siL 9 ?
(A) GHigis: oMl (B) g™ (C) s (D) «¥g
15. it A2 ugL qull’ — 240 WlBdnl cucned saiadi [Asey uais sui 6 ?
(A) £35 WAl AN i & (B) Adi™ avt-uRl Herd yull i 9.
(C) cin vcuedl 3R stagl i & (D) 2is uw 1l
16. &M, an, Agl, RAsiel, — 21 A6EIA AGE S $HUL sl ALl HEd....... A6v 2199,
(A) ani (B) 2 (C) s1aw (D) s
%+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 {11 (12|13 |14 | 15| 16
A A C A D B | A B B | A|C|D|B|B|C

(28)




[wan Aye — uay At |

Qe : 8 wsu: 7 [Qna : aadl BSH U : 2AMHSA 2L
1. [Qan ga .......... AL AYL el
(A) Ura (B) wew (C) AN (D) ;iwie
2. ozl A s2el quuri edl ?
(A) R0 (B) Ru (C) 3u (D) ¥o
3. oazud ddl daq W sy © ?
(A) [anga (B) e (C) %= (D) suiga
4, s -l au-uel aee geual.
(A) Ric (B) 831 (C) 2ut3 (D) Her
5. UL UR UH AMAIR — ACEAHS HI2 WS AGE UAE 3
(A) yeu 2dis (B) uiacna (C) axlAns (D) dxuu
6. AARAIR dRAL AAHL B — AASIR Blinvial
(A) asti1wa (B) Gua (C) 3us (D) 2i-uil3q
7. M52 WUsAMI FHaaell — AoeAUS W2 218 2A6E VUL,
(A) -mcusl (B) sicuell (C) umeush (D) 518 il
8. e w2 lA-uuidl sul aoe aul 8.
(A) 2wy (B) &gl (C) eflaust (D) sisiR
9. ‘s qdl’ — 3éluaiol Hi2Hl Aoy 242 YRdE 531
(A) guudl aai (B) W gud (C) [RRid adl (D) dawn
10.  d a6s W2 dd ol sUL A6E Ayl ?
(A) 2o (B) éa (C) Rany (D) siSual +dl
11, DaA-unidl sdad giu dai [Asey vaie 2.
(A) 2Ais3L uisan (B) @™ swia ol (C) ad vzl €521 glal (D) A d-l sl A
12, 2AMSA F2A3A — U25HL AL 121296 A3 sul 2N W22 WY B,
(A) dwdl-i (B) wunadiaiel (C) s5u2u5d (D) asaudl
13. i)l Gyl Aian 2020l 3ui — AEAHS W2 25 A6E UL
(A) R (B) A (C) dis (D) 324
14. a3 qrir-l 2ig: Av Al Gu duicdl 8di ?
(A) divigtudtux  (B) dit-l 4dld uR (C) Al-t-it udL U2 (D) aigli udt u
15.  Quui vt-uey si-l {lAd- iy gq ?
(A) axn (B) »2132u (C) sadl un (D) awsl
16. - yusun vldl Gy — w1512 Binvial
(A) arizuwn (B) Geusn (C) 3us (D) Gua
%+ % ANS. KEY &+ %
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13| 14 | 15
B D B C C B B C B D B| B | B, | C|C

(29)




[wan Aye — uay Ast |

Qe : 8 Asu: § [Qna : aadl SH U : U BriE
—— .
DR i e W2 Qiod [@Asey uaie s394 e viruul O Quil,
1. At gL aAAL A ... 58 9.

(A) Hula (B) aisolla (C) aglolla (D) 2u-ig0d
2. dR wsed Rre3u 2uul.

(A) R (B) wadll adg (C) Gur (D) slaw
3. ARAA A — AsE - 218l wul.

(A) €L was (B) @l afldieikl  (C)eid (D) 2is ual =l
4, wudl ol Ba A%Ad- HiL adAHL 5 aAL s & ?

(A) d=a i (B) ol arsu (C) 1 usu () ERRIE
5. A dl A2 dlal W A ... WlEaui 21adl aoe- 218 eual.

(A) 8l (B) wwll (C) aidl (D) oua
6.  [Qeudl — 20& w2l wioy [Asey vaie 53l

(A) [az + ol (B) [Qen + 2oL (C) [Qen + 2l (D) amm
7. AL ALE 4 81U ddl [Aseu e 2.

(A) ngda (B) ugHi (C) uks (D) vt URq,
8.  eing W2l ux-uedl 2o sui 9.

(A) alras (B) us2 (C) aust (D) axux
9.  swn R oflofl sul Ave v ?

(A) sua (B) (C) usR (D) yRa
10. A5 BU-E AUl e si1aL 3

(A) 2usiani sl Guaal 9. (B) H8H1 puqdl-L 9

(C) arue dell ol 8. (D) azaue ud 280 9.

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 9 10
B C A C D C A A A

(30)




[wan Aye — uay Ast |

Qe : 8 Asu: 9 [Qna : aadl BsU UH 2 AN HRUR
DR i e W2 Qiod [@Asey uaie s394 e viruul O Quil,
1. claa sisellon e Raia 2R 131 247 dul aetiui wRad- a R dq ... 58 6.

(A) ax (B) 2isu (C) ila (D) ud-un
2. a2 AR iy dal [Aseu vris s

(A) 24 + 2=y (B) au + oMd (C) u+ »id (D) Ga + =enn
3. aiéld RRma sid — 3RuaiatAlL 212 2uul.

(A) 23t wiRLs sial (B) aiesiell Hd A wasiad

(C) 2 205 avi iy (D) axn
4, Hgigvilrt U1 UM ad-ll gdi ?

(A) A%y (B) wewl (C) gala (D) aidlan
5. $91 Hey 5l dld ay ?

(A) udl sl (B) aqar awtad] (C) 3ell oscudll (D) 2is2ud acuel
6. »drie Henelld il .................. [B13e 20 8d.

(A) el W (B) usisi suns (C) vis2 (D) si$ -l
7. femn -

(A) [4 +an (B) [a +an (C) [ + x10lm (D) e + 20
8. s Ase Y ............... A 8.

(A) Geus (B) [R=ueu (C) Aoy (D) nud
9.  HsievirHl dW 8 i ?

(A) wellus (B) wiradu (C) 2udeu cua- (D) 518 umL ).
10. i -l axudl 20 duil.,

(A) vigot (B) aisH (C) aiAdl (D) 82
11, R s — glan sdl ........... 8.

(A) Sugin aedl (B) »dz3ie Hengll (C) =rrueua (D) dlawnall ke
12, AL dda1R su1L WAl Graun 8 ?

(A) A= (B) s (C) dumt (D) 2ua
13, AREYAH suL HRAHL 21 D ?

(A) s12d5 (B) um (C) 21ue (D) 2u2
14.  sgigvunH aidl sedl 25ul el ?

(A) s 82 (B) 4 82 (C) Ax gxR (D) e g2
15.  as3 — dnusl 23y gl dal [@seu yais s2u.

(A) gvuag (B) -meal (C) s34 (D) su-ll

%+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15

C C C B Al A|A C B B|B|D|B|C

(31)




[wan Aye — uay Ast |

Qe : 8 Asu: 10 [Qna : aadl sH U : 0 2

o DA usin gast # 41y [sey e sAA 20l vi-ml O quil.

1. Al 2 Sl Avts ... 8.

(A) 2l ugani-ie (B) 2l ulRagl-ie (C) 2l auudle (D) saudua
2. 2 v ws AuisHl 59 slaniel dami sucal 9.

(A) duiRL @Al (B) 2L r@al (C) aasiugl (D) a1
3. sy aAnaardl 29 A Sl Bl — A6E A HI2 WS AGE AL

(A) 2[Re91n (B) [R:ys (C) waruala (D) udlld
4. Avis 24l il 32 2uell udl ?

(A) i 54 (B) @Ha (C) ®dradolar vidlear (D) aasiuel wdlea
5. AuisA 2 59 v ?

(A) s (B) strcusu (C) aisiendl arui (D) dwdi
6. sl silBeu 3ell s 53, —d SR 2iNvQL

(A) asciwn (B) idaum (C) aridwa (D) 518 um <1l
7. A3 214l UrL 5U12 U sl ?

(A) ol [2ad (B) i Hi ugdl (C) swRu ndl (D) Axcus usdl
8. -l aurudl ase yvual.

(A) e (B) »euun (C) aun (D) 2anein
9.  [Baase-i@Q3gel aoe ooudl.

(A) 218 (B) 2110y (C) vicuara (D) 2tumin
10, 20uell ML e 6.

(A) ioudil (B) 2wsudl (C) n1dl (D) (82l

<+ % ANS. KEY &+ %
1 2 3 4 5 6 7 8 9 10
B B D B C B A D

(32)




Qe :

——
——T—

1.

6 sH: 1

[wan Aye — uay Ast |

[Qwa : =

sud WA : Ty Rt (ferars)

Mt AT & J1E Iy fe &t et & w2

(A) sTes (B) Tia# (C) sreaaTer (D) s=R
2. SrTerH Feee A =&t <@ ?

(A) s (B) =it (C) 3= (D) fet
3. Uy - UuEll & = I FATHEA € 2

(A) 5= (B) faeer (C) =ira= (D) ferg
4., T Uy ufaEn & ufa s W =nfey 2

(A) = (B) gomsmar (C) s (D) wetreAn
5. Tt Te T 1 el ol of 2

(A) gta & (B) e & (C)de & (D) 3= &
6. FFITT HEl Tgar o7 ?

(A) arem= 37 (B) =t & (C) drem & (D) sfret &
7. T ught FyT S g & 2

(A) =g (B) == (C) s (D) v
8. FBY BT TS AT AT ?

(A) strerHt (B) =t (C) st (D) femm
Q. HISAT HET T ?

(A) @ (B) st@m (C) == (D) st
10. et @l o 2

(A) st (B) =AY (C) =ram= (D) g=
11, =T T IS FAF I FT T g 2

(A) 5@ (B) =fewa (C) wmm (D) e
12. T g J g &A1 7140 ?

(A) faar= & (B) =®faar & (C) st & (D) sty &
13. <=et = T e 2

(A) @& (B) == (C) =) (D) w
14. = A feaqr =T o1 ?

(A) =rga (B) forereget & (C) =i (D) o s =
15. g U A 1 T ?

(A) == (B) 3= (C) =™ (D) ==s

%+ % ANS. KEY &+ %
2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15
D C D B A B C A C D/ C|A | C|D

(33)




Qe :

——
——T—

1.

2.

10.

11.

12.

13.

14.

15.

6 wsH: 2

[wan Aye — uay Ast |
[Qwa : =

U N : Th S, Th AR

= i

T ¥ fow vreg 7 31ef A BT ® 2

(A) 7= (B) === (C) =

T FoIeh! S fehdeh! el € ?

(A) =9 - H= (B)gw - g@ (C) = - a1
ekt S fvgs g A sar g 2

(A) afe=ar (B) =irfa (C) wHar
TART T 9T EHT A1feT ?

(A) gerT (B) s=m (C) wfess
TART 9 T ¥ ?

(A) wssran (B) gazar (C) ket
gff’ wreg 1 1 FaTsy |

(A) streET= (B) s (C) 7=

feg 1 Uy wF AT R ?

(A) =T (B) srrerafan (C) ssforet
TP A 1T T T aman Sar g ?

(A) oiform (B) sTeafarm™ (C) uxar==
o TSI AL SHATET § | | & e shirar foed § 2
(A) goifers (B) steufer™ (C) wxrar=h
IYATH, TIAT AT Y& s | i 97 Faed amar SR 2
(A) gysaT=S (B) faerfesiees (C) 3wy saawn
SATYHT ATH FT 8’ ATHAN 1T |71 T a2

(A) sreafa (B) goifer= (C) #rsw
€ TIeCHT Taci| vIsC FT @ ?

(A) === (B) =& (C) ==
TIEE HT A ITHATAT T8 fa@r

(A) e (B) sta=r (C) we=e
T’ STeaehT GHHTT T ¥ ...,

(A) = (B) gfr=m (C) e

T Y HIT 9T g & S TR’ & gaEef a8 w2

(A) 5T (B) fa=a (C) & (=)

<+ % ANS. KEY <+ %

"

(D) ==
(D) s - i
(D) @

(D) ufe=

(D) =

(D) &

(D) s/

(D) <t fareT
(D) <t fare
(D) sreaform

(D) e fores
(D) Sfe

(D) s

(D) B

(D) =m=

()
w
N
ol

6 7 8 9 10

B D A D B B A B C

(34)




[wan Aye — uay Ast |

ke : 6 Asu: 3 Ruy : = U U : THEER T
1. T B AT 2
(A) 7= (B) = (C) =irs (D) fafgan
2. foreg %l &g 1T o1 ?
(A) sre 7 (B) soices & (C) afex & (D) srama |
3. T U 9q@ 6T A9 8 T 999 T ¥ AT $1 gg=41Y |
(A) = (B) = (C) = (D) 7=
4, T 39 | & 9T el It TS ?
(A) arers® (B) =<t & (C) = (D) w=a
5. | fod =M™ ?
(A) =T = (B) =it #1 (C) fo=g =1 (D) ===t =t
6. Ta=ga =8 =1 =T 9T ?
(A) 7og (B) @ma (C) == (D) &
7. IEYAT HEAT JETE HT1 37 Ty 2
(A) == T <& (B) =teT AT (C) ==t B n (D) stra=m @t
8. @A TegehT gaHETedt v faeEr 1
(A) =T (B) #farer (C) we= (D) w=fa
Q. T, A<, fo=g, , Far T S Ie & e faEr T
(A) Tz (B) sifsram (C) =t (D) st=ha
10.  fo=enr #=0 4= 2
(A) Tt (B) gfem (C) St (D) ===t
11. fa=ga fyas! omd SAgAT L &l ?
(A) far =Y (B) fa= =1 (C) 7= =t (D) = =Y
12, =2 fo=g =1 =1 99g T8 ?
(A) waTer (B) sr&TT (C) ater (D) str=T
13. =R fo=g &t =7 g <t ?
(A) FET TR (B) = (C) strarst (D) g=m
14, =% ARAT fa=zh1 1 941 ?
(A) =@ (B) @ (C) arar (D) str=r
15. S Te€ 991 & WM W Y7 B €, SU 97 $hed € ?
(A) s (B) @= (C) fasismor (D) wfagaras
16. o JfeH™ ASHT § T 39T AT FT § ?
(A) gfemm (B) wrs= ©) < (D) &
17. =m+s=..........
(A) = (B)= (C) = (D)=
18. &g’ A WyhdTER I AT ® ?
(A) =iz (B) <= C) = (D) =i
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 (11|12 13|14 15|16 |17 | 18
A B D B C C A D | A C | DDA/ B|A|/D A C




Y AYe — UAH AA

Qi|L: 6 AsH : & vy : = Asuyd un : et 2 200
1. go' Teg A T Y fo@q v 2

(A) wtse (B) ©re (C) = (D) warsw
2. I Y Tk T fad 2

(A) &= (B) ¢= (C) w= (D) «r
3. a1 A foEn '=read’ |

(A) =¥ (B) w¥ (C) = (D) =¥
4, 3TUs’ Y 1% A fad |

(A) ¥R (B) &= (C) w3 (D) ¢3
5. faras' =t o1 7 fa@ |

(A) &3 (B) w3 (C) w3 (D) ¢3
6. w¥' & vy fed |

(A) <o (B) =wr= (C) =ws (D) |
7. ¢R' I IH fad |

(A) A=arsit (B) =ramsit (C) 3=t (D) f=ms
8. qferar STegeRT TSI Teg faw |

(A) VMXLS] (B) SF\;SM (C) BF8§,M (D) VM8,M
9. IUAT T TSt 37 faed |

(A) p56J] (B) p5Z (C) KF6)\ (D) VFWFZ
10. a1 IeEeHT TR 19 faw |

(A) S\WM (B) SF\;SM (C) S\R}SF (D) SFU/
11. == vege! et o1 faw 1

(A) B,F; (B) B\T (C) BEM (D) B,
12, wg, ©R, ©3, ©¥ & T M &I 9&AT fae |

(A) w2 (B) w¥ (C) ws (D) w2
13, %%, %R, e, fop FTA® 378 @ 9 91 ST TET ® |

(A) =¥ (B) =& (C) =2 (D) ==
14. &2, &R, &3, .o, T FId ™ 378 @ 617 91 3T TR |

(A) w4 (B) =¥ (C) == (D) e
15.  ’R & HIE T @I @ ?

(A) e (B) = (C) goo (D) 202
16. =R SregeRT faaim wsg fa@ |

(A) == (B) somar (C) =r&a (D) st
17. ' rscept gamHTedt S fa@ |

(A) T (B) =it (C) = (D) 1=

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 |11 12|13 |14 |15|16| 17
C B A A D B A | C B | DI ID/IC/A|C A|C

(36)




QR : 6 wWsH: B [Qwa : =

—
“-—_-==

1.

2.

10.

11.

12.

13.

14.

15.

Y AYe — UAH AA

25U N : ST B e

TN A I Tepfae do Tel § ?
(A) 5 (B) ==

el ST 4T 1T © ?

(A) =8 #m &1 (B) Hre a0

g T FT HTH & ?

(A) Tt & (B) =t

YIS T T B T ?

(A) & g (B) &=y &

AT T HT GHAETEAT Tee AEY B T T fAw |

(A) 70 (B) ==

(A) sitr (B) &t
qeh ST B Y AT LT € ?

(C) == (D) wreft

(C) it 2 (D) s

(C) =g & (D) =ierr &
(C) Tt 2 (D) =1=3 %™
(C) =gn (D) 3=

(C) =3 (D) ==

(C) wewifera (D) &t

(C) Herer= (D) W

(C) 18 = %Y =ew (D) WHT =feT

(A) T=T STt (B) == @R
ST A A HHE % T g7 =1 e 918y ?
(A) Tt =TT (B) ga=1 =few
forarel' 31eg &1 9= Uiadq fasfi |
(A) ferarsit (B) feram=
@l T g9 giaaT T |

(A) o= (B) wem

U 8©H ..o, war e |

(A) =rerar (B) T

el HT T fasismar ¥ 2

(A) == =& (B) g =
STETeTehT Taed 41 @ ?

(A) X (B) =

g T guTEl e faw |

(A) gfa (B) @m=

(C) fram (D) ®ar
(C) ==t (D) vt
(C) Ferra (D) rera
(C) g w& (D) Starr &
€)= (D) +

(C) T (D) s

<+ % ANS. KEY <+ %

N
w
o
ol

6

7

8 9 10 |11 | 12 | 13 | 14 | 15

A

C

A | C| B A D A|D|B

(37)




Y AYe — UAH AA

aRa: 6 Wsu: 6 R : Rl WU UK : GEE

— S
R ——— — e

1. TR SATicTehT ohT ST ATH T ?

(A) T (B) e (C) wem (D) Wi
2. S gIE S3H Fohashl 9hTE A I ® ?

(A) TRt (B) =t =Y (C) | =1 (D) mifa =Y
3. IIMET & B qTE BT AH FTE ?

(A) g (B) (C) At (D) et
4. AR A GEE A i 74T 2

(A) ==t (B) =raT (C) ¥ (D) Tz
5. I 9 el § 7 T 2

(A) Terearet gw@w (B) s a0 @ (C) wssitwet & (D) g &
6. W g & fag w=n g 2

(A) fa=pre (B) faets (C) Stwt (D) =g
7. TR Saraa! 1 fReeh! Sia &1 |RR JdaraT ?

(A) 378 I IS &1 (B) 4@ =t (C) g@ =1 (D) &) ot S =1
8. arare! & e fopaen) quiea o T ST e 9 2

(A) fafsmor =t (B) Traor =t (C) =ttt =1 (D) woehui i
9. TIHT 3T TET-TRT o "I T ST & oA ?

(A) ver@ (B) T (C) wa=feat (D) wirreret
10.  Tmmn A foRd HeeeT fear 2

(A) g = (B) g # (C) g = (D) v =
11. &t s =49 39 PPPPPPPPP & st smar 7=t s+ 1 )

(A) s 7 (B) ®m & (C) wara & (D) sw=r &
12. Yzmm e oft St S St @ g 2

(A) fSrerfeet oir uftsm @ (B)g@ &

C)zm & (D) ga=t
13. TSt &1 a7 8w e fae |

(AVESMIESIS (B) faefir=ar (C) T (D) ster get

14, =0T TS W1 kT T AR ?
(A) s=m & fag (B) 73 & faq (C)wrg 23 & faw (D) Tadt &
15. S=ft' sregohT a9 ufiacd SIS |

(A) =t (B) w=frat (C) =fer=n (D) m=frent
16. o= A ¥ faooor +1 gga [T IHER 9o ¥ 1

(A) == (B) awrer (C) wroft (D) &
17. 492 ®df SaH =ifey ?

(A) Tt sed (B) s & (C)=7n (D) #fex v

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 | 9 | 10 (1112|1314 15|16 17
A C B bl A C A |B|C| B | DIA/DA|C|BA

(38)




Y AYe — UAH AA

Qe : 6 Asw: 7 [na : R AsHg UH : A AT
1. Thel, el I AT § ?

(A) T (B) wsstraTett (C) =f (D) ==t
2. a1 FRTHhT I FaT B ?

(A) T =1 (B) Afe=n, s =1 (C) gt =1 (D) ¥R =1
3. @Al 1 W=l 8, 719 Il §, 9gd] €, 99! g Idl ¥ B 2

(A) 79 (B) wdr=r (C) =z (D) 7
4, it ¥ S T @ 3R Hh] W SEET & 98 BT & ?

(A) waa (B) @=m (C) weg= (D) &=
5. U Aoeh & T, |19 A L h1H, o1 w1 TET L o) i ?

(A) 9= (B) =1 (C) =t (D) st
6. et Tig ST, Fft vaaT, At T, ToHhT ATH S 8 ?

(A) o= (B) m (C) == (D) faam
7. € T ISHL W TEHT HIAT 8, TeTd il T Hadt I § ?

(A) st (B) w== (C) wam (D) Tafga
8. Hel AT Wostl T ATH Sd8Y : & 3T 7 ST T

(A) =@ (B) we=n (C) s (D) sm=
9. ST_L T T AT AT || FosiIehT AT 1Sy |

(A) s1aT= (B) 1 (C) fae=ht (D) Fem
10. wom AT AT 1 T A | geSil A1 A hT AT SR T

(A) 5@ (B) shem (C) s (D) #eh
11. ST 94 ¥ faeft | et &1 91 SaEg |

(A) TRt (B) =g (C) s (D) &=
12. T fHaar =T U=l @ 9 9 |7 S 91 Faea @ 2

(A) ST (B) faerarfesies (C) weed (D) geffarm
13.  oTg @ W' 39 9 |} S 9T faed o 2

(A) sTeafar™ (B) guifaa™ (C) o= faga (D) dw= fa=d
14, faoor faEy : 98 | e gl @

(A) 7=t (B) et (C) urt (D)=
15. 9NR A U & o g 1 fasisor fawEn |

(A) & (B) s (C) e (D) ==

<+ % ANS. KEY &+ %
2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15
B D C B C D D B A c/B | C|B|D

(39)




Y AYe — UAH AA

ke : 6 Asu: § Ruy : = 25U U : T o R
1. U ST i 3 ?

(A) TSt O (B) T (C) frum (D) faurEt
2. fFU™ & T A Th & AT = AT ?

(A) guu & o1 (B) == =T o (C) @ s& W & @1 (D) 7=t o
3. T 9 FT SR fHAE 3 = W an 2

(A) =3 =1 (B) s1at St (C) = =1 (D) T =1
4, TraTS w1g g 7 I ST ?

(A) T (B) = (C) T=m (D) sw=T Ut
5. T 9 o 9T & AT R %er 2

(A) T (B) T (C) fpam (D) faurdm
6. TS fewam U= 9 7 ST o1 399 F=&91 3T A ?

(A) ™ (B) =T (C) =eprg (D) =it
7. T AR Hidl fohaeny T 2

(A) T =t (B) feauret =t (C) 7= =1 (G)ERciRical
8. foRE™A AT Y BT W 1 qTeAT * 2

(A) = # (B) =r & C)wsa # (D) T=rRIS |
9. faamera ' A AgFIERK P T ?

(A) g += (B)yz+= C= += (D)= +=
10. T8 ¥ 9 @q 7 ITEIT T ¥ ?

(A) e (B) ==t (C) &= (D) feme
11. 399 ¥ S wde T 8 LHT B § 2

(A) TTm (B) ™ (C) =marat (D) mrstw
12. oitE goAr s &7 o7 94y 1

(A) @&t =@ &1 IF 8FT (B) sitE @it

(C) it =11 (D) ==
13. fwam, @4, e, waA, I - a7 g e W |

(A) e (B) st (C) = (D) ==
14, o Sgaed Wk efeq - 'Afgerd g R @ R o

(A) Afead (B) g=m (C) == (D) =
15. =& %1 g9 ufeda s |

(A) = (B) =fe=f (C) 7y (D) 7fex
16. TR T TASHT T .ovvneeen, o T T 91 - oA faw

(A) (B) & fag (C) fs& (D) zufag
17. 391 99 &# ...ee. R J Frepter feam = T

(A) =R (B) & fag (C) fs=m (D) zufag

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 | 9|10 (1112|1314 15|16 17
A | C B C B|D|C | D | B|DJAIAB/A|B|C|D

(40)




Qe : 7 wWsH: 1

[wan Aye — uay Ast |

Ay : = U uH : e & @ - E (Rerae)

——
——T—

—=li

1. TR WA 1 9T foht =S 9T 12T Ut ?

"

(A) wsfrar (B) frsftar (C) st (D) =t
2. TR H AT HIHT = ®e Ahell & ?
(A) w=stt (B) w1 (C) T (D) =
3. sl Y= It S T FI7 FET a7 8 2
(A) ST (B) wdETet (C) sifa= (D) safa
4. S[A shIT TIfeTsT hial § ?
(A) TR (B) =R (C) ==t (D) =152
5. WATNE AT RTATE ...
(A) forars (B) zr (C) fag=t (D) serar
6. TR TET H HA IW IS ?
(A) o7 =ar 9l o1 | (B) 399 =T w1 A1 |
(C) sun ga1 & ot (D) 3uq 1w w1 o7 |
7. TR N HeT ?
(A) T T (B) <ite &1 E @ H | |
(C) sumeT BaT WA ¥ (D) weer @ ® |
8. ‘A’ faram 7 faw g a1 wEETE B fawm 7 7 1 ey T fawem A4 @ wEl fawew 9
(A) (B)
(1) gdor (1) =¥
(2) =1 (2) =it
(3) TaTfe (3) =frem
(4) g (4) S
(5) fa=amw (5) wwma
(A)3,4,2,1,5 (B)5,2,3 1,4 (©)3,4,2,51 (D)5,2,3,1,4
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8
B C A C B D C

(41)




[wan Aye — uay Ast |

Qe : 7 Asu: 2 [Qna : =l BsU U : TR A GRS R T
1. TUCT, |/H, .ooenrnnne , oY, Ty, T T 7 9l 3 W |
(A) ==t (B) fem (C) 7= (D) Tt
2. Tafedt Teit & a %o T 2
(A) I g9 8° W (B) @o® 81 W (C) == =1 (D) wa & Wit g
3. B A o9 I A AT FI T § ?
(A) S sfeeT St ® (B) = =<1 5aT Tt @
(C) = o et © (D) st =t Foreperar @
4, it E™ G- TF W T @ 2
(A) 3T W (B) w3t w (C) gfr=n w (D) et
5. TAR 99 3R T ¥ 1T A&l 9 AT § ?
(A) sSi-z<t 7o (B) &~ gu (C) Tom (D) g
6. geiid ¥ e fohd T Aq9a €1 8 ?
(A) sst =1 (B) et = (C) sama = (D) @& =
7. THT T TEE HL ST SATHA I(6% T GAFTA 7 B |
(A) T (B) == (C) = (D) =

8. T & AEL 3T I@HT g FHEHT A1 oAt 7 2

(A)smr - faar =t (B) =m=an - ==t &1 (C) 571 & fagser &1(D) o118 - s &1
9. T &1 AqAs § ?

(A) srafEeT g (B) g=mEt get v (C) faa gt & (D) i g1 o
10. UHT w5 TNE X ST SHIET REE HT AT BT

(A) =gt (B) =ifa= (C) == (D) sfsta

<+ % ANS. KEY <+ %
1 2 3 4 5 6 I 8 10
D B A C A C D C A B

©

(42)




[wan Aye — uay Ast |
Qe : 7 2wsu: 3 Ruy : = U U : F B THER

— .
"i-.—_== ——--.L_—":-"

1. ST T@T T a1 qeTal 7 31 7 2

(A) srga wrerT (B) 39X - I=R T@AT
(C) wr = q= (D) fomm 9= w=3 1 HEAT
2. IR T T SY3T R F471 7 94T © ?
(A) 9= (B) gt C) =3 (D) e
3. IHIER FHA HT GATH TR & g0 TS & S § Ta T 8 2
(A) Srar (B) Tagx (C) grmarmet (D) wrerTge
4 FASIT 3T FHA B .. o G A7 ?
(A) Samet @ (B) €=t & (C) vt & (D) woer’t &
5. A S F SATIR T I AT— ST BT 1T I hLdl 97 ?
(A) st (B) =amart (C) = war (D) wetaa
6. AT ¢ THE HL ST ISR T T afad= 2
(A) s (B) s= (C) s=THT (D) s
7. Y I7eC &l UG HL S Afhaaras AT 7 & ?
(A) =St (B) fexrer= (C) =< (D) w=
8. Fd BT SATAT AR ATM @R ATET F F =T 6 /a0 T 30 ... e &l | o @mm & fag
el Teg THE A |
(A) S&IT (B) s (C) sit@ (D) =t
9. TSR &1 AT BT (& F1 TSI ?
(A) sarer |reT T o | (B) 39 =13 TSt oY o |
(C) 39 =amur 7 ST THET TSI AT | (D) 38 gHa ST o1 |
10. ¥ F HA H HH B ST HAND ...,
(A) ==ife =T sTga siedar 4T | (B) =11 9L ST o7 |
(C) =31 =1 IHIERT W 7 T | (D) = T 9 & FL |
11. safswdaraes |1 &1 T8 97 |
(A) =<, WifTeh, wdia (B) B, foeer, sT==mash
(C) =, =T, 9 (D) wra, smadieT, arfesdr
12. <m@ET Y Hd W 9= SHT A13T T YR fRar, amar &1 S AT B a6 e
(A) T = AR < | (B) =1 - wHSTRL ATST I |
(C) =1 =1 g | &1 7 < | (D) =x =l sgeh | AR 2 @T |

<+ % ANS. KEY <+ %
5 6 7 8 10 11 12
A B C A D C A C C D B

'_\
N
w
o
©

(43)




Y AYe — UAH AA

Qe : 7 Asu: 4 [Qwa : =l s N : T IR T
1. ST & ol AT GHAAT 8 ?

(A) gafram (B) 3= =1 9T (C) gf& =1 W= (D) i = |\ =
2. o A fa@r AT R,

(A) s FsEr T | (B) e w1 # | (C) guum &1 71 ® | (D) @A HAT ® |
3. ST ST SATESN I STYATT AT, IAHT oovveeeeeee, =BT T&T BT |

(A) stT=ITeT (B) sfre= (C) wa= (D) ufamr
4. 3T T AT BT HS .o, ¥ darr 7 |

(A) ==t (B) 2w (C) on (D) ==
5. FE A e, FY AW HW ®, I8 SO AT |

(A) =1t (B) =1=a1$ (C) wga (D) szr$
6. T g e faE T ™ ..o,

(A) s1oT 1 fRdT off 78 & *eT =rfer | (B) 3101 %@ 999 98 gHT1 A1f8¢ |

(C) s1 &8 &M TTad 87 ¥ &1 AT =Arfee 1(D) 39 g8 &1 & fermeAT =fey |
7. S HT A5 IS el ¢ ?

(A) fSa=t 9 o737 =1 | (B) St 37=8 HUS dgAdT =l |

(C) st sig - oI Heal | &1 & | (D) fSr&eht oAt 3R AT 99 2 |
8. A & AT ST & ™' Farad &1 e ¥ 2

(A) =1 =t TaferEt s=ET | (B) Seu < BT |

(C) o= 7 & Tt faesteT | (D) = gAT®HT =T BT |
9. e Sie & fau sfaa faseas 94 1

A B

1. forema e 1. (A)2,4,5,1,3

2. qof forem 2. - (B)3,5,1,2,4

3. srafauy 3. ! (©)1,23,4,5

4. < e 4. 2 (D) 4,5,2,1,3

5. gy fasd ST
10.  HoAT SR HET A STA FT TAAT @ ...

(A) SrET F'AT 99T € FHET | (B) seT =Y faw T |

(C) & AT 99T =G T | (D) % «ft 7€t *ET |
11. wA NS HATE - 39 96A T T 9 faum fag= &1 v g 2

(A)? (B)! (€)1 D),
12. =9 e U - T AehEd o= 9 o faea &1 g € 2

(A)? (B)! (C) D),
13.  oaTas WAT HT WEl SAME B oo

(GVICER (B) == (C) =frs (D) 3=

<+ % ANS. KEY <+ %

2 3 4 5 6 7 8 9 10 11 | 12

D C A C A C D B B C C A

(44)




Y AYe — UAH AA

QiR|L: 7 Asu: 5 vy : = 2sud U : =T T S Frardt
1. Tafaaar 7 Twar &7 ...
(A) T = > o=@ 7 | (B) &9k 21 T T AT R |
C)emIFT I T ¢ | (D)saR I =T =M 2 |
2. eft gt wH 9uE 7, FAF .
(A) STHT ST T TH T | (B) 3% UOR & TS TH 99 ¥ |
(C)3TH AR T ¥ | (D) 37T TT T © |
3. STAT — T HEll i Toh ATAT TheehT Ui & ?
(A) fafa= @i =1 1 (B) s =1 fafaredar 3 wehdr 1 |
(C) wra & fafs=1 wedt 1 | (D) fafs=1 Era= =1 |
4, g ¥ A, 99t .., o Th 7 | ST veg AR Rebd T *61 g HINT
(A) =TT (B) s (C) T (D) =afs=
5. el Y JATAT H ..o, ST ® ? Sfad veg gAae fa e &) gif i )
(A) 1ot (B) fudram (C) e (D) e
6. TR IS HI ATATS Y "o Fed 8, A1 IdIe FY AT Y HAT HA ?
(A) = (B) ¥ (C) = (D) =
7. fo< 2o & FramEl wfaar § HEHET T8 &1 Soore T 7 2
(A) Tm (B) = (C) 7tar (D) et
8. fogwm A T 9 el AT RA R 2
(A) fafe (B) = C) & (D) ==
9. fou T o=t A | HE W1 IR TR W HT AT A9 ® 2
(A) vt (B) ws= (C) T (D) W
10. g 7 s fSEHT ... T TH 2 |
(A) T (B) =rem (C) wr (D) =
11. feu 7o osst 7 | @ 971 v e’ wre 1 e ves © 2
(A) = (B) == (C) w= (D) srran

% 4+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10 11

A C B D C A C B D C D

(45)

= i




Y AYe — UAH AA

QiR : 7 2Asu: 6 (Awa : = 25U U : S, FrerT ARt

—
B ——

1.

10.

11.

= i

e aTer fawT & 9IR | afasgamoit &1 o ?
(A) = faasre (B) e iS4k
(C) =TSt (D) =t sfae

(A) SE™E * fagm & gfa sfa ST« 2 )

(B) s gfeht =T A &9 WY |

(C) fam warst 9ad i §¥gd STgAgEE H & |

(D) 9% wRa & Wo« "= A5 o |

a1 & 19 3o 9 A SEHL JATclh TR b 79 H FAT 7987 g3 ?

(A) 3§ uxfl v ug & faat | (B) 391 A9 ot @ R U ¢ |
(C) =t +f1 fyar =1 o= foae | (D) faar & =9 Wk 1 9 7 AW |
1. Tasha aTE A eSS A Theel oIS Rud THifgasH =1 srariyreT & w31t ..
(A) =2t *ug =1 Tl |ieHT o |

(B) wu=t A | A/ aET fHera 9 |

(C) =€t =p1 THell A L8 - E & *HUg oM o |

(D) T=1 & ISR &1 qohA Ioh! AT T g Th1eAT o7 |

TaerT GTOATE T HIGT BT ATH =T 4T ?

(A) wrEmRaT (B) gaetETs (C) famaraat (D) smErest

ATk TIh™ T Hieh SN ohl ST T <dT o7 ?

(A) stig. (B) st (C) s (D) 171

Toem IR ¥ ST WEHET TR SIqaa™ s figa .l &1 SuIfy grfas &1 ?

(A) X - RAY (B) #ifeqs fpdi (C) a1 fepwdr (D) sregramide R

1. o=, 2. sg@am, 3. sraita, 4. 3urfy, 5, seEvHe-IeEHINT & %A hl =E § W@ O el
HH BT § ?

(A)1,3,5,2, 4 (B)1,2,3,4,5 (C)3,2,5,4,1 (D)3,4,2,1,5
T2 veg 1 WEl 9ga=A €1 98 I oA |

(A) e (B) == (C) 7fex (D) et
SAfTIaTaS WS T Ll ST R e,

(A) == (B) =1z (C) & (D) =¥

Y. TaerT GR™E T gAT T ATH T 4T ?
(A) afet (B) swafat (C) garit (D) gonfa=t

(46)




12.

13.

14.

2. foemm | 1 AT QR e or 2

(A) == =R (B) wEngsor (C) st (D) =& e
TFE & Tgs IRm ¥ 9Ra A EER, [T F 99T O $ o one S d R w v ?
(A) St Y s (B) €. stsga wam (C) €. faws ar (D) €t "t

2t fard aReTE & JarEd STeueEre 3 fasasT Siadl e &1 oA g ?

(A) sF=a= SRS giaT (B) ew fasma e

(C) <irerfam &= (D) vy St WX

<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10

B A B D A B B C D D

11 12 13 14

D B C C

(47)




——
“-.—_-==

1.

2.

Y AYe — UAH AA

EL TR AsH: 7 vy : el sy N : A T RN | (TRfer)
THT B o1 ST R UL B 1 UL HIA AT b1 HAT Hal ST © ?
(A) sTmER (B) gerER (C) sam@ER (D) stem@ER
el 1 Ut TRl el Sirar @ 2
(A) stETa (B) gw= (C) == (D) fsrsrett
SRUTE I 9T & ?
(A) TR (B) wie® (C) ==r (D) =%
€ TeC A ST SR e T AHAETAT T X |
(A) =9 (B) T (C) srafar (D) ==

10.

11.

12.

'TF TR H U AR, AR HT HE FHAT | S THSH @i I, Fe 8 I IS 11 S §E U

(A) wrerereft (B) Sra (C) wfera (D) e
ST T 1T 3T 2T H 8 ?

(A) sA9E= (B) erafia (C) ur=t (D) ==
ST B FE v, S At R ?

(A) =t (B) € (C) 5 (D) Srameta
9 Gt Ta@ 7 Idt §, HAMD ..,

(A) Ta & A& e R |

(B) gaT A ST € A IGH! AT TAFUN A SIS ST T |

(C) @=ht T & =dT Y BT |

(D) sir s & AR WET FH T |

Tl Y & ShraTer 3, o - R freerdt wE S B T 2

(A) o= (B) go=rdt (C) A=t (D) fasr=ft
IR FT F9 IR F FT, I FT 3 A FqET | PTAER W FHIE A7 F, I & HMH T AT |
A RATFTSTWE v,

(A) g (B) gram (C) sa=ta (D) FrrerEr
TETS ¥ W Yol &l ;

TEAT ¥ W Ul TE |

AATL, ST GTY TET | T YR BT IW @ v,

(A) z=2 (B) ==m (C) st (D) st
A TG HT G Tga=T 9 |

(A) == (B) ==t (C) =it (D) =1

<+ % ANS. KEY <+ %

1 2 3 4 S) 6 7 8 9 10 11 12

B C D C C C A B C B B A

(48)




Y AYe — UAH AA

QiR|L: 7 Asu: § vy : = 25U N : e I6TH

g, e gl

-~ -

1. el FoRQ X1 AT @ 2

(A) THeE (B) 3= (C) sy (D) e
2. ToraehT T gu S|t AT =1eT 2

(A) ferarT 1 (B) &t =1 (C) wrg =1 (D) =T =1
3. TS &1 R 9 T JATCAT ?

(A) St (B) st (C) =zm (D) g
4. Y9 T G T e B WA R TR 2

(A) qerehera (B) @ I (C) wsfie 3 (D) g ¥
5. AT & IJUR 39 WOR T &y o &d § ?

(A) B - W2 (B) %1t - iR (C) siif - wiffa & (D) itfa - difa &
6. TS oo AN Y 79T Ui $8 @ H H Fhed © ?

(A) wiest s % fag | (B) 378 wug w1 & faQ |

(C) zodt %Y weaar & faw | (D) T&d &1 femm & fag |
7. TSI B Ug B IR A FHR FA AN W o777 L @ ?

(A) gg=ha w7 (B) =19 =7 A (C) g = =t (D) =8
8. WSl &Y 91 § uifad 1t A1 T HE F FEA Q2

(A) 30T TheT BT HLAT (B) 378 F1eT =T AT

(C) =1 =t 30T T HEAT (D) 574 $sai €l
9. St H1F ¥ g/ F AT § T4 W T ?

(A) =2 grm (B) weepT G (C) ¥= =1 = (D) =tat |

10. qodErEst X fea-faae w3 & fou feasr seewr fear @ 2
(A) Ta =X Tt (B) @t =R ggrmm  (C) 7Y IR A9 (D) urY TR @1
11. S 'arpEl’ & ISR ¥ T HAT GESHET A ¢ ?

(A) B T2 8 @ =Tfey | (B) &% [ 9gd @M1 ATfeY |

(C) &7 sr=at =i @Y =&Y =1feq | (D) =7 sumeT wTer™ 981 AT A8 |
12. foua' e 9T & BT ¥ UHR $T € ST B ?

(A) "agaT=es g™ (B) g&sET=® WA

(C) wetaTarss walA™ (D) fre=agar=ss weAH

<+ % ANS. KEY <+ %

1 2 3 4 S) 6 7 8 9 10 11 12

D C C B C C A C C C D C

(49)




[wan Aye — uay At |

Qe : 8 Asu: 1 [Qna : =l Asud un : T 2
1 T OgRET A L FI oSl ¥ e ¥ ?

(A) = (B) e (C) afam (D) 5
2. Hfa arear & 7 a1 a9 99 W T T ... ™ |

(A) == (B) ger (C) 7=r (D) =
3. $ooC TR TATET 1 HT% L T € Fh] € ........

(A) zom wifas © 1 (B) sr=1 7@ (gAq) ® |

(C) wdwrferanm & | (D) &R TATE HI AU TETR WA AT ® |
4 B EET BT ..., ¥ IR R 9101 ey 7 )

(A) fema (B) feem (C) Az (D) wewa
5 TET IR @, W ........ T TSl el ¥ |

(A) fpera (B) smra (C) 5= (D) zrera
6 T Taagd ... TEAT |

(A) w=r (B) em (C) 7w (D) s
7 QAR A .

(A) == (B) = (C) = (D) =&
8. TH d1hd A o ST arehradre A e ¥ |

(A) == (B) = (C) o (D) ==

<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10

D C B D B A C D

(50)




[wan Aye — uay Ast |

QiR : 8 WsH: 2 vy : R U UH : STE
1. o & R g AN F 1T o I o T
(A) e (B) feaeft (C) &t (D)
2. e STHIAT T 9T 97 |
(A) e (B) weae (C) =i (D) 3@
3. B T AT ..., T HEAT T |
(A) = (B) s (C) = (D) =it
4, STHET Y T AT T ¥ |
(A) e (B) ar=d= (C) = (D) =rwtate
5. I 1 fhe wret s 2
(A)zm 3 (B) =T 7 (C) 7oz 3 (D) sv=fa
6. T @t ®1g e Afe 3w 2
(A) =it (B) =& (C) zommd (D) =arg
7. g BT THIST GG 1 SUTE T 4T © ?
(A) $=m= (B) Sev=m (C) $e=R (D) sem=
8. $eIME WIS B A@H HT AT FT ¥ ?
(A) F== (B) =wifeper uR@ (C) s& == (D) wigmortae
9. T *1 T 1T 6, < & U .. TR
(A) wcfre (B) #=t2 (C) =fwer (D) firerr
10.  feo =iRr' gereRk 1 o1k F4r Bar 7 |
(A) 7T ST (B) fe=1 s ST (C) siga g@ = (D) =fera & s
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 9 10
A C B B C C D A C

(51)




[wan Aye — uay Ast |
Qe : 8 Asu: 3 Ruy : = 2sU UM : AR & odt ghar Raferamm

—
B ——

—=li

1. qIqq AT AaiaraE ¥ |

(A) fag =mt (B) srea=m =rae (C) gfan fafe= (D) wa=t wmt
2 et e &7 ... STAREEET o7 |
(A) st (B) zferan (C) $rs (D) wta
3 FHIATA T FF Ura A T 2
(A) osttar & (B) s®= wm=m (C) sfamma (D) urear
4 gfrar fasaew & @ ..., a1
(A) s (B) Srepex (C) orhex (D) =amurt
5. AT TR hedqT Fraer SHT % RS dgg e o1 ?
(A) e et & (B) st 7o @ (C) aw= sis & (D) s sie= &
6 AT ST qIEar &1 A o7 |
(A) e (B) @ (C) fo== (D) =rran
7. ARAEE &) geelt afgan stafeansh s of 2
(A) gfmar fafaa (B) gt <maen (C) $f=u = (D) s Sare
8. ALY AR 72T e ¥ FYa gt W feoa g 2
(A) 360 fewst (B)260 fersft (C) 405 fet (D) 160 fe=t
9. AT Tia TERE & fha Sy A 7 2
(A) SR (B) seweEe (C) sver (D) #rewmn
10. < 91 visg STaRe &1 gEETHt T ¥ 2
(A) srreprar (B) == (C) srarman (D) et

<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10

D A C B B A B A D D

(52)




[wan Aye — uay Ast |

QiR : 8 WsH: 4 vy : R B$H N : TS,ERT b SR WG
1 ST T T P YT H . AT ¥ |

(A) s7r (B) wresh (C) st (D) ferzr
2. = & 9yq TRy &1 T2 i w9 2

(A) samr =1 (B) wu=Y w1 C)am= (D) fwes =1
3. T U S Ug fohEehT STERT &1 ?

(A) T =1 (B) =13 = (C) st =1 (D) it st
4. Ston fepd QST & 719 A BT ® ?

(A) st = (B) =reft & (C)sgau = (D) st &
5. T forue & o Rt § 2

(A) argafa & (B) vt 7R & C)sm= (D) wufa &
6 TG & ARAM ...... STATRT TR SITET |

(A) ge=t (B) et (C) fame (D) feasn
7 AT qIEHA ... ¥ Tfed 9T - SEE R |

(A) ferzon (B) st (C) === (D) wu=t

<+ % ANS. KEY <+ %

4

5

6

10

D

B

D

(53)




[wan Aye — uay Ast |

Qi|L: 8 Asu: 5 Qv : = AU UN : T AT B T HATT b
1. Y AT T UHT HHET HHT T AR AT GATS |

(A) =n=ft (B) ui=rst (C) ==t (D) wrast
2 TR ] HI TAESAT T .......... | aelies ¥ |

(A) === (B) = (C) == (D) =
3. Bl A & IR |- I 9ARd T fashdd <91 99 S |

(A) 2025 (B) 2030 (©)2020 (D) 2035
4, €1 ™ kI I=d T AUST A9 &7 ..., Tg

(A) s (B) wer=tt (C) =it (D) urswmremsit
5. SATST AT & qEY o 5l A B - W 2 T W T L, J e

(A) wr S (B) fawm S= (C) e S= (D) stgam S+
6. TR e ¥ 2020 96 9ART Y fawhdia U s mehT gEaad ..., ot Ut B

(A) =rer=m (B) == (C) wmm= (D) =t
7. URSH ... &1 = ot fas 2020 1 e 1= o1 7

(A) T (B) e (C) uifa (D) ferer
8 T8 HE ... &Y B W |

(A) = (B) & (C) == (D) ==&

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 9 10

B D C A C D B

(54)




[ust Aye — uay Aot |
ara: 8 su: 6 R : Rl sur] AN : TR (T )

(A) forsreft (B) €= (C) €n (D) =1f=
2 B7ehT 1 AT |

(A) mewrT (B) st (C) ==t (D) nad
3 gt qufea &1 919 F=1 97 ?

(A) gorar (B) =z (C) srgan (D) w=ht
4 Teftl ®zaq & faar 1 99 ... a7 |

(A) fazarfa= (B) ==t (C) s (D) =
5. ST =T qFTEaT= 168 1 |1 8 |

(A) T& (B) srram= (C) == (D) =
6. HdedT ffa 991 T STt o1 |

(A) =wa=it (B) =g==ht (C) gwareht (D) gda=tht
7. TG & T AT AT AT ?

(A) s1atrsia (B) smgarstar (C) =1fsa (DEEIGHF
8. ECHT B ... T @ &I 947 |

(A) fagzma= (B) =3 =T sr==m (C) &= (D) a=
9 A T JTET 6T A ..., a7 |

(A) wem (B) =regae (C) feurefient (D) srafar
10. TeRae freet gt o |

(A) gfrar (B) starfaest (C) a=remr (D) fafe=m

(55)




[wan Aye — uay Ast |

: Asu: 8§ [Qua : = WsU U : W | FE Th FE
TaH 9= o 999 BT A9 ......... o
(A) adam (B) =i (C) fae=nd (D) wfeser
el v &1 e L 2t 2
(A) sft (B) =t (C) ufieht (D) wm=
T | % Th HeMT Hfadr &1 It ... HRTI
(A) ware (B) foam (C) wftrare (D) e
wfa FocfRre & ......... 1 Iurelt et of )
(A) weTfa (B) wre=fa (C) srs=fa (D) =wfaxst
Taearel 3 forw uafl =7 & =Y 2
(A) FER (B) wrr= (C) == (D) ==
TSRAR faeamed a0 3 & fag eR- IR B ........ ¥ = T |
(A) == (B) forc=r (C) == (D) =iz
gk W AFH DI AR, =AM fagwr ... T T
(A) & (B) (C) zan (D) s
FHEdr & AR T ..., g A A ® 9
(A) =1 (B) == (C) = (D) 2
FIT ST AT ® ?
(A) araaTen (B) s=maTen (C) s=maTen (D) samaTen
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 10

C D A B C A C

(56)




[wan Aye — uay Ast |

Qe : 8 Asu: 9 Ruy : = U U : THAT
1 T g &t gfgdr &1 A ... I
(A) w=m (B) &war (C) mmam (D) ==
2. T JFET % W 9E % A1 AL foha daeh A & ?
(A) dt= (B) am= (C) wm (D) ==
3. Toaar g0 <t 1§ Reara 1 7HAT 7 F=41 HET ?
(A) =ast (B) == (C) o= (D) stet
4. Il FHUA W IFHOT T qHAT HT ... el |
(A) =T (B) == (C) et (D) =eeirefy
5. TEAT § ST ATHATAT I I &7 |
(A) &g (B) s (C) s (D) st
6. Toar fohe g 1 g AT = Tedt o |
(A) srewor =17f =1 (B) stfasfreaierr (C) fegas=t (D) araert =t
7. AT wet fou T8 of ?
(A) T & (B) Tt & (C) msm & (D) srer &
8. THAT FY VAT B HL QT AT ?
(A) sE=t H=ehTT (B) sfiamt Afgae (C) witar &Y et (D) Tt =
9. QT e B fraa ot a1 Tar Y 99 g8 2
(A) srarefa (B) =@t (C) darefra (D) @arefe
10. TSI AGR & fRrarerE A fehweht A1 78 o7 |
(A) =@ = (B) S=me =1 C) g = (D) s1es =1
<+ % ANS. KEY <+ %
1 2 3 4 5 6 10
C D A B A

(57)




[wan Aye — uay Ast |

aRRL: 6 WAsH: 1 Quy : T BsU UN : T
1.  oooed Alnddau?

(A) uHIcL (B) s (C) WM A% (D) ollon taew
2. AT yaMi waH 2disul sidl arge sami 2udl 9 ?

(A) a3ea (B) tsmu (C) lawy (D) sis2-ll
3. e AN2d 9 ?

(A) uieL $2a (B) usi24 25 (C) usin $2aR (D) lawy
4. gHEqueH A Tk ?

(A) aist st (B) aiél siscusu (C) aibl yeau (D) aist
5. et i [Ague si-i i avdd 8 ?

(A) 2wuld (B) 252 (C) lawy (D) egwu
6.  woar -uslgwu?

(A) uda (B) sHau (C) uxur (D) @t
7.  wRar -lowRldl »1e g a ?

(A) uadl Hia (B) asdl (C) Al (D) wddl
8. % A OTEIHATO ?

(A) T (B) w2y (C) ekt 2=t (D) = 2fa

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8
A A B C A B A A

(58)




[wan Aye — uay Ast |

QiR : 6 2wsH: 1 Qny : G s U : Feemafy 1w 4
1. o w2d 9 ?
(A) s (B) 243l (C) as (D) s2u
2. A Al gy ?
(A) a2 (B) 21ési (C) e (D) °ua
3. 3L A AgdHl g sdaw ?
(A) we: (B) =re: (C) =iz (D) €iu:
4. HugH: Aed 9 ?
(A) Hiss (B) waR (C) 2351 (D) sl
5.  ScdiSient Al we g Ay ?
(A) 2a& (B) vall (C) suxis (D) uda
6. AT e el TR 2
(A) 213 (B) aa (C) ad (D) s&
7. IMETHT 2@ 9 ?
(A) e2 (B) adl (C) 3u (D) 21
8. i)’ WAL g AoE UL ?
(A) =fae (B) =fer=rant (C) wosha (D) ==
9. e wed 9 ?
(A) us2 (B) us2 (C) 2ug (D) 2udl
10.  wfase Al aradl 2 aldl.
(A) alda (B) qaua (C) e1a=$ (D) glaw
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 9 10
A A B C A C B C




[wan Aye — uay Ast |

aRRL: 6 WsH: 2 Quy : T B4 U : ST Tafa T
1. Tk opA Tra@fa ?
(A) == (B) T (C) a& (D) 1=
2. 2512 U3 B 1 A g L5y AL,
(A) streprer: gwfa 1 (B) sArekeTst gafa (C) strewrer: w@fa 1 (D) strewr=n: =i |
3. gmer' sy ?
(A) [Ris (B) Rrun (C) nud (D) anet
4,  wreem Alwed gy ?
(A) nud (B) Rrun (C) usdl (D) aat
5. o edy?
(A) olld (B) Bt (C) s34 (D) &
6. AU @atd 394 6 ?
(A) suis (B) 32 (C) [Budain (D) einas
<+ % ANS. KEY <+ %
1 2 3 4 5 6
A B B A C A

(60)




[wan Aye — uay Ast |

aRRL: 6 WsH: 4 Quy : T U U : TS
1. TART ved seai A ?
(A) AR (B) Ale (C) aidla (D) aifla
2. 89 (§) A A 2isUL ... Ad ealeny ?
(A) 4 (B) = C) 3 (D) =
3 AR RN P-1C I AU
(A) tu (B) eu (C) sl ar sa (D) na
4, THED A 25U v RN
(A) =R (B) 22 (C) %o (D) =
5. U8, AEAHL cvvvverenennne RN
(A) =7 (B) wwrew (C) o1 (D) 5,
6. B ved sealay ?
(A) o (B) tuR (C) A (D) =
<+ % ANS. KEY <+ %
1 2 3 4 5 6
A D A B C A

(61)




[wan Aye — uay Ast |

aRRL: 6 AN : B RNy : @& VsU U : TR T T
1. il dgd A6 ... A ?

(A) st (B) ==ht (C) == (D) ==
2. wellleid8?

(A) 81l g 50 gL €9, (B) eIl 24 s0u 3l .

(C) el 3¢ G &, (D) &) 2 A1l B,
3. TS 3 fehgem i 2

(A) sToSTRI (B) =paf=re (C) wefarehre (D) Saterey
4, TeaT Ged Y ?

(A) ¥sss (B) wd (C) usil (D) usaid
5. DA-uuid sui wuelld a2 Qo 24 Wi 9 ?

(A) Tt (B) =zreren: (C) == (D) s

<+ % ANS. KEY <+ %
1 2 3 4 5

B A A A A

(62)




[wan Aye — uay Ast |

aRRL: 6 AU : 6 Quy : T U UH : TG TR
1. T’ veeE e fE 2
(A) 284 (B) vif 524 (C) ar (D) asa
2 <S5 I 110 S Y ?
(A) »nadlsid (B) 2u% (C) wrulzax (D) 254
3. claugind aid sdi gia Al g sty ?
(A) = (B) srer (©) &= (D) =
4, ASHIA USAR Sell. — VAL ASUA ARG ASA AL
(A) &= g | (B) == geama: |1 (C) o= geaw: | (D) = rara |
5. scul3uidl uan Ak su1 9 ?
(A) SreTH: (B) daama: (C) =iframaT: (D) s=amH:
6. TEaraT -l uHi-iel ase gvual.
(A) IwaTEz: (B) geeafama: (C) Feemors: (D) goams:
<+ % ANS. KEY <+ %
1 2 3 4 5 6
C B A A A B

(63)




[wan Aye — uay Ast |

aQReL: 6 WsH: 7 Quy : @& AsH U : TR
1. uea A 8, — 2L disusd Agd s LA,
(A) ora: @efd | (B) wura: uzafa | (C) yorar: faqufa | (D) vura: Tresfa |
2. Teean arawTer = fa@fa | v asunl [Buie s o ?
(A) o= (B) faafa (C) fe=an (D) wrashTer
3. o |
(A) T=: (B) wm (C) == (D) s
4,  faufa w9 il
(A) 4 9. (B) 35 99. (C) usd 8. (D) oid 8.
5. Alenarll (Bur w2 sul Agd woe quAU D ?
(A) weafa (B) farafa (C) gonfa (D) ==fa
6. fafer: fax gwafd | 20 Qususl AHue 53 69 ?
(A) o= (B) fafex: (C) wzafa (D) w=fa=
<+ % ANS. KEY <+ %
1 2 3 4 5 6
A B B B C B

(64)




[wan Aye — uay Ast |

ke : 6 Asu: § Qv : Tega U UN : TR G,
1. T tvveeen. FIEA N
(A) = (B) T2 (C) TR (D) X
2. aege’ wenl Awudl 2 g wa ?
(A) Qluni (B) asai (C) xion (D) dlowst
3. =i el e Al
(A) vusi (B) tiviidt (C) %aa (D) a2
4,  Iult e [aRid) aoe aial.
(A) =1=: (B) sfe: (C) &1 (D) &+
5.  hTeh: TOUER HIETET 1= farafa | Iwi(Ed aoe-l 19 il
(A) sviiaddl Gu (B) sivtid-) »ig2 (C) vrviia- 1A (D) srviic-l wiewnn
6. hrehe TR ALl Siql AdASH) Al scuni udl O ?
(A) AllAs-l (B) 2131+ (C) -l (D) awsurAl
7 fog: o gufd | AT .. F4fd |
(A) TR (B) e (C) et (D) @t
%+ % ANS. KEY  + %
1 2 3 4 5 6 7

D B B A B B C

(65)




[wan Aye — uay At |

aRRL: 6 AU : 9 Quy : @& WU UH : TR

—
B ——

1. ST T2 AfE’ vled 9 ?
(A) 2u 82 9, (B) »u alzun 8. (C) 2uasts. (D) 21 4n. 8.
2. alun- el sieid Agdui 8 s ?
(A) sea=t (B) == (C) Srefg=ht (D) =fe=t
3. TEgE ved o ?
(A) w2l sial (B) -u-il siai (C) alzmn (D) alzunl a3
4, e AoseHl A Al
(A) aru (B) acusd (C) viiad (D) 2ud
5. FHATEAH, A A5 PSHL oo A,
(A) § 00 (B) 3 : oo (C) \9 :o00 (D) Yoo
6. aldounni saldd AU Agd AoeHl 54 Ad eaidl asw ?
(A) TRraTETH
(B) weprE=TaTETq,
(C) sre=ramaETH,

(D) e
7. alSunui caldd AuUA Agd 2isui 54 Ad quuy ?
(A) 2 = o0
(B)R : oo
(C) R : 00
(D) 23 : o0
8. T & wHY <Riafa ?
(A) FrareT,
(G RECILEL
(C) wwameT
(D) =gateTs,
9. T2 & 9HA TIAfq ?
(A)R : oo
(B) & : oo
(C)z: oo
(D) 2 : oo

<+ % ANS.KEY <+ %
1 2 3 4 5 6 7 8
B C B A C B C

©

(66)




[wan Aye — uay Ast |

AW : 7 Asu: 1 Quy : @& BsU UN : T
1. 56 el AR AHISIR SAAUHL vl 89 ?

(A) ud wel2ini @Qenzd 84l el (B) gacuel3 vl s

(C) udA wa-udl el (D) ud wallatia 2sia-udl el

sla siA s s sadl w53 9 ?

(A) el gaidq (B) wnicri-l gaidd  (C) el sl (D) a-ziuf-l edlA
Qlan-l o 9 53 69 ?

(A) A 2Ry 200 8 (B) AR ad2ud e  (C) v 539 (D) 22t eyl&-ti -t 53 8
HouA Gllddl 5191 53 € ?
(A) g staq (B) slllamgy ¢orau--l gu (C) 2l [awgy ¢oren-t (D) uiey BuAIR $2-UR Al
widtouA wsis Avioiai aldd sia 2ud 8 ?
(A) Allawg eraql su (B) #lgua Ba aldisar
(C) ud alsdsun e (D) add seuat s2-uR [dzaludl
<+ % ANS. KEY <+ %
1 2 3 4 5
A C C B A

(67)




[wan Aye — uay Ast |

arRL: 7 WAsH: 1 Quy : T s un : e ¢ @ 2
1. udg: aserl i a9,
(A) 2218 (B) uda (C) 2ynanse (D) durdde
2. O = eeeeereneennne
(A) viall (B) edl (C) i (D) udat
3. ‘MY AGE WIS U AGE AUAY B,
(A) Terei (B) wferet (C) srra (D) et
4, BrasidlA dagaui g sean ?
(A) Tasfor: (B) germfaent (C) =t (D) =aferr
5. wga vedgAue?
(A) 2eui (B) uvil (C) oudl (D) siusi
6.  cunsidHa w2 Az ......... :
(A) st (B) =% (C) g (D) =
7. TR ved g ?
(A) sl (B) Hisusa (C) dal (D) wial
%+ % ANS. KEY  + %
1 2 3 4 5 7
B C A B D A

(68)




[wan Aye — uay Ast |

areL: 7 WsH: 2 Qv : g s Un : Ve Tl

1.

HioTeR: AoeHl Agd axrudl aoe ...

(A) gfem: (B) =refrare:
Qg q el sieL viaL Y 9 ?

(A) %o (B) gem:
Tafa' woenl QA s .......... ST
(A) staRiefa (B) emrestfa
Acde A 8.’ AoeHl (Burue Aoe Al
(A) wasfa (B) =it

T TIES ST’ dlsUHl 2AAlE Al
(A) vigd via 2 8.

(C) Zsfiaa: (D) =it
(C) sre: (D) ==

(C) srFra (D) waref
(C) Rw=fa (D) geafa

(B) d tingA as o 9.

(C) auru G 8. (D) a ugAi-L il 2 6.
<+ % ANS. KEY &+ %
1 2 3 4 5
C A D

(69)




e AY2e — UAH AL |

iRz 7 »su: 3 Ry : Tega 25Uy U : FSTF,
1. od AR MY SARA .., PRETON
(A) feaa®, (B) T, (C) =q=, (D) =iex=,
2. &l T aIafq ?
(A) =: T2 (B) ¥=1 1=, C)Fr =2 (D) =is T,
3 L A arefa |
(A) =9, (B) T== (C) dfrefsy (D) &7
4, Frrae aoenl [AR1d) aoe i 6.
(A) stfea (B) =1ty (C) wfea, (D) wfsre
<+ % ANS. KEY <+ %
1 2 3 4

C D A B

(70)




[wan Aye — uay Ast |

qiRL: 7 s : 4 vy : Tga s UN : TR
1. e uoe-l adudl ase 9.
(A) wem (B) sy (C) w=gf: (D) wrelepm
2. Ol S0’ -l g AvE WA
(A) iR (B) spaefirer (C) smorerae (D) stmaser,
3. < wsenl QA ave i .
(A) stmmH, (B) Tom: (C) s, (D) smurem
4, A HUITE I TR - ASYLSA A D ?
(A) foregss: (B) faefrr =i (C) ure=: (D) verm:=R:
5. VI ED AbeA AgdAHL U S8 ?
(A) Tam=prsm (B) =awry (C) wftrrasy (D) safors:
<+ % ANS. KEY <+ %
1 2 3 4 5
C A B C B

(71)




[wan Aye — uay Ast |

arRL: 7 WAsH: B Quy : @& BSH N : T | = |

— .
"i-.—_== ——--.L_—":-"

1. fa= aoedl Qi ase 39 ?

(A) srferer (B) st (C) T (D) wo=:
2. gdl-i dagd aoe WA O,

(A) g=ToS: (B) wemos; (C) srems;: (D) gersm
3. =Teeh: T @refa ?

(A) werft (B) <ot (C) wle=®: (D) wrsR®,
4. =<k | Framfa 2

(A) T (B) 7= (C) s (D) 7=
5. = AR fus 1 uil3d 2ee- 22 Aoy AsE Qvil.

(A) w7 (B) = (C) z=m (D) wfradrer

<+ % ANS. KEY <+ %
1 2 3 4 5

D C A C

(72)




[wan Aye — uay Ast |

arRL: 7 wsH: 6 Quy : T U U : T
1. orseThrerg aeedl AyRudl e 52U ?
(A) 2u3-{la (B) t-lla (C) »is-lla (D) «r-llat
2. 3 "l vis Agd AsEHL Qv ?
(A) wrfafa (B) wrafersifar (C) sifereifi : (D) srsforsifan
3. TR A6e A HisHl qvun ?
(A) % (B) (C) wo (D) ¥2
4,  Tmew: wed wdldl Avan [Qdva 58t ?
(A) greee™ (B) wr=afazm (C) ureresr (D) grere=it
5. 23 -l s Agd uledor Avatauus wvsul Qe ?
(A) e (B) e : (C) sehesf (D) srafere
6. Terere A=for a1 ?
(A) arer (B) & (C) shfor (D) wFm
<+ % ANS. KEY « + %
1 2 3 4 5
A C C D B

(73)




[wan Aye — uay Ast |

Qe : 7 AsH: 7 [Ny : da s U : FsEm ¢ Aar e ¢
1. ‘Ml Fd’ A8 AYAHL ... PRETUR IR
(A) s1gefa (B) srf=safa (C) faewfa (D) =tufifad
2. STSIT A T=afa ?
(A) e (B) =fe: (C) = (D) ==
3. ST : h&A STERY HRIT ?
(A) wre =g - (B) zpmrere= (C) fazw (D) s
4. eI HTE ST, 3o ?
(A) e19TeH (B) fergy (C) fas (D) st
5. o= AT T 3€ 9 & Tqid !
(A) st (B) Tz (C) sremg : (D) =z
6. 8 JAa-d - SIHMH T 3¢ I & : d&fd ¢
(A) st (B) =rres - (C) srsfergy (D) =mg=s :
7. TRIRIHE ST FooAT h: HEATT ?
(A) e (B) emgs (C) = (D) stsm
8. TSIt & ggfa ?
(A) T (B) zrmrerm (C) ferrm (D) sraftfa
9. STSIT A 9t ?
(A) == (B) &= (C) Tisa (D) 7&
10. 318 A : 9HIT A0 T 3€ 99T & Iaid ¢
(A) ststt (B) s (C) gt (D) fas
11. == faox a7 fa=ag 7 s€ a9 & aefa ?
(A) o1 (B) it (C) Trg=s: (D) fa=
12. fa=amE A9 Fdeq : 1's€ 99 & 9 ¢
(A) zrmat (B) stsm (C) fus (D) fry -
%+ % ANS. KEY <+ %
1 2 3 4 5 6 7 9 10
C D A D D C D A C
11 12
B B

(74)




[wan Aye — uay Ast |

Qe : 7 wAsH: § (v : g BsU UN : TR
1. e ved o ?

(A) 1131 (B) uigu (C) uau (D) 25y Al
2. urem aoe-l Audl »ied w.

(A) ual (B) uigu (C) w3t (D) wi3u il
3. UL’ AOEA UAHL ... PRETONES

(A) wrd (B) wrd= (C) sreg (D) wurg

4, T HiqaTe TRATHERIT ?

(A) wure=Egaie (B) urei= =rqater (C) wuregTEeTET (D) @t greETeA
5. A SR B Y ?

(A) vard 9re ssaTeA (B) o wute sieae (C) wra wre grEaren (D) werd wressae
6. fesTgor wiqaeET™ seH ?

(A) sEFawETEA (B) wurg greEe = (C) wrEseare ], (D) drem wweIeH,
7. T T A ?

(A) §re gzTaTE (B) wureeTTEEA (C) wrd e (D) urer <zrame
8. AT el v aud ?

(A) qa2 (B) s1uid (OERE (D) 1A
9. ¥y UHUA AUl s,

(A) dreH=gaieT™ (B) wure=gaicTq (C) wrdagardas (D) sgateT™,

<+ % ANS. KEY <+ %
4 5 6 I 8 9
A B D A D C B

=
N
w

(75)




[wan Aye — uay Ast |

arRL: 7 AU : 9 Quy : T sUA UN : AT TEAT
1. TOT: KA T !

(A) o (B) TR (C) == (D) T
2. e T gwafa ?

(A) graTwer (B) sre (C) smarser (D) iReer
3. rETheT geeEl YT ¢ T shRifq !

(A) sufe=ifa (B) fassfa (C) 3wafa (D) =mafa
4. Taarar=aT &t = &: 97 Tesfa !

(A) =R (B) o - (C) zma (D) foe :
5. I e difed ¢ wafa ?

(A) Serfre=n (B) faure=n g = (C) gorem (D) Tz
6. I A HFA gRAfd !

(A) =mea : Efegora - ST - gsad - ™| (B) sufx

(C) == (D) =amyg
7. TIATRS grseaT o7&l foh ST ?

(A) == (B) gamaR - (C) gfora - (D) 7@ =% :
8. =1 P : T FHIET ?

(A) gaT=a (B) sr== (C) sufe=ifa (D) sufe=rfa
9. IS ¢ TepAfu 7 <= shigen: wafq ?

(A) s fa=: = (B) If (C) sgfaa : (D) e :

<+ % ANS.KEY <+ %
1 2 3 4 5 6 7 8 9
C A C C D A D A A

(76)




[wan Aye — uay Ast |

areL: 8 WsH: 191 2 Quy : T BsU UN : T
1. HIARAT 6T 37f& ?

(A) et Trelet (B) 2ot Tt (C) se=mon (D) weht
2. arfead’ s g ?

(A) [Qenl el (B) awh-l el (C) andl edl (D) 3udledl
3. sroEr woedl e 9wy ?

(A) 2@ 2uu-usl (B) 2@ &l (C) aild »uu-ul (D) wwsell
4, T’ ved 9 ?

(A) g2 2ueMal (B) dosadl vuspaticutll (C) H-21Hdi et (D) g2 axaticuel
5. AT el s[A AradledlA sui [Biran 58 © ?

(A) sun Guz (B) €4 Gur (C) 3l $u Guz (D) 2reuo Gur
6.  shtataehra e wH 541 5[Q il [@Asin s $8 9 ?

(A) |-l [@sa saud (B) avirl [Asta sa1-

(C) 2yal syfFanl [Qsi saud (D) aiild-ii [asia s
7. FHoSTFasETRE’ »ed 9 ?

(A) uilaglazti-n [QuA g2l (B) Hri-ll g®iariizaicusil

(C) u-tiracudil (D) $[8d u-tcunll
8. edl uadl girull ysa ¢ ?

(A) alad said usd  (B) Alaseusdl usd (C) Rascusdl usd (D) cweiscuddl usd
9. gdl uadl-u slani g e 534 69 ?

(A) Hou 211 s (B) dleu 21 uzds (C) sHN 24 YRals (D) ust 244 yry
10, R anicad, IT T IROT ..o, |

(A) Tresfa (B) TemTa: (C) Tr=am™: (D) sty
11. <y Ged sisaar?

(A) yruelld sa (B) audlH sa (C) Hid1ld $4 (D) adduialsd sa
12.  ugst' Al aw-udl ace Al

(A) wuet (B) foreret (C) ®r (D) forter

<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10 11 12
B B A B C C A A B C C A

(77)




[wan Aye — uay Ast |

aikeL: 6 WsH: 1 x1 2 [Any : Sga wsud UK : gt - 1 VG| 2
1. EUSEIN
(A) T (B) == (C) @ (D) w=
2 oo |
(A) Ty (B) e (C) =z (D) s,
3. d2uas.
(A) wn sfifsswr (B) |1 Sefifawr (C) wra safifs®r (D) &: Sfifas
4 T A e
(A) 1R (B) uiue (C) siel (D) 2ua
5. §Rms e - gd cusy wiai ?
(A) @18 a1 - (B) s1& *reaTUH: (C) =1z feer: (D) s1& Fa:
6 TRA Al ...
(A) €2 (B) a2 (C) wda (D) gt
7. BWYASD 1 Avgd sy WAL
(A) warft aefor 1 (B) @if geaemifr 1 (C) warfy g&aeeif 1 (D) wad gaehe |
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7

A C A C C D C

(78)




[wan Aye — uay Ast |

aRRL: 6 AN : 3 Quy : T VsU UH : TG TS
1. visacun 56 [Aen urd sl S ¢dl ?

(A) 212afQen (B) anlden (C) uioifaen (D) suifadlQen
2. Uil ¥A SiRalML AR 519 gl ?

(A) sigud (B) [azcuf@at (C) decu (D) s
3. e AoeHl ARudl i alal ?

(A) R (B) su (C) a2l (D) siell
4, 2sAX I Sl ?

(A) A% 5HR (B) ux (C) wisl (D) [y
5. HET T Thedd : ASS ¢ GAE : A T 7

(A) TedrT : s (B) &R : ST (C) srEateei (D) streHrsresmn -
6. TF : FIFHR : B goaT A9 T

(A) urvesa FEa,. (B) omeEm, (C) feors=am
<+ % ANS. KEY <+ %
1 2 3 4 5 6
B A C D D A

(79)

(D) =ur=mi=




[wan Aye — uay Ast |

Qe : 8 AsU: 4 Qv : g s Un : R Gl
1. gaR : gfasd : 9 T T=d : !
(A) s=mT (B) Taremeram (C) =tsTHTY (D) &=
2.  Ta=m' use-l wd wal?
(A) ura 5901 (B) 2udlt (C) e (D) sS4
3. WXfiem gonel o g T Teed ¢ !
(A) Ferafesm (B) gewaeisp (C) smafemm (D) weitemm
4. llen 2 yeudl-u 2 ad Hwow stud € ?
(A) [fQg w3 (B) [afaa s a3 (C) [faa w3 (D) [fag sl a3
5. DA-uuiell s34 3u 2usued, Gan Y3n oigauni- 3u -l d ial ?
(A) T (B) sremd (C) forerm™ (D) srifir
6. TIRET = TR & foredd v90q ¢ uidld werl v g au ® ?
(A) sui (B) suR (C) w2 (D) sean
7. FESTRE S evefq e ?
(A) sutu vugtmi (B) stirt-i A4l (C) sur-l 4elmi (D) stitt-u 2ustami
8. & GATHHE I Hgd gob : !
(A) TEST= (B) siRe=g (C) sfafeamy (D) sfrsrre
9. Tl : ¥ =< !
(A) Torsifamrers st Torer (B) st farsgy
(C) werew (D) =it sgsor
10. == femd S : ?
(A) TR (B) 2wrfeareiq (C) Trsggqumra (D) wesiiehrsitely
11.  gegaretet AL aw-udl ase 2uul ?
(A) Glau ga (B) 2™ Helr (C) Geunt (D) udd
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 9 10
C A B A D A B A B
11
C

(80)




[wan Aye — uay Ast |

areL: 8 AN : B RNy : @& s U : P : T
1. T FHOTATS HAAT ¢

(A) wfear (B) =frem (C) =freran ~wreft (D) em=rar
2. e wEm gl el ?

(A) Terfegepran - (B) wfearar : (C) g=ruroar : (D) ufg=ar :
3.  oratery : aoeHl v Al ?

(A) awdlld (B) anal (C) adwuin 4uR (D) atd-i y2
4. 3T &7 sAfe ?

(A) faramery (B) Zarery (C) war& (D) TRt
5. slleud wogardl asimi siqi e Rl i ?

(A) ®2raun gwai- (B) &t [dua-u (C) Mraun vpe8 (D) ;draun tagHi-L
6.  aleud AR Huaon sw1 e R sui o1y ?

(A) wlzui (B) 1%l asiHi (C) el diusiquni (D) R wsa-ui
7. wfear g e o agfa 2

(A) == 7= (B) =R (C) &ft: 3 (D) 3 =nf=:
8. SR 8™ oh: heyHAfd ?

(A) wmtesie: (B) Ferareh: (C) streme: (D) wferam:
9. s [Qlaami 9 e e ?

(A) Rl o euar e, (B) dlleLeun 69, (C) Hvu 22 89, (D) Bed 22 6.
10. e Temm | etsre e etfe | Gerswell - sy si-ual.

2 R et o O

(A) =i Fream, (B) wvien ot

(C) wofer s a1 | (D) ®u=er s1f |
11. <o Tea: afex Tt | uil3d Ase- 21 uayAS A6 Ysi.

(A) == (B) == (C) fermein (D) ==t
12, Rl Agd wmls sd e ?

(A) SaTTafE (B) mfosam (C) srfeam, (D) arfsiras
13, MELUEHL A4 MRS U Ul

(A) (B) fesz=afa: (C) sumufert (D) wrmay

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 11 12 13
A B A C C B C A A C A B D

(81)




[wan Aye — uay At |

Qe : 8 AsH: 6 Qv : g Asuy Uy : FRigwEn
1. s S2diHl AS sEaimi el 8 ?
(A) viaui (B) exul (C) turui (D) gl
2. w56 ARME ¥ AL AS s8UL Y ?
(A) dan (B) s~ (C) usR (D) qu™
3. FHHRAEAT: STHAN |eT HIGI: ?
(A) = (B) A4 amia (C) Tt 5T = (D) s=r:
4,  SrETEr woe-l 2 o wa ?
(A) unu (B) sx1d (C) e (D) Ha
5. e uve-l wd il
(A) crrrHl (B) aRui (C) anni (D) asmi
6. T o TR AT, |: 8lgeh Zeheehlad
(A) = (B) = (C) == (D) zhewr
7. e’ woe-l i WAl
(A) aza (B) w3 (C) adl (D) ez
8.  wEw: wse-l uurudl ase Al
(A) Fem: (B) = (C) ri: (D) sr==:
9. Isgrunt faamey & 7| At ?
(A) srea: (B) st (C) Tream: (D) T/
10. == T axFd ?
(A) foem (B) &= (C) ==, (D) v
11. 9= % wwar s ?
(A) TmosT= (B) Sfra= (C) wrommam (D) =T
%+ % ANS. KEY <+ %
1 2 3 4 5 6 7 9 10
B B C B A C A C D
11
A

(82)




[wan Aye — uay Ast |

areL: 8 wAsH: 7 Quy : @& U U : TS

1. STraory’ woe-l e Al

(A) >uulr (B) [@Qufx (C) s (D) wiled
2. Tauelt' aoedl am-udl aoe Al
(A) smafa (B) sraers (C) foufa (D) T
3 TAR: 2 ..........
(A) AR (4.) (B) als (C) -l uus (D) 2R Ad
4 TIEST 2d ...
(A) a3 e (B) Ha—sx (G EDEIEIEY (D) -a
5 wfawfa vied ...........
(A) ol dla (B) &t arr dla (C) eudln (D) Al
6 Ro+2% = ... A1y
(A) T=raTRI (B) far=fa (C) B (D) sra=ry
7 T W T Y
(A) fa=rfa (B) g=TeIq, (C) werafawifa (D) werafa=mE,
8 ISR FHed vl fohaq Joam ?
(A) TeraTRT (B) ste=n (C) formfa (D) ==
9 +e fagoar gshar w1 |f< ?
(A) =rqort (B) g (C) fsdra (D) gsr=r=
10. q=n: o @gH s=afa ?
(A) weeTe (B) TRt (C) Wt (D) wparf
11. waest sfa sfafedgifr af< 2
(A) =3 (B) =, (C) wer=m (D) sz
12.  uroEar: dord i | uiilBd 26e-U e d wu 268 AR U il
(A) = (B) =fu: (C) == (D) wafaq
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10
C B A C C C B B D C
11 12
D B

(83)




[wan Aye — uay Ast |

areL: 8 AU : § Quy : @& U U : T Rt

10.

11.

318 ufdafeT ............ Ifasstta | feea™ ara: g9aesis: e &: ?

(A) wsTaEa (B) wrefus=aeA (C) sr=aes (D) w=aes
T hal Taemea msfa ?

(A) TwresETET (G)EEEIES] (C) wure-gresEEs (D) urd - wwered
TrETa Aserll e Al

(A) un 524 (B) €ldmt 24 (C) e& (D) €1a:$
] el AT HAUTT 2 i3 Aoe sul quyg 9 ?

(A) uleid ssau-ui  (B) & sauui  (C) Auusldol sisauqui (D) 23uui avtdi .
STAT: WehTesTaTe qref=T spaifea | 3wil3d ase- 21 il

(A) suns (B) & sunsi (C) cunsi (D) wisd
W2 Al A 9" — dl § DA-unidl 56 Baw 599 ?

(A) Tt (B) wwarf (C) fetfn (D) wreTf
g’ Rl Agd AGE AL,

(A) =afeent (B) == (C) sta=prfi=nt (D) =re=t
al3unui 2dl uny aql 9 ?

(A) wure fgameTT,

(B) e feameTm

(C) urdw  feameH,

(D) =emferehsrEaTeTT,

alSunui saldd AuUA Agd 2isui S Ad quuy ?
(A)c¢:3

(B) ¢ : 2w

(C)e: 2

(D) v : 2y

T % gHyg gRiAfa ?

(A) wure framgTH,

(B) 9re famea,

(C) @rd famem,

(D) @ =gaieT

g7 % 99y <3afa ?

(A)e -

(B) ¢ = ¥y

(C)e: 2

(D) ¢ :we

%+ % ANS. KEY <+ %

1 2 3 4 ) 6 7 8 9 10 11

C C B B C B A B B C B
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[wan Aye — uay Ast |

areL: 8 WsH: 9 Quy : T s U : AR
1. 9, T, G WL Auil.
(A) di (B) $¢ (C) yal (D) v
2. 9, ™, ¥, 9 - GRA8L A Uil
(A) wal (B) &% (C) $¢ (D) it
3. -l GAIR WA A 4 A3 A 3 sl 20d & ?
(A) 2R (B) s+ (C) aul (D) &R
4,  A-iGRR N Hse g ad usd ?
(A) asl (B) 2R (C) (D) [edza2
5. AR USIR S2ai 9 ?
(A) 6 (B) 2@ (C) ar (D) uia
6. Qunifl s Qg faat:' wed o ?
(A); B) - (C): (D)1
7. 3 - B Yfea e - ggHT Tauferd sga=s& &9 faar fadq |
(A) T=: (B) 7= (C) T (D) T,
8. - s Yo A — oley [QeilEd isau-d 3u welA quil,
(A) T, (B) T (C) == (D) T
9. ad 2ed 9 ?
(A) Buus (B) Buuediyn 3y  (C) [ suR (D) »isua -
10, dgdHl A S2dl USIR © ?
(A) 2 (B) 4 (C) ar (D) »is
<+ % ANS. KEY &+ %
1 2 3 4 5 6 7 8 9 10
B B A C B C C A B A
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(W2 Aye — uad A

ke : 6 2Asu: 1 [Quy : ENGLISH 254 un : WHERE WERE YOU ?
1. The weather was and rainy.

(A) Hot (B) Cold (C) Windy (D) Normal
2. The  was like freezer.

(A) room (B) library (C) school (D) ground
3. Choose the rhyming word of ‘Food’.

(A) right (B) down (C) four (D) good

Rt uriel] il 2w A2 2ulen Rot suaild Rl gaiel avil. N

REAEIG VL RN
i == Y i - =t [
R .
= Sona

Eva

-

Sunita~ ﬂ © U Geeta Trtan

4. What is Reshma doing ?

(A) skipping (B) sliding (C) writing
5. What are Sona and Mona doing ?
(A) Swimming (B) running (C) walking

6. Who are skipping ?
(A) Meena , Sita (B) Geeta, Sunita  (C) Sona, Mona

7. ADA-umigd A2 usdl AoE Ul
(A) Potato (B) Tomato (C) Brinjal
8. Al vudlumi Rhyming word avi.,

There were four | n the bed .
And the little one .

(A) tall (B) Box (C) said
9. Mayuri __ absent today.

(A) are (B) was (C)is
10. My father in vadodara yesterday.

(A) are (B) was (C)is

(86)

(D) running

(D) skipping

(D) Reshma , Mahesh

(D) Mango

(D) god

(D) has

(D) have




11.

12.

13.

14,

15.

(1)

)

AGEIA ALY SHUL dAlsal.

On Tuesday , was , Priya , absent.
(A)3,24,1 (B) 1,3,4,2
DA-nuie v ea-an 1oei-l %13 oirual.
right =night , tree=__

(A) free (B) bell

Deepa was in the Kitchen

(A) Today (B) Tomorrow
Write the odd word.

(A) pen (B) Book

(C) 4321

(C) sand

(C) at night

(C) scale
Mr. Joshi is our teacher . He Is always at school. He is never at home on a monday. Last

(D)1,43,.2

(D) book

(D) yesterday

(D) orange

monday was no different. He was not in bed. He was in the classroom and he was cold.

Who is out teacher ?

(A) Mr. Joshi (B) Mr.Mehta (C) Mr.Pandya (D) Mr. Shah
Where was Mr.Joshi last monday ?
(A) library (B) classroom (C) library (D) garden
<+ % ANS. KEY «+ %
1 2 3 4 5 6 7 9 10
B A D B A B D A
11 12 13 14 | 15(1) | 15(2)
A A D D A B
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[wan Aye — uay Ast |

ke : 6 2wsu: 2 [Quy : ENGLISH 254 -un : TWO : MO - CHHO
1. | tothe library in the yesterday .
(A) go (B) went (C) gone (D) going
2. | abookonmy Table.
(A) have (B) has (C) had (D) his
3. We celebrated christmason
(A) 21* Dec (B) 8" Dec (C) 11" Dec (D) 25" Dec
4, Cake..... make ,
(A) Walk (B) Lack (C) Bake (D) Took
5. Today ~ monday....
(A) are (B) is (C) were (D) helping
6. My fatheris  Nancy now....
(A) helped (B) help (C) helpy (D) helping
7. BUMIR Asd s 9 5821 ?
(A) very good (B) Thank you (C) good bye (D) wel — come
8. When do we celebrate the “word Environment day” ?
(A) 5" June (B) 5™ July (C) 5™ August (D) 5" september
9.  uloy sHML dlisdl.
[1] walked [2] motu [3] one day [4] to the river
(A) 1,423 (B) 4,231 (C)3,2,1,4 (D)2,3,1,4
10.  432us ailA, D2 2udan uadiqi aiey [Aseu vrie s30 oaist yal.
Mohan is in the garden today . He Is looking at Flowers .... Rita was at Reshma’s
house last sunday...
1. Mohan is in the garden
(A) today (B) yesterday (C) Tomorrow (D) Next day
2. Rita at Reshma’s house , last sunday ....
(A) were (B) went (C) was (D) will
3. He  atflowers....
(A) Look (B) Looked (C) Looks (D) is Looking
11, 2AA3L U3l AGE Feul.
(A) Uttarayan (B) Diwali (C) Holi (D) carrot
12, 1491 u3dl A% RuAl.
(A) Mango (B) banana (C) Jambo (D) Onion.
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13.

14.

15.

16.

17.

18.

19.

20.

21.

is used in monsoon

(A) Umbrella (B) sweater (C) cap
_____isused in winter

(A) Raincoat (B) Goggels (C) scarf
The Rainbow has  colours...

(A) 8 (B) 9 )7

Student played the Teacher’s role
(A) Mother’s day (B) Father’s day (C) Hindi day
Which is a summer Fruit ?

(D) Fan

(D) cap

(D) 10

(D) Teacher’s day

(A) Jamboo (B) apples (C) banana (D) water malon
U4 $HUL Alsal.
(1) August (2) June (3) September (4) July
(A) 4,1,3,2 (B) 2,4,1,3 (C) 1,4,3,2 (D) 3,2,1,4
When do we celebrate the “Independence day”
(A) 15" August (B) 15™ Nov (C) 15" Jan (D) 15" April
When do celebrate the “Republicday ” ?
(A) 26" Feb (B) 26" oct (C) 26" Jan (D) 26" June
AL Y3l ACE QViL...
(A) doctor (B) Actor (C) conducter (D) Teacher
<+ % ANS. KEY * + %
1 2 3 4 5 6 7 8 9 [ 100)
C A D C B D B A A
10(2) | 103) | 11 12 13 14 15 16 17 18
C D D D A C C D D B

19 20 21

(89)




[wan Aye — uay At |

QiR : 6 wsH: 3 [Quy : ENGLISH 254 W4 : FOUGHT AND WON
1. Valia a robber

(A) is (B) Was (C) are (D) were
2. He  inaforest

(A) lived (B) live (C) is living (D) lives
3. He  people.

(A) loots (B) is looting (C) looted (D) was looted
4. people  afraid of him.

(A) are (B) is (C)is (D) were
5. His family __ not happy with him.

(A) are (B) was (C)is (D) were
6. Once Narad muni ___ through the forest.

(A) pass (B) passed (C) passes (D) was passing
7. Narad muni’s advice ~ valia’s life.

(A) Change (B) Changed (C) changing (D) changes
8. He became Valmikiand _ Ramayana.

(A) write (B) wrote (C) written (D) writes
9. What was Valia ?

[1] hunter [2] robber [3] merchant [4] giant
10.  Birju was afraid of even a

(A) cat (B) dog (C) cockroach (D) mouse
11. Birjuneverwentout

(A) at night (B) in cold (C) at noon (D) in rain
12.  People in surajpur were happy because

(A) they never fell ill (B) they never quarreled

(C) they worked hard and grew good crops (D) they lived on a riverbank
13.  Birjuwas

(A) brave (B) coward ©)ill (D) fat
14.  Wh o called the villagers ?

(A) the sarpanch (B) the docoits (C) villagers (D) Birju
15.  What did Birju and his friends tie the tree ?

(A) rope (B) wire (C) ribbon (D) strings
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

Who caught the decoits ?

(A) Birju and his friends (B) the village
(C) Police (D) the women
Who arrested the dacoits ?
(A) Birju (B) the sarpanch (C) the police (D) Raju
Farm, Harm,
(A) from (B) horn (C) train (D) charm
dress,press,
(A) trees (B) frees (C) stress (D) pest
Narad Muni passed the forest.
(A) with (B) from (C) through (D) in
Valmiki wrote Ramayana.
(A)a (B) an (C) the (D) none of these
Birju was afraid ___ even a mouse
(A)to (B) of (C) with (D) by
your money and ornaments ready.
(A) keeps (B) kept (C) keep (D) none of these

DAL q32us aizll uadi-n e aiey [@seu uris 530 2uul

Birju , a young man, also lived in Surajpur . He was tall and handsome. He was wealthy ,
too. But he was not brave .

Where did Birju live ?

(A) Surajpur (B) Janakpur (C) Karmpur (D) Gyanpur
Who was tall and handsome .
(A) the sarapanch (B) Birju (C) the villagers (D) None of these
<+ % ANS. KEY + %
1 2 3 4 5 6 7 8 9 10

B A C D B B B B B D

11 12 13 14 15 16 17 18 19 20

A C B A B A C D C C
21 22 23 24 25
C B C A B
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[wan Aye — uay Ast |

QiR : 6 2sH: 4 [Quy : ENGLISH 24 W4 : WATCH YOUR WATCH
DAL uRWe il d-) DA 2udar usdiqn el DA 2uden [Aseuinidl qiou [@Qsey uais 53 quil
A The tower clock in the Juna Bazaar is very old. All the three hands of the clock quarrelled
one day.
1. What was very old ?
(A) kitchen clock  (B) Wall clock (C) tower clock (D)Drawingroomclock
2. Where was the tower clock ?
(A) Nava Bazar (B) Juna Bazar (C) Juna chowk (D) Nava chowk
3. Who quarrelled one day ?
(A) three hands (B) three people (C) three cows (D) three leds
4. How many hands did the clock have ?
(A) two (B) three (C) four (D) none
5. How was the tower clock ?
(A) old (B) young (C) small (D) long
A The thin hand shouted : “I am very fast” The long hand screamed : “But [ am very slow.”
The short hand nodded.
6. Who was verry fast ?
(A) the thin hand (B) the long hand (C) the short hand (D) none
7. How was the thin hand according to him ?
(A) fast (B) slow (C) mediume (D) very slow
8. Which is the pair of similar words from the following ?
(A) thin —long (B) fast — slow (C) screamed — shouted(D) none
9. What did the short hand do ?
[1] cried [2] nodded [3] laughed [4] shouted
10. Theshorthand  hishead:
(A) shook (B) shakes (C) had shaken (D) was shaking
11.  Which is the similar word for ‘nodded’.
(A) laughed (B) shook (C) cried (D) shouted
12.  The thin hand did not choose.
Orrojile word ‘shout’
(A) scream (B) cry (C) yell (D) speak gently

(92)




13.

14.

15.

16.

17.

18.

19.

20.

21.

Now , the shouted hand was angry . “stop your noice”. He kicked hard. The thin and long
hands tell down

Who was angry ?

(A) the shorthand  (B) the thin hand (C) the long hand (D) none

Who said “stop your noice” ?

(A) the long hand (B) the shorthand ~ (C) the thin hand (D) none

What did the short hand do ?

(A) pattend (B) smiled (C) kicked (D) slapped
who fell down ?

(A) the long and short hand (B) the short and thin hand

(C) the long and thin hand (D) none

Kanjibhai noticed this first. He looked up to seat his wrist — watch . He ingorned the the
municipality. The municipality replaced it with a digital clock. .
Who noticed the scene first ?

(A) Manjibhai (B) kanajibhai (C) shamjibhai (D) premjibhai
What did he want to set ?
(A) his mobile (B) his wrist — watch
(C) his drawing room clock (D) his kitchen clock
Whom did kanjibhai Inform ?
(A) Nagar panchayat (B) post-office (C) telephone —office (D) municipality
DA vudan i35t wHl Aoy [@Asen wrie 52—
A B
1) Short hand 1) I run fast
2) Long hand 2) I am also impotant
3) thin hand 3) The clock is not arorling
4) Kanjibhai 4) It shauted, “stop the noice”.
(A)4,1,2,3 (B) 4,3,2,1 (©) 4,231 (D)1,234

A2 i asAiA d1vu sHHLOlsAdl U e s2A B dldl viA.,

1. The muncipality a dopted the new technology

2. The short hand kicked out the minute hand and the second hand.

3. The sparrow complained. "why did you take off my surings ?"

4. The thin hand declared that that it works more .

5. The long hand claimed that it is more inpaetll.

(A) 4521,3 (B)4,2,5,1,3 (C)4,1,2,35 (D) 4,1,2,5,3
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22.

23.

24,

25.

26.

27,

28.

29.

alin 1S dloU AHY LUl
(A) quarter to eight
(B) half past eight
(C) quarter past six
(D) half past six
(A) half past five
(B) quarter past five
(C) quarter to five
(D) half past four
(A) quarter to three
(B) quarter past three
(C) quarter past twelve
(D) three o'clock

DA sieesA el il udar s e, WS-l aey [sey el :

Arrival Departure
Ahmedabad 6:00 pm 6:20 pm
Surendranagar | 3:32pm 8:34 pm
Rajkot 3:27 pm 3:29 pm
Dwarka 3:27 pm 3:29 pm
Okha 4:20am
At what time did the train surendranagar ?
(A)6:00pm (B) 8:32 pm (C) 8:34 pm (D) 6:20pm
It was Eleven o'clock where are the train ?
(A) Surendranagar  (B) Dwarka (C) Rajkot (D) Ahmedbad
The platform clock showed 6:10 pm. where why was the train ?
(A) Rajkot (B) Surendranagar  (C) Dwarka (D) Ahmedabad
The passenger reached the station at 11:15 pm
(A) Ahmedabad (B) Rajkot (C) Surendranagar (D) Dwarka
The train was at Dwarka what time was it ?
(A) 11:05 pm (B)3:15pm (C)3:27 pm (D) 3:45pm

DA wRe aizll 2ude i s, {2l Rl [@Asey uaie 52

There was a marriage cremony in neighbour hood. there was lot of noice. | would not
sleep proprly , so | woke up at half past eight. I got quickly and look a shower in hurry. I
had at time to take a cry at led.
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30.

31.

32.

33.

34,

35.

36.

What was there in neighbourhood ?
(A) a birthday ceremony.

(C) an anniversary ceremony

The narrator woke up at...

(A)8:15 (B) 8:20
Did the narrator take thw tea ?
(A) yes (B) No

The narrator had no time to
(A) take his cell phone
(C) take a cup of tea

(B) a marriage ceremony
(D) a faveral ceremony

(C)8:45 (D) 8 : 30

(C) No idea (D) None of these

(B) take his lunch box
(D) take his break fast.

It was ten to nine. | drove my bike fast. | hoped to reach on time. | accelerated the bike.

The traffic light was read. | failed to stop my bike at the traffic signal.

The narrator failedto
(A) stop his bike

(C) help his friend

What was the time ?

(B) answer the questions
(D) save an old woman.

(A)8:30am (B) 8:50 am (C)9:00am (D) 8:40am

How was the traffic light ?

(A) yellow (B) green (C) red (D) brinking yellow

<+ % ANS. KEY «+ %

1 2 3 4 5 6 7 8 9 10
C B A A A A C B A
11 12 13 14 15 16 17 18 19 20
B D A C C C B B D A
21 22 23 24 25 26 27 28 29 30
A B C C A C D B C B
31 32 33 34 35 36
D B C A B C




[wan Aye — uay Ast |

QiR : 7 2wsH: 1 [Quy : ENGLISH s -un : VINI'S SMILE
1. 'Bought' ai&-ll Rhyming word uais s3i.
(A) Coat (B) caught (C) got (D) right
2. flew = blew , rang =
(A) sang (B) bank (C) roll (D) red
3. Ay HIGL LS ot
bag = bought , kite
(A) draw (B) sing (C) flew (D) write
4, My mother sugar from the market
(A) ring (B) bought (C) thought (D) given
5. | the Ramayana in the morning
(A) read (B) sing (C) tells (D) gives
6. My grand father _ four language.
(A) reads (B) knows (C) spoke (D) tell
7. Write the odd word
(A) silver (B) golden (C) steel (D) cloth
8. Tejasvini's bicyclehada
(A) Red button (B) Blue Button (C) Black button (D) yellow button
9. Tejsavini's bicyclewas _ in the sky.
(A) running (B) riding (C) flying (D) drving
10. DAL 551 ail wsHIAL FasL Qv
A 1t was 11" April, 2011 : It was Tejsvini's 12" birthday . Her father gifted her a beautiful
bicycle . It was a unique bicycle. Blue in colour, soft seat, a little bell and a rear view
mirror.
(1) Whois 12 yearsold ?
(A) Tejasvini (B) Meena (C) Geeta (D) Reshma
(2)  Who gifted a bicycle to Tejasvini ?
(A) mother (B) father (C) brother (D) friend
(3)  What is the colour of bicycle ?
(A) black (B) green (C) red (D) blue
11. Tejasviniwas __ yearsold.
(A) 11 (B) 10 (C) 12 (D)9
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12.

13.

14,

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

26.

27.

28.

the rough path was
(A) in the village
Tejasvini was

(A) thrilled (B) happy
%EL Uddl AGE %HBUL.

(A) bell (B) pedal

he / sing /Did / ?

1 2 3

A)1,7,2,3 B)3,1,2,?

(B) on the river bank (C) in the sky

(D) in the river

(C) frightened (D) sad
(C) handal (D) wings
(C) 1,322 (D) 1,2,3,?

which is the following is false about the bicycle ?

(A) blue colour

(B) a rear view mirror (C) a little bell

(D) a hard seat

What did Tejasvini say when she saw her bicycle ?

(A) vroom....... (B) wow !
Where did Tejasvini go ?

(A) village (B) school
How was the path on the river bank ?
(A) smooth (B) rough
‘Noticed' means .......

(A) warmed (B) advised
How high did the bicycle go ?

(A) five metres (B) fifty metres
‘Miracle' means .....

(A) Magic (B) article
‘excited' means .........

(A) rose (B) pedalled
What did Tejasvini see in the river ?
(A) leaves (B) boat

What did Tejasvini see in the village ?
(A) school (B) house

Where were the leaves ?

(A) roof of her house

(C) garden of her school

What came in Tejasvini's way ?

(A) clouds (B) sun
always' means
(A) forever (B) dream

(97)

(C)oh'! (D) whoohoo !

(C) river bank (D) post- office
(C) long (D) short
(C) suggested (D) saw

(C) five kilometres

(C) new (D) speed
(C) thrilled (D) expected
(C) kite (D) bike

(C) river (D) trees

(B) garden of her house
(D) roof of her school
(C) flock of birds (D) rain

(C) opened (D) washed

(D) fifty kilometres




29.

30.

31.

32.

33.

34.

A1 ase-l 'Past tense' (@dsin) gual.

go
(A) gone (B) went (C) get (D) walk
Mehul __ amagic show last week.
(A) saw (B) see (C) show (D) watch
o6l Uddi ea[Raoll A6E AL 3.
(A) dark (B) bark (C) hark (D) moon
AL uHIRL [Qsey yaie s3l.
Harsh make toys ,
Harsh will make toys.
Anand catch ball
Anand
(A) will catch (B) was catch (C) would catch (D) is each
The / food / cooked / girls.
1 2 3 4
(A) 1,324 (B) 1,4,3,2 (©) 4321 (D) 3,1,2,4
The flying bikewas
(A) reality (B) dream (C) fact (D) lie
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10(1)
B A C B A C D A A
10(2) | 103) | 11 12 13 14 15 16 17 18
B D C B A D B D B C
19 20 21 22 23 24 25 26 27 28
B D A A C B A D C A
29 30 31 32 33 34
B A D A B B




[wan Aye — uay Ast |

QiR : 7 2sH: 2 [Quy : ENGLISH 24 W4 : HOW MANY DID YOU ?
u3us widl oot qil,
A This picture is about a Birthday party. The birthday boy is in the middle . The cake is not

10.

11.

............ cut .......... All have were the paper caps. The cake is on the chair.........
This picture is about ..............

(A) garden (B) movies (C) Birthday party (D) song party
The birthday boy isinthe

(A) last (B) middle (C) First (D) second
The cake is cut...

(A) Bot (B) No (C) Cot (D) Not
Cakeis __ thechair..

(A) On (B) in (C) under (D) into
A1l U [H0)L Quil.

(A) Vindow (B) Window (C) windov (D) windew
Bidd VA’ HI2 SUL AGE AYRN....

(A) happy (B) bad (C) very happy (D) good
RsanA earrni AvA 0121 st @vil.

Bat,Beg  bring...

(A) Boy (B) Bill (C) Beggar (D) Bike
Who is called "Netaji" ?

(A) Ravindranath (B) Sardar vallabhbhai

(C) Sukhdev (D) Subhash chandra bose

What did Gopal like to eat ?

(A) Jalebi (B) Barfi (C) Kajukatri (D) adadiyo

4320 Higl g Quil.,

After some days he was going through the Forest. He saw giants there They were under a
tree . Gopal was scared. He said to himself, "Oh ! the giants are really huge ! They look
cruel too. The task is really tough, I can't fight with them.

Where did Gopal see the giants ?

(A) mountain (B) valley (C) Forest (D) kingdom
Gopal was
(A) happy (B) scared (C) sad (D) brave
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12.

13.

14.

15.

16.

17.

18.

19.

20.

"tough™ means
(A) easy

(B) difficult (C) interesting

Which word in the paragraph means "job™ ?

(A) Task

(B) huge (C) cruel

Where were the giants ?

(A) on atree

(B) behind a tree

Wow ! seven at one blow !

(C) in front of a tree

(D) boring

(D) tough

(D) under a tree

I am very
(A) happy (B) good (C) brave (D) cleaver
open the door...

(A) Good bye (B) Thans (C) sorry (D) please

The coloure of an apple is

(A) white (B) yellow (C) red (D) orange

Alsu SHHL OlsAL.

(2) really (2) He looked (3) and hungry (4) very poor

(A) 1,2,3,4 (B)3,4,1,2 (C)2,34,1 (D) 2,143

One giant threw stone, second giant was

(A) agree (B) angry (C) laugh (D) Enjoy

w2l [@seu 2. ..

(A) bit- beat (B) let-late (C) get -gate (D) seat - set

<+ % ANS. KEY «+ %

1 2 3 4 5 6 7 8 9 10
C B D A B C C D A C
11 12 13 14 15 16 17 18 19 20
B B A D C D C D B D
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10.

11.

GLR[ VF5[,F SF0"GM VelF; SZL 5|P 1 YL 6 DF8[ ;FRF 1JSy5 5;\N SZMP

Satishbui Darji
M : 9898009090
PALAK LADIES TAILOR

Ponjabi dress amd Blouse — speciast

12,Ankur complex,
Station roael, Amrel:

Whose card is this ?

(A) Palak (B) Satichbhai
What is satishbhai ?

(A) Policeman (B) cobbler
Where does Satishbhai live ?

(A) Amreli (B) Ahmedabad
Satishbhai is a specialist in..............
(A) Blouse (B) frock

Satishbhai's mobile No.................

(A) 9898000900 (B) 9898962528
Satishbhai's shop name.......Jadia taiur
(A) Ankur (B) Palak

What is Harry patel ?

(A) Salesman (B) businessman
What did Marry sell ?

(A) Shop

(C) Shampoo

What is Mrs Sharada modi ?

(A) teacher (B) Mayor
What is Mr Jadeja ?

(A) postman (B) policeman

What is the name of harry's shampoo ?
(A) Quicker (B) Dove

(C) santoshbhai

(C) tailor

(C) Bhavnagar

(C) chaniya choli

(C) 9898009090

(C) Amreli

(C) postman

(D) Sharadbhai

(D) Potter

(D) panjab

(D) None

(D) 9800989090

(D) None

(D) policeman

(B) Was Washing Powder

(D) face wash

(C) doctor

(C) mayor

(C) Hair care

(D) Lawyer

(D) Doetor

(D) None,




12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

Wood , good.......

(A) poor (B) tour (C) Food (D) None
house . mouse.........
(A) louse (B) home (C) fourse (D) None

GLR[GM OSZM JF\RL GLR[GF 5| GMGF\ HJFA IMul 13Sy5 5;\N SZL VF5M
Reshma read the label "And what is the price ? oh ! Rs. 152 for a 220 ml bottle ! "maam it
Is the retail price. | can offer you a good discount take this 500 ml big bottle It will cost
you Rs.320 But Rs. 1500 for five bottles ™

The price of 220 ml is...

(A) 125 (B) 215 (C) 152 (D) 521

What is the price of 500 ml bottle ?

(A) RS. 152 (B) RS. 1500 (C) RS. 230 (D) RS. 320

What does Harry offer ?

(A) Discount (B) free bottles (C) retail price (D) free conditioners
Rs. 1500 is for.....

(A) three bottles (B) four bottles (C) five bottles (D) six bottles

who read the label ?

(A) Harry (B) Reshma (C) Mr. Jadeja (D) mrs. Sharada modi
5|P 19 YL 21 JFSI IMul @DDF\ UM9JMP

(A) Different (B) He (C) People (D) Meets

(A) ABCD (B) BCAD (C) DCBA (D) BDAC

(A) bought (B) five (C) They (D) kites

(A) CABD (B) ACBD (C) ADDBC (D) BCAD

(A) Asha and Rahul (B) wrote (C) letter (D) a

(A) DCBA (B) ABDC (C) CBAD (D) ACBD

OSZM JF\RL IMul 13Sy5 XMWL HJFA VF5M

Yesterday was sunday - shivani went on a picnic with her family. Her friend Nitu also
went with them. They went to a picnic place near the lake.

Who went on a picnic with her family ?

(A) Nitu (B) Her friend (C) Shivani (D) None
Where were Shivani and her friend go for picnic ?

(A) garden (B) riverbank (C) Lake (D) Sea shore
When did they go for picnic ?

(A) Friday (B) Saturday (C) Sunday (D) Monday
Similar word for picnic is ........

(A) trip (B) journey (C) wandering (D) None
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22
23
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25

16
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19
20

11
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13
14
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VF5[,F\ ;]I"D\O/GL DFCLTLJF/F SMq8SGF VFWFZ[ VF5[,F paZzM DF8[ ;FRM
1ISy5 5;\N SZM

Name of planets | Distance from | Temp. in | Distance  from | No . of
the Sun (Av) celcius the moon in km

Mercury 0.39 180° to 430° 48178 00

Venus 0.72 465° 12704 00

Earth 1 89° to 58° 12756 11

Mars 1.52 82° to 0° 6787 22

Jupiter 5.20 150° 1.42.800 6363

Satarn 9.54 170° 1.20.000 6262

The venus is bigger than the...................

(A) Earth (B) Mercury (C) Neptune (D) Uranus

Which planet farther from the sun ?

(A) Jupiter (B) Saturn (C) Marr (D) Earth

Which planet has higher tenperature than the Mars ?

(A) Jupiter (B) Mercury (C) Venus (D) Earth

GLR[ VF5[,F JFSIM DF8[GM IMul @D 5;\N SZM P

The king hid the princess on the top of the mountain .

Prince Sohansen, wanted to marry the beautiful princess.

Longer legs ran faster than the wind.

The prince and the princess were happy.

The king set three difficult tests.

(A) 25134 (B) 25143 (C) 25413 (D) 25314

GLR[GF 5|"GMGF\ paz DF8[GM IMul 1JSy5 5;\N SZM
Who was Sohansen ?

(A) aking

(B) a prince

(C) a princess (D) a magician

Why did all the princes want to marry the princess ?

(A) because she was a beautiful princess
(C) because the king was a magician

the magician

(B) because they wanted to become a king
(D) because the princes wanted to become

Where did the king hide the princess first time ?
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19.

20.

21.

22.

23.

24,

(A) in the jungle (B) in the river (C) on the top of
Who brought the princess back from the Jungle ?

(A) Sharper eyes (B) Bigger Belly (C) The prince
Who drank whole water of the lake ?

(D) in the lake

(D) longer legs

(A) Bigger belly (B) longer legs (C) sharper eyes (D) The prince
How did the prince and princess feel at last ?

(A) Happy (B) unhappy (C) angry (D) sad

What was the king ?

(A) musician (B) a painter (C) a magician (D) an astronaut
Where did the king hide the princess third time ?

(A) in the river (B) at the Bottom of the deep lake

(C) on the top of the mountain (D) in the jungle

What did the king turn the princess into the second time ?
(A) afish (B) a rabbit (C) agolden leaf
Who could see very for ?

(A) Sohansen (B) Longer legs (C) Sharper eyes
Who could run very fast ?

(A) sohansen (B) sharper eyes (C) Bigger Belly
Who could eat and drink every thing ?

(A) sohansen (B) sharper eyes (C) Bigger Belly
What did the king turn the princess into the third time ?

(A) asilver fish (B) a golden leaf (C) crow

What did the king turn himself into at last ?

(A) asilver fish (B) a crow (C) a golden leaf

How many tests did the king set ?

(A) one (B) two (C) three
3uiiSld 20e-l 21 A [Aseuinidl il

The eagle can see very far. It has Sharp eyes.

(A) big (B) powerful (C) beautiful
We hoped to visit a Zoo. But we visited the museum.

(A) walked (B) Jumped (C) wanted
There was a strong wind The leaves of the three were shaking
(A) Making sound  (B) flying (C) moving

Raj has speacial power to fly in the sky.

(A) extra capacity  (B) like a bird (C) good boy

The water turned into ice.

(105)

(D) a crow

(D) Bigger Belly

(D) longer legs

(D) longer legs

(D) arabbit

(D) a rabbit

(D) four

(D) charming

(D) climbed

(D) good girl

(D) good girl




25.

26.

217.

28.

29.

30.

31.

32.

(A) drank (B) ate (C) swallowed (D) changed into
DA sz seu vieaA 53 a-dl A 2uden ua- widl dicy [Aseu vris s

Name weight Height Birth date length of nose
Swapnil 20 kg 110 cm 24-10-2001 4cm
Gitanshi 25 kg 110 cm 26-10-2001 3cm
Pritesh 22 kg 125 cm 20-09-2001 2.5cm
Jayesh 26 kg 120 cm 14-08-2001 3.5cm
Who is taller ?

(A) Swapnil (B) Gitanshi (C) Pritesh (D) Jayesh
Who has a longer nose ?

(A) Swapnil (B) Gitanshi (C) Pritesh (D) Jayesh
Who is older ?

(A) Swapnil (B) Gitanshi (C) Pritesh (D) Jayesh
Who is heavier ?

(A) Swapnil (B) Gitanshi (C) Pritesh (D) Jayesh

A2 2udan Geuen (Riddies) ailA il oot >uddl [Qscuinidl vais 2.

It is smaller than a rabbit and bigger than a rat. It is the enemy of the snake what is it ?

(A) a cobra (B) a mongoose (C) acat (D) adog

It is bigger than a sparow and smaller than a crow Its colour is green. what is it ?

(A) a parrot (B) a pigeon (C) a cock (D) an eagale

It runs faster than the horse and the deer. It is wild animal . It has very sharp claws and
teeth. what is it ?

(A) dog (B) cat (C) wolf (D) cheetah
It looks like a horse It has stripes on its body what is it ?
(A) cobra (B) wild ass (C) pony (D) chebra
<+ % ANS. KEY «+ %
1 2 3 4 5 6 7 8 9 10
B B A A B A C D A A

11 12 13 14 15 16 17 18 19 20

C B C C D C A B C B

21 22 23 24 25 26 27 28 29 30

C C A D C A D D B A
31 32
D D
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1. Where do Sunita Williams work ?

(A) at space (B) at NASA (C) at ISRO (D) at Bhabha center
2. What is Sunita Williams birth date ?

(A) 25" July (B) 15" May (C) 5™ April (D) 19" september
3. Where did Sunita Williams get graduate degree from ?

(A) Oxford university (B) Cambridge university

(C) Florida Institute (D) London university
4. Who inspired Sunita williams in her life ?

(A) Mahatma Gandhi (B) Jawaharlal Nehru (C) Ravishankar maharaj(D) Vinoba bhave
5. What is sunita williams country of origin ?

(A) China (B) India (C) Sri lanka (D) America
6. Where did the first theatre develop ?

(A) Rom (B) India (C) Pakistan (D) Greece
7. Who is the first woman IPS oficer of India ?

(A) Sarojini naidu  (B) Kiran Bedi (C) Meena Gandhi (D) Saniya Mirza
8. What is Kiran Bedi ?

(A) professer (B) Doctor (C) IPS officer (D) scientist
9. Where was Mahtma Gandhi born ?

(A) Porbandar (B) Rajkot (C) Ahmedabad (D) Dandi
10.  What is the birthdate of Mahatma Gandhi ?

(A) 1% April (B) 2" October (C) 13" December (D) 15" March
11, 1491 u3dl 6% %EL %eudl.

(A) Space (B) Air craft (C) scientist (D) drama
12.  Arrange the following words in correct order.

best / friends / trees / are / our

1 2 3 4 5

(A)2,1,354 (B)3,4,5,1,2 (C)354,21 (D) 4,3)5,1,2
13.  Who wrote the poem 'Grammata’ ?

Here are the options. choose correct answer.

(A) Karshandas manek(B) Umashankar joshi(C) Kalapi (D) premanand
14.  Which sea touches Gujarat ?

e AY2e — UAH AL |
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17.

18.

19.

20.

21.

22,

23.

24.

25.

26.

27,

28.

29.

30.

31.

32.

(A) The Arabian sea (B) The red sea (C) The Arol sea (D) The yellow sea
Which gas do trees breathe in ?

(A) Oxygen (B) carbon Dioxide (C) Nitrogen (D) Methane
Who is miss Tick - Tick ?

(A) Train (B) Plane (C) Computer (D) Clock
Who is the writer of 'The mahabharat’ ?

(A) Valmiki (B) Vedvyas (C) Dronacharya (D) Karna
Who discovered America ?

(A) Alexander (B) shakespeare (C) Columbus (D) obama
When did the battle of Plessey take ?

(A) 1957 (B) 1857 (C) 1875 (D) 1757
Which is the longest river in Gujarat ?

(A) Tapi (B) Mahisagar (C) Vatrak (D) Narmada

Who was the first Indian woman to go in space ?

(A) kalpana chawla (B) Sunita williams  (C) yuri Gagarin (D) Rakesh sharma
Who was the first Indian to go in space ?

(A) Yuri Gagarin (B) Rakesh sharma  (C) Kalpana Chavda (D) Sunita Williams
Who wrote "Patan ni Prabhuta"?

(A) Kalapi (B) Narsinh Mehta  (C) Premanand (D) Kanaiyalal munshi
Who wrote 'Vaishnav jan to tene re kahiye' ?

(A) Premanand (B) Kanaiyalal munshi(C) Umashankar joshi(D) Narsinh mehta
Which of the following is generated from the sunrays ?

(A) solar energy (B) ol (C) petrol (D) coal
Which of the following is used in cooking gas cylinder ?

(A) CNG (B) PNG (C) LPG (D) Petrol
Where was sardar patel born ?

(A) surat (B) Anand (C) Nadiad (D) Porbandar
Where is the sarbarmati Ashram ?

(A) Junagadh (B) Ahmadabad (C) surat (D) Dandi
Who welcomes everyone ?

(A) mr. parmar (B) Vikas (C) mr.Bright (D) Mr.sharma

What is the name of the school ?

(A) Vikas Vidhyalay (B) Smitvidhyalay (C) Bright vidhyalay (D) Smart vidhyalay
Who is the host ?

(A) Mr.parmar (B) Vikas (C) Mr.bright (D) Mr.sharma
Who is the expert ?
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33.

34.

(A) Mr.parmar (B) Vikas (C) Mr.bright (D) Mr.sharma

mr.bright has a

(A) student (B) teacher (C) laptop (D) clock

How many contestants are there ?

(A) six (B) eight (C) seven (D) nine

<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10
B D C A B D B A B
11 12 13 14 15 16 17 18 19 20
D B C A B D B C D D
21 22 23 24 25 26 27 28 29 30
A B D D A A C B B
31 32 33 34
A D C D
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BRIGHTER
1. Mother.... Father,
(A) Dear (B) hear (C) longer (D) wear
2. Burj khalifa is the tallest building
(A) in Asia (B) in India (C) in Gujarat (D) in world
3. Burj khalifahas __ Floors .............
(A) 182 (B) 163 (C) 192 (D) 186
4. Burj khalifa hasthe _ water supply line
(A) longgest (B) longer (C) longest (D) long
5. Asbraveas
(A) A cow (B) A horse (C) Adog (D) Alion
6. As faithfulas
(A) A goat (B) A cat (C) dog (D) A ship
7. Which is the longest river in the world ?
(A) The narmada (B) The Ganga (C) The sabaramati (D) The Nile
8. Which is the largest ocean in the world ?
(A) The Arabin (B) The pacific (C) The hind (D) The Arctic
9. Which is the hottest region in the world ?
(A) The sahara Desert (B) The Thar Desert
(C) The kachchha Desert (D) The Rajsthan Desert
10. Abusis fasterthan
(A) Bullock (B) plane (C) Train (D) Aeroplane
11.  Which ia the fastest among all these ?
(A) Bicycle (B) Bullet train (C) cart (D) plane
o Qs il [Aseu wrie s Fue quil,
One evening The king was in his court said to tansen ... " Ustadji", play something New
On your tanpura and make us happy." Tansen agreed He took his Tanpura he started raag
"Darbar". The court became calm and quiet After some time the king looked up , his eyes
bright with praise "wonder ful” ! he said .............
12.  Which instrment did Tansen play ?
(A) sitar (B) sarod (C) Tanpura (D) Tabla
13.  Which raag did Tansen sing in the court ?
(A) malhar (B) Darbari (C) Dipak (D) kedar
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26.

27.

28.

Which words show that the king was very happy ?

(A) make us happy (B) calm and quiet

(C) The king looked up (D) his eyes bright with praise

What did the king call Tansen ?

(A) miyan (B) Ustadji (C) Akbar (D) mahashay
"Wonder ful" ! who said this ?

(A) Tansen (B) Courtiers (C) Akabar (D) Sant Haridas
33us uel st vuul.

They walked back silently ... Then the king broke the silence... "Why can't you sing like
him.... Ustadaji ?

Tansen smiled .......... " Shaheshah. I sing at your command ......... The command of the
king of Hindustan ........... Guruji sings or the one who is the king of kings .... I"
Here, "brave the silence” means
(A) sang (B) spoke (C) Akbar (D) Baiju Bawra
At whose command did Tansen sing ?

(A) sant haridas (B) God (C) Akbar (D) Baiju Bawra
For whom did sant haridas sing ?

(A) Akabar (B) God (C) his diciples (D) Tansen
'King of kings 'means

(A) Tansen (B) Akbar (C) God (D) maharaja
“command” means

(A) order (B) request (C) control (D) ruler

Who sang better than Tansen ?

(A) Akbar (B) Birbal (C) Birju (D) sant haridas
Where did sant haridas live ?

(A) Tenament (B) Banglow (C) hut (D) flat

w2l 201 ewidl.....

(A) musician (B) musisian (C) muchician (D) musichhian

Colour of a leaves is
(A) Blue (B) Green (C) Yellow (D) White
" Very well, Ustadji” who said this__ ?

(A) Birbal (B) Tansen (C) Haridas (D) The King
A2 Y3l AGE AL

(A) Malhar (B) Dipak (C) Garba (D) Kedar
Sant haridas lived in__

(A) Bhavnagar (B) Vrundavan (C) Ahmedabad (D) Banglore
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D C B D B C B C B C
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A D C A B D C B
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1. Which fair did Tina visit near Halol ?
(A) Village fair (B) Town fair
2. With whom did Tina visit the village fair ?

(C) Business fair

(D) None

(D) parents

(D) bike

(D) evening

(D) four

(D) toy plane

(D) announcement

(D)harmful

(D) book fair

(D) No entry fee

(D) autorickshaw

(D) with a smile

(A) Teacher (B) Uncle (C) Friends
3. How did Tina go to the village fair ?

(A) bus (B) car (C) auto rickshaw
4. When did they go to the fair ?

(A) morning (B) afternoon (C) night
5. How many temples are there outside the village ?

(A) one (B) two (C) three
6. Where were the children standing ?

(A) at the toy shop  (B) at the sweet shop (C) at the ice cream shop(D) at the cloth shop
7. What were the children looking at ?

(A) toy train (B) toy bus (C) toy car
8. The loud speakers were playing .....

(A) film songs (B) bhajans (C) dialouge
9. ‘Wonder ful' means....

(A) houseful (B) great (C) useful
10.  Where was the school trip ?

(A) Abu (B) fair (C) trade fair
11.  What was the entry fee of trade fair ?

(A)Rs. 5 (B) Rs.10 (C) Rs.15
12. How did children go to the trade fair ?

(A) train (B) bus (C) car
13.  The girls were answering the questions.....

(A) slowly (B) quickly (C) angrily
14.  'Demonstrating’ means.....

(A) showing (B) asking (C) talking

15.  What was there at the end of the trade fair ?

(A) clothes stalls (B) music stall
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(C) fast food stalls

(D) answering

(D) toy stalls
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17.

18.

19.

20.

ALY A 419y SHHL NS

(A) for (B) a (C) thank you (D) your (E) letter
(A)B,C,D,A (B)B,AC,D (C)A,B,C,D (D)B,C,A,D
(A) broke (B) fell down (C) He (D) his (E) and (F) leg
(A) C,B,E,ADF (B) B.E,AD,F,C (C) AB,C,D,EF (D) B,E,C,ADF
(A) atree (b) climbed up (c) Radha
(A)C,AB (B) C,B,A (C)AB,C (D) BAC
(A) on (B) sat (C) a branch (D) He
(A) AB,CD (B) D,B,AC (C)B,AD,C (D)D,C,B,A
A person who plays music is called ..........
(A) Doctor (B) singer (C) musician (D) magician
<+ % ANS. KEY «+ %
1 2 3 4 5 6 7 8 9 10
A D C B A D A B C
11 12 13 14 15 16 17 18 19 20
D B D A C B A B B C
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DAL uRWe il d-) DA 2udar usdiqn el DA 2uden [Aseuinidl qiou [@Qsey uais 53 quil

A In your science books you have read about energy. Do you know what is meant by 'Solar
energy' Well, it is the energy from the sun .Solar means from the sun. As you already
know, the sun is a bright star. The earth and other planets move around it. This is our solar
system.

1. The energy fromthesunis __ energy.
(A) star (B) solar (C) mooner (D) lunar

2. Thesunis
(A) star (B) Planet (C) settalite (D) None

3. The Earth and other stars move around
(A) star (B) Sea (C) Planet (D) Sun

= In India the sun usually shines very brightly. That is why the Indian summer is
extremely hot and long. All of us have experienced the hot summer days. We feel restless-
during this season The strong sun rays cause sun strokes, too. We are forced to protect our
selves from the harsh rays of the hot summer sun. However, we have invented many ways
of protecting our selves from the scorching heat.

4. The Indian summer is
(A) Hot (B) Long (C) dull (D) A & B both

5. In which season we feel restless ?
(A) summer (B) winter (C) monsoon (D) None

6. The strong sun - rays cause __ strokes.
(A) star (B) sea (C) Planet (D) Sun

A Now We have found a way to use the hot rays of the sun. The scientist have successfully
converted the heat from sun - rays into electricity. As you know we need energy to run
vehicle, to light our and streets, to cook food, to run factories, even to run our television
sets and computer, we make use of different kinds of energy for different purpose. In the
same way, We get energy from various source. These source are coal, petrol, water, wind
and soon.

7. The _ have successfully converted heat from sun - rays into electricity.
(A) Tailors (B) Drivers (C) Doctors (D) Scientists

8. We need energy for
(A) cook - food (B) run vehicles (C) run over (D) All of these
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19.

Which is not our energy source ?
(A) Petrol (B) wind (C) koyal (D) water

Scientist have generated electricity from the sun rays In fact, scientists believe that in a
warm country like India, the sun can be a major source of energy . During recent times,
numerous experients have been conducted in Gujarat to tap this natural source of energy ,
The heat from the sun-rays is utilised to produce electricity. People have already started
making use of solar cookers, solar heaters, solar batteries etc.
Indiais a country.
(A) big (B) unbright (C) dull (D) warm
The heat from sun-rays is utilised to produce
(A) electricity (B) Gujarat (C) experiment (D) Televison
In India people have already started making use of
(A) solar cookers (B) solar heaters (C) solar batteries (D) AB,Call

Numourous experiments have been conducted in to tap this natural source of
energy.
(A) Gujarat (B) Rajasthan (C) Maharashtra (D) Delhi

Have you noticed shining , glass - like plates on the top of multistory building , hospitals,
hotels, factories and office ? They are solar heaters This device collect energy from the
rays of the sun. This energy is converted into heat. The heat produced from solar energy
used to heat water. This water, Then, is put to varried uses such as bathing, cleaning,
washing, drinking and so on.

Which device can collects energy from the rays of sun ?

(A) electric heaters  (B) Gas heaters (C) Molar heaters (D) solar heaters
The hot water is used in

(A) drinking (B) washing (C) cleaning (D) A, B, Call
Which is energy is converted into heat ?

(A) solar (B) Lunar (C) Mooner (D) Star

Man has taken help of science and technology and developed varied ways of produsing
energy from differnt source. The sun is a souce of abundant energy. Let us hope that we
are able to use solar energy and provide electricity to remote areas in our country.

Is a source of abundant energy.
(A) The planet (B) The star (C) The moon (D) The sun

Give the past tense of 'take'?

(A) took (B) taken (C) taking (D) is took
The sun is a source energy.

(A) less (B) medium (C) abudant (D) none
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20.

21.

22.

23.

24,

DA vl orour Wi Gzl Aoy [Asey Al

shall go for a walk

(A (B) me (C) my (D) mine
He told a story.
(A) we (B) our (C) ours (D) us
is standing near a temple
(A) I (B) we (C) He (D) They
They _ plucking flowers.
(A) are (B) was (C) am (D) 1
He willcometo  house
(A) we (B) our (C) ours (D) us
<+ % ANS. KEY «+ %
1 2 3 4 5 6 7 8 9 10
B A D A D D D C A
11 12 13 14 15 16 17 18 19 20
A D A D D A D A C A

21 22 23 24
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Y AYe — UAH AA

ke : 6 2wsu: 1 vy : afia BSH UH : M 20AW
1. uduusui giddl 2u83vud o s ?

(A) X x1a (B) Y »a (C) Zxna (D) A na
2. wudv urHi eiRdl Gledl JvuA g sy ?

(A) X x1a (B) Y xia (C) Zua (D) Axua
3. VUAMHL WA WIRAHL 6L 2Al@ AR idR 3 AvHL 20d €9 ?

(A) %8 — %% (B) uvi (C) A 21 B i (D) »isum ¢l
4, DAuniefl sui 2184 wHRHY Ad ud 9 ?

(A) X & (B) Y x1& (C) Zuna (D) A =&
5. Y 28 uR uHRA-HIY 5d) fld A58 saumi 2ud 6 ?

(A) 2udvil HulgiA eaui Al (B) X 281+l naigid earriui vl

(C) Y a1l maietd euimni vl (D) Z &l HalsiA eqisni vl
6. A1 d X 218 uR s Wl Aanmi 2ud © ?

(A) Avaeus (B) 2weucHs (C) A, Bein (D) »isum ¢l
7. A1 A Y 218 uR 3l MRl A >ud €9 ?

(A) Avauiens (B) 2weucHs (C) A 21 B b (D) 2isum el
8. et ndv w2 AA-uuigd s [Qar iz © ?

(A) HlRdl- 22114 (B) Hl8dl Amopaimi 2l 2188 ui 8.

(C) ledl Atncuell Au s 9. (D) W&l ditn unu Yl we 8 9.
9.  2udwui 1 Al-u Jeq euol s i ?

(A) 1 (B) 2 (C) 3 (D) 5
10.  udw uaAni 8 208l i Gl vl g6l Sai vl 9 O ?

(A) aasia (B) 235121 (C) A 24 B 6iql (D) stewal
11, 2udvnl 215 $cl a4R HURAL 3dl Ad Had) asi ?

(A) 8l Ad (B) x4 (C) A i1 B vid (D) »isum 1l
12, 200 wlRdl woror 215 uull usiudann, Glai QAR AMA Sl 2UAM sy ?

(A) sigsial (B) as 2udw (C) e vudw (D) $ad 2udv
13, 2udui-l Guaia Da-unidd 59 susding wy 9 ?

(A) adui-usti (B) aumlst (C) 2l (D) GURisd dHI1
14. s Al doud/usions w2 sl sl suadt W dl-L A ..., PRE)

(A) aHumuu (B) »idz (C) unaHu (D) a-/Hle=
15. 2udvini su9: 8l 6L ) vuil 423 32¢ 2id Sl e ?

(A) 134, (B) 2 A (C) 8 A (D) 10 Al

%+ ¥ ANS. KEY &+ %

N
w
o
ol

6 7 8 9 10 |11 | 12 | 13 | 14 | 15

B, B| B A | B|A | B, D|D |B|C|]D|C]|A




Y AYe — UAH AA

ke : 6 2wsu: 2 vy : afia Bsud UH : WRRAR 24 Aasn
1. aRud ol ougll doud-i araonn g sda 8 ?

10.

11.

12.

13.

14.

(A) uRa (B) &asn (C) uRMla
ARANAURMA = ................

(A) 41 (B) 3l (C) 5l

2 Al dousaon Aa- uRMMA Sedl i ?

(A) 8 Asll (B) 5 a: (C) 7 A

15 Al dousain 2R 3Hadl uRRE dadl wx ?

(A) 35 A (B) 40 2, (C) 45 2,

8 122 dousHi Ak 2531+l uRMA 32¢l ay ?

(A) 30 Hle= (B) 40 #le= (C) 32 Hle=

10 Al dous-l Ay 2udexdl R 32l i ?

(A) 40 A (B) 45 Al (C) 50 sl

cot ARl i) sugrll dous - ucuoun 3 s 9 ?

(A) uRa (B) A0 (C) WBRR
AotARAHL AHAAAL 247 WA oug L HIY Sal Siu 9 ?

(A) uvu (B) sl %EL (C) A 21 B b
doiRAA uRME = ..............

(A) 2I (B) 2 (I + b) () 3l

6 Al dousS 2 4 Al usiousau deaiu-l uRRE[ 32a A ww ?
(A) 20 Al (B) 10 2 (C) 12 2
ARA AASN = ............

(A) d@eus x dous (B) usius x dous  (C) dous x usious

8 Al dous aRnddL ARAL AASN ... A,

(A) 64 2s) (B) 68 ) (C) 45 A
5 Al dous-L AR Astsn Sed Au ?

(A) 26 3l (B) 45 A (C) 25 A
AeAIRU Assn =

(A) dous x ugious  (B) doud x Qs (C) dous x dous

(119)

(D)

(D) 101

(D) 9 Asll

(D) 60 3l

(D) 10 #le=

(D) 80 A

(D) e

(D) 2isur ]

(D)3 (I1+Db)

(D) 13 a4

(D) »isum 1l

(D) 41 2,

(D) 41 2,

(D) ugioug xugious




15. 90 Al deus 1 70 Al ugioudawn o4 AAsa ........... Al iy ?
(A) 6400 (B) 6300 (C) 6100 (D) 3500
16.  lalle=........ |
(A) 10,000 (B) 5,000 (C) 4,100 (D) 100
17.  5aL#le= ... 2.4
(A) 5,000 (B) 4,500 (C) 100 (D) 50,000
18.  6,00,000 aLAM = ............... . Hle?
(A) 45 (B) 70 (C) 48 (D) 60
<+ % ANS. KEY «+ %
2 3 4 5 6 7 8 9 |10 |11/12|13|14|15|16|17 |18
A/A D C A|C| A B|IA|/AIA|IC/A/B/ A D|D
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Y AYe — UAH AA

ke : 6 Asu: 3 vy : afia BsU U : 251
1. % d ldaAazu .............. 8.
1 1 1 2

(A) 3 (B) 1 (€) 5 (D) 3

2. DaAumid quaAyis sui o ?
11 11 4 6 25

(A) 7 (B) = (€) 312 (D) 37
3. % 2041517, A[AARBA 3U BUUAL AV HA dal HYRISA ... PRE

(A) [aum 2xyils (B) uu »yuils (C) A 21 B b (D) »isum ¢l
4. 50 wiell 20 124 seal 25t ?

(A) 35% (B) 40% (C) 25% (D) 41%

3
5 g %

(A) 35 (B) 40 (C) 75 (D) 100

4
6 10 T %

(A) 30 (B) 35 (C) 41 (D) 48
7 0.7 = v %

(A) 48 (B) 45 (C) 40 (D) 70
8 0.9812=............... %

(A) 98 (B) 98.12 (C) 48 (D) 48.12
9. 300 -1 20% Aeq ..............

(A) 40 (B) 45 (C) 60 (D) 65
10. 100 u75% 24 ............

(A) 45 (B) 58 (C) 70 (D) 75
11. 2600 %l 910 =................ %

(A) 84 (B) 48 (C) 58 (D) 60
12. 5000 120% = .................

(A) 87 (B) 88 (C)87.5 (D) 1000
13, 2stvied 2UUAL YHIBL ..o AL AUAR HO YA,

(A) 10 (B) 100 (C) 50 (D) 500
14. 28l d3d v 8.

A{} B[] (C) % (D) +
15, 2uudl Avamiell s dvan 4dl ved ............... 25L.

(A) 15 (B) 20 (C) 30 (D)0

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15
A C B B C A D B C D A | D|B|C|D




Y AYe — UAH AA

qiRL: 6 2sH: 4 QN : Al BSH UH : 1S — Wiz
1. sausadwdle Bud " 1900 9 w4 a3 ="18009. di............. S viie o,

(A) 50 (B) 100 (C) 35 (D) 200
2. ﬁ x100=............

(A) s (B) wiz (C) «isi (25141) (D) vz (251u1)
3. w"‘ﬁ %100 = oo

(A) sl (B) wiz (C) «isi (25141) (D) vz (251ui)
4. Y [3 = 235, wawsid = 15, .5 = 225 gl di ... NEL TR

(A) 25 (B) 50 (C) 30 (D) 40
5. wE=

(A) 4B +als (B) 4[5 + va (C) vond + 4[5 (D) B 241 C bid
6. Al —uwE=........

(A) wie (B) sl (C) waxid (D) 2isun «dl
7. wB-aB=....

(A) s (B) wR1d (C) wie (D) A 244 C 6id
8.  @deusy 500 HiwAed - 2 du-t Pad 500 Ui ddl............. % sl .

(A) 10 (B) 20 (C) 30 (D) 0
9. Y [3="250,d.5="285 disi=.......

(A) 14 (B) 15 (C) 18 (D) 20
10. 1 d2sdMi3udR e, Hal,

(A) 35% (B) 40% (C) 38% (D) 100%

<+ % ANS. KEY <+ %
1 2 4 5 6 7 8 9 10
B C A D B C A D




Y AYe — UAH AA

ke : 6 Asu: 5 vy : afia BsU UH : A A AAls
1 2°Ui5 A 8

(A) audrazu (B) a2 (C) tudis (D) A4 C bin
2. 3wl 8

(A) ad a3y (B) 4R (C) anais (D) B 2t C bid
3. 22 diuRaddamusir = ..., A,

(A)2x2x2x2 (B) 2x2x2x3 (C)3x3x3 (D)2x2x2
4, 2x2%x2%x5x5484da3 ... CIETOR

(A) 2° x 52 (B) 2* x 5° (C) 2° x 2? (D) 2Asuz =l
5. "o+l AR A" A AU AW e CIRID

(A) 12* (B) 12° (C) 4% (D) 4°
6. 1°0ABud= .o, Q.

(A) 8 (B) 9 €)1 (D) 0
7. 10°BHA= e, A,

(A) 100 (B) 1000 (C) 10 (D) 10000
8. 4 x2*ABud= ... A,

(A) 62 (B) 64 (C) 68 (D) 61
9. 6ABUA= oo Q.

(A) 200 (B) 220 (C) 216 (D) 300
10. 1'x5°x6ANBUd= .............. A,

(A) 35 (B) 40 (C) 45 (D) 150
11. 13 x13x13 x13x 13 x 13 x 13 A Ald A3 ...erevevee. CIETOR

(A) 13° (B) 13° (C) 13° (D) 13’
12, 1°x4°x5ABHA= e JTON

(A) 320 (B) 331 (C) 345 (D) 300
13.  SPwiaarR = .............. A UALS = e 8.

(A) 4, 9 (B) 6,9 (C)5,9 (D) 10, 9
14,  all AR AdA ... DR

(A) 3 (B) 3* (C) 3° (D) 3*
15. 125= ...

(A) 2° (B) 5° (C) 3° (D) 4°

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13| 14 | 15
B D A A C B B C D D|A | C | B | B
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Y AYe — UAH AA

ke : 6 AsH: 6 vy : afia BsH U : sigudl
1. a Hidl 7 oue selt 21 (A8 AiSdls AZUHL v Qv

(A)a+7 (B)a—T7+ (C) A 21 B bid (D) »isum 1l
2. X il Alost ARl 5 BHReL dd duelldls a3y .............. CIETOR

X X X X

(A) 3 (B) §+5 (©) Z+4 (D) E+5
3. 13 wigdl 516 25 Aval BUE 52dl A ASALS ¥AIUML ... v,

(A) 13 (B) 13 + x (C) 13 — X (D) 13 +a
4, 5x + 6 4 uldlds [@e ............... 8.

(A) X -4 aumi 5 GHdL (B) X -1 5 2ueumi 6 Gl

(C) A, B 4id (D) AAsuat 1l
5. GgULL YEL .oereeeene. Rau-) a3 isiden sia 8.

(A) x (B) + (C) x5+ (D) +5-
6. 9 +5x+ 7 uiuedl Al ... 8.

(A) 1 (B) 2 (€) 3 (D) 5
7. XPyzuiuedlava= ... 8.

(A) 1 (B) 2 (€) 3 (D) 5
8.  6a+5b—10ab—a’— b%ui el zvul............ 8.

(A) 2 (B) 4 (€) 3 (D) 5
9. FogudMi.......... ug Sl dA Hisudl 58 8.

(A) 1 (B) 2 €) 3 (D) 6
10. @ Ui ... ug i d s uglA [Budl 58 9.

(A) 1 (B) 2 (€) 3 (D) 6
11, B ogudldi e ug Sl d s Ul Bugl 58 6.

(A) 1 (B) 2 ) 3 (D) 7
12, 5X°ui HAN Vg .......... 8.

(A) 5 (B) x (C) 2 (D) 3
13, 9%° GgULIUL AU UE e 8.

(A) x (B) y (€) 9 (D) B »4 C ¢id
14, ADA-umidl 58 uoidla uel ogis o ?

(A) 5x, 3y (B) 94, 9y? (C) 24, 9x* (D) A 244 B 6i
15.  DaA-uuiedl 56 Qondly ued ois & ?

(A) 5x, 3x (B) 9%, 3% (C) 9y, 77° (D) 3x, 4x

%+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15
B B C B D C A D A B C/|A A |C|C




Y AYe — UAH AA

ke : 6 qsu: 7 vy : afia B$H UH ¢ dordvn
—— P
1. usioruad avd sievpi Anaa sl ... Al GuUdL 53 B ?

(A) a4 (B) 84l (C) wa (D) 2Aiell
2. I ETRVETER EI2 1 10 Ad olsadal giu 8.

(A) AHiar (B) du (C) A 21 B i (D) »isum ¢l
3. visollogid sievel Oedl v ... sdald

(A) Auidz (B) dnt (C) A A B 6id (D) Bisua il
4, SWAGUSA-L SUL A4 GUALRL S12vEl Aondal iy 8 ?

(A) »182igs (B) ulRs: (C) 2udl (D) stevielly
5. vl A maisellond dor 8. di dd d3ddHi ............ v,

(A)lem (B)l ¢ m (C)l=m (D)1 Lm
6.  2udviui Goll 2A 20dl vl iselogiA ... Siu 8,

(A) unia: (B) do (C) uu_u (D) wisua Al
7. UL AZEAHL 8AL 39U YL AselogA ... Sl 8.

(A) uuia: (B) 4ot (C) uuut (D) 2isum el
8. AUIAR 1 iU dd) vl 2iseogiA ........... [Bigui 92 6.

(A) 1 (B) 2 €) 3 (D) 4
9. i ol Big 21ed ..........

(A) vu ur 2udg Big (B) vt 6111l GUoHL 20d 4 [Big

(C) A »i1 B bid (D) »isum 4l
10. vyl 2udd [Gig 2ied ..........

(A) v w2 2udg big (B) -l et MRl 2udd [Big

(C) A 2 B i (D) »isum 4l

%+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10
D A D D B A A B A
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Y AYe — UAH AA

Qe : 7 2Asu: 1 vy : afid BSH UM : G 20AW
1. adousiz uea gil saMl 2uadl AL Rseus 0g21dA 9 s ?
(A) 2™ 2udu (B) dtt 2udv (C) adn—2udv (D) »isua Al
2. adnidl 3% W@ 611 veUHL ML AN Sedl iy © ?
(A) 180° (B) 300° (C) 90° (D) 360°
3. adol 2udviHl 27 24l R samu = ................
sAHIY HRAA Wy samy x WRA Wy 3
—=—"" %360 (B) —/——=——x360 (C) = 2 D) 2isuat ]
(A) wldld Wy ®) SAHY ©) 360 (B)
4. adn 2udvil 2 2l ulddl-u est= ..............
HRdld Huu sqau x W8l Wy 544 N
A) —/—=——x100 (B) 2 L C) —=———x100 (D) @isua «dl
A) SAHIY ®) 100 ©) HRdld 1y (©)
5. 20AL adnul 2udu 4o s4 3600 Baium wis wdl s iacuss wdzuidl 53 dui aa-d wldl Sea

Baiuu 9 ?
(A) 400 B

(Edan
25%

(B) 360 B
(C) 300 B
(D) 500 (32
6. s [Bienaui uddl uin iaui 2dd 54 50 -1 sladl ado 2udv saldd 8 dl e sidaui s2dl
Yyl ? N
YAH HIAR — 6
(A) 18 2+ .
Al siax — 12
(B) 12 2+ NN
Qifl 2192 — 142
(C) 631
viadl 2 - 18
(D) 14 2+
7. s wou- 60 cunsi ¥HALAAHl FE1-%El uAIML L el ol adn—sudv udl dle—2uAl Juaui

Sedl sunsiz cuRL dlal ?
(A) 15 sunsi
(B) 18 sunsi
(C) 20 sunsi
(D) 25 sunsi
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215 a3 AUl s 300 - 2 9, dl adn—sudu uell oeud 3 ai-laA sa Sear - sul e ?
(A) 100 2
(B) 80 2+
(C) 90 2+
(D) 60 2+
Y21
20%
<+ % ANS. KEY <+ %
1 2 4 5 6 7 8
C D A B B A
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Y AYe — UAH AA

QiRRL: 7 wsH: 2 Qv : AR Blsus UM : yails Ava
1. a0 WSl dzaa vyl 58 ¢ ?

(A) 1 (B) 2 (C)0 (D) 3
2. 65+ (—35) = ..o A1y,

(A) 30 (B) —30 (C) 100 (D) —100
3. 16 < [RUa e ornual.

(A) 0 (B) —16 (C) 16 (D) Asuat 1l
4 14 x (7)) = e Ay

(A) 98 (B) 98 (C) 21 (D) 7
5. (-17)X0= e, au

(A) 17 (B) -17 (C) 34 (D) 0
6. [4+(B)]+7=n AW,

(A) 16 (B) -16 (C) -6 (D) 6
7 | -25|= i Ay

(A) 25 (B) 25 (C)0 (D) 50
8.  anyais yraddl 56 cugm sl 9 ?

(A) 316l bueg (B) wnell buog (C) aHd buy (D) 2isum el
9. yuils Avaiiui Al aHdL w9 ?

(A) 2-d 1 4 vt (B) 2urd i 01 Avaiil

(C) &t 244 1 vl (D) guru, G-t i 0L vl
10. Akl el wglas v 56 6 ?

(A)0 (B) 1 (C) 2 (D) 3
11, sidugAvai-d Rde yeu g siu ?

(A) a~u (B) a- (C) uw (D) g=u 21
12, wiglas Avaini DA-umied s6 Avan - 20d ?

(A) 0 (B) 1 (C) -1 (D) 0243 (~1) ¢id
13 6—(5) =i A1y,

(A) ~11 (B) 1 (C) -1 (D) 11
14.  awusik Wil dee v 56 ¢ ?

(A) 0 (B) 2 €)1 (D) -1
15. ol is-l Al Wil yauls Aqvan 586 9 ?

(A) 98 (B) 10 (C) 99 (D) 100

%+ % ANS. KEY &+ %

=
N
w
o
ol

6 7 8 9 10 | 11|12 |13 | 14 | 15
c|/A|C|B| D, D A, B|D|B|]C|D D|C]|C
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Y AYe — UAH AA

QiR : 7 2sH: QN : Al 25U N : Qo 244 iy
1. % Avurll UL 215 2 3 8 Sld drll Rl SisH-AL 25 9 20d ?

(A) 6 (B) 4 (©) 8 (D) 2
2. % AvAAL BsHAL 5 4 5 6 1Y dril A2l ASUAL Bis 9 wud ?

(A) 6 (B) 4 (€) 8 (D) 0
3. @ AvAAl BsHAL YIS 3 3 7 i dril Ad(AL AsHAL 28 9 20d ?

(A) 7 (B) 3 (©) 9 (D)5
4, R AvAl-l AsHAL VS 3 5 7 Sl dril Ad(AL 2sHAL 25 9 204 ?

(A) 0 (B) 1 (€) 3 (D) 9
5. % dvaidl AsHAL vis 5 Sl dril adl-i Heal 6 vis 2ud ?

(A) 15 (B) 00 (C) 25 (D) 35
6.  yelad] Avaidl 2su-l vis DA-unidl 58 Avar 4 iy ?

(A4 (B) 6 (€)0 (D)2
7 V100 = e AU

(A) 1 (B) 0 (C) 10 (D) 20
8. % dvaidl wsUAL 2i5 0 S d-il adl-i Heal 6 uis 9 »ud ?

(A) 00 (B) 25 (C) 10 (D) 35
9. Auniefl 56 yelaol dvan e9 ?

(A) 125 (B) 27 (C) 64 (D) 325
10.  ADA-umifl 56 yeiaot Avuy =2l ?

(A) 81 (B) 16 (C) 64 (D) 216
11. 3136 =............. Y

(A) 50 (B) 54 (C) 52 (D) 56
12, 2=

25

(A 22 (8) 22 (©) 2% (D) 32
13, 396 A -t Al 56 v a3 euorenell yeladl Ava vid ?

(A) 12 (B) 13 (C) 11 (D) 14
14, 2116 =wueererernnes :

(A) 4.2 (B) 3.2 (C) 3.4 (D) 4.6
15.  1,4,9,16,25,...2....... wsaeel-{l oroui 56 vul 2ua9l ?

(A) 49 (B) 36 (C) 64 (D) 81

%+ % ANS. KEY &+ %
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15
B A C D C D C A C D DI A|C | D|B




Y AYe — UAH AA

Qe 7 AsH: 4 vy : afia BSH N : S—l2
1. A dAAL YR [5Hd 521 HAdl aqua-l 2544 9 sSaun ?
(A) st (B) w2 (C) wsid (D) ecucll
2. % [5Hd duidl azd 4 d [BHdA g s8aua ?
(A) usdr [Bua (B) wle [5ua (C) dauw [Bua (D) scudl
3. ad dudl Usdr (Bud sc Fecll 254 29l 1oL d 54 U sduu ?
(A) s (B) wiz (C) wd (D) scardl
4, A AAAL U3dR [BHd $2d1 B2l 251 21l MO d 25uA 9 s8a1y ?
(A) s (B) wi2 (C) wRd (D) sardll
5. udl Bud 51 Bedl 254 dwidl 16l A dedll 54 wAleuR W g s ?
(A) sl (B) wiz (C) wRd (D) andz
6.  Mi2=...........
(A) yalsud + vind (B) usdz [(Bud — yo [54d
(C) usdz Bud — quw [5ua (D) usdz [5ud — scandl
7. A= s
(A) a2t Bud — usdz [Bua (B) du (31 + scudl
(C) A Bua + viaend (D) usdz Buad — dm [Bua
8. 60 3. Nl axd 63 3. uidudl Sec 251 s wa ?
(A) 5 % (B) 10% (C) 3% (D) 7%
9. s axddl yalEud 3. 750 Sid A WA 3. 50 S1d di usd [Bua Sedl i ?
(A) 700 3. (B) 800 3. (C) 860 3. (D) 720 3.
10.  31.55,000 -1 Bud w2 14% s = .................. 3L
(A) 7000 (B) 7500 (C) 8000 (D) 7700
11. 3165 N [Eud 42 20% and2 = .................. 3L
(A) 15 3. (B) 13 3u. (C) 17 3. (D) 11 3u
12, 311800 A BHA R 7% vz = ................. 3L
(A) 126 31 (B) 136 3u. (C) 116 3u. (D) 106 3L
13.  HalSud +vsd = ................ :
(A) usdr [5ua (B) ecudl (C) A (BHa (D) »isum ¢l
14. 40 31 D yalZud u2 10% AL = .................
(A) 14 3. (B) 2 3. (C) 4 3. (D) 6 31
15. % [5Hd dwidl azd wdle d BHdn g sea ?
(A) yalsua (B) usdz [(Bua (C) A [BHa (D) v [51d
%+ ¥ ANS. KEY &+ %
2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15
C B B D C A A B D B|A|A|C|A




Y AyYye — uAY AA

Qe 7 Asu: 5 vy : afia BsU UH : AHIAR vl
1. 5 Asr i weudi-lL Hiu-l 10l 2dl 2y ?
(A) 100° (B) 90° (C) 180° (D) 360°
2. AWsoisH vigudti-L WAL A0 Sedl 2y ?
(A) 100° (B) 90° (C) 180° (D) 360°
3. y2ssiatdl il WAL AU S2dl A1y ?
(A) 180° (B) 120° (C) 90° (D) 360°
4, ¥isvppud Hu 50° 9, di d-l st ol vend Hu e iy ?
(A) 40° (B) 130° (C) 50° (D) 180°
5. ol uuid: nii-d SE sl yousiadl sa 2¢ll ois 1A ?
(A) 4 (B) 6 (C) 8 (D) 2
6. 6l uuidR uii-l SR st vid:siadl sa seell ois ual ?
(A) 2 (B) 6 (C) 4 (D) 8
7. Gl uuidR ui-l SR siel 2xnsiendl sa s2dl ois A ?
(A) 2 (B) 6 (C) 4 (D) 8
8. ol uuid: vui-dl S[Esiell sintdl 2ic: SRl AiseL VRUIAL HIUAL AU 52l i ?
(A) 90° (B) 100° (C) 180° (D) 240°
9. s vpud Wy 30° O di dl sid: s s voud wiv Sed w ?
(A) 100° (B) 120° (C) 150° (D) 60°
10. s vieud Wiy 70° © di d-l yousia-l ois veud Wiy S2q A ?
(A) 70° (B) 20° (C) 110° (D) 180°
11, 6 uuidR Jvui-d S sl s Sean vyau oA ?
(A) 2 (B) 4 (C) 6 (D) 8
12, s vieud Wy 80° O di d-t ABisois-u vpgud Wi e 2y ?
(A) 120° (B) 100° (C) 10° (D) 180°
13, s viRud Wiy 45° © di d-l Silsie s vRud HIu 324 A ?
(A) 60° (B) 135° (C) 100° (D) 45°
14, Jwuailty 2t t) AHIAR O dl d ASaui 56 Ad vy ?
(At Lt (B)t, =t Ot It (D) Bsu il
15.  sui—su1 usi-D is- viRuieL yHL Aol 180° wy € ?
(A) 5141518 14 yousial (B) 3oH518L S 5101
(C) s1dlsia 214 s i3 (D) 315 %13 2 vic:siadl o
%+ % ANS. KEY &+ %
1 2 3 4 5 6 7 8 9 10 | 11 | 12 | 13| 14 | 15
B C A C D A C C C A D|B|D|C|D




Y AYe — UAH AA

Qe 7 2Asu: 6 vy : afia BsH U : sigudl
1. 3x?uedi usoLas orvudl.

(A) 2 (B) 3 (C) x (D) 2suat -l
2. 3%, 4 +5,3¢+2,6x°+5y+8uiAsudl 56D ?

(A) 4 +5 (B) 3x (C) 6x° + 5y + 8 (D) 3x% + 2
3. oguglaiq aaon s Wl sedl Qdi 9 ?

(A) 1 (B) 2 (C)3 (D) 4
4. 5m—4n+5y, 3x° +2, 10X A4 5x + 2 wi Budl 58 & ?

(A) 3x% + 2 (B) 10x (C) 5x + 2 (D) 5m — 4n + 5y
5. 5x2, 7y2, 8x, 9y, 10Xy, 4x? ui uondla uel su s 8 ?

(A) 8x, 9y (B) 10xy, 4% (C) 7y, 4% (D) 5%, 42
6. 2X2 +4X +5,7x, 8y° + 4, 10X — 6X + 5 i Ruel 56 & ?

(A) 7x (B) 8y + 4 (C)2x* +4x +5 (D) 10x*—6x + 5
7. A -unie Qondla ueidl 713 56 © ?

(A) 7xy, 9y (B) 2%, 3% (C) 5xy, 8xy (D) 6x%Y?, 9x4Y?
8.  2x%+3y+ zogudlui et uda ual 8 ?

(A) 1 (B) 2 (C)3 (D) 4
9.  3a%ued uwidla ue NaA-unisl 53 a9 ?

(A) 7X2 (B) 9y? (C) 4a (D) 2a*
10. 42— (-B6XYD) = oo,

(A) 4%% + Bxy? (B) 10xy? (C) 4%* — 6xy? (D) 24x%y
11, 2X+2X—3 =i,

(A) -3 (B) 4x (C)4x-3 (D) 4x* -3
12, Am*+7+3M*= i,

(A) 12m* + 7 (B) Tm? + 7 (C)m*+7 (D) Asuat il
13.  15x+ [Rendl ue orsudl.

(A) 3% (B) 7x° (C) 8x (D) 92
14.  (10X2+6Xy + V) = (= V) = coverer.

(A) X* + 6xy +2y*  (B) 19x% + 6xy? + 2y* (C) X* + 6xy (D) 19x* + 6xy
15. 2x—4y A [l sigud 586 ?

(A) 2x + 4y (B) — 2x — 4y (C) —2x + 4y (D) 2% + 4y®

<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10 |11 | 12 | 13 | 14 | 15

B | B | B, D | D | B]A|]C | D]A|]C|B|C|A|C
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Y AYe — UAH AA

Qe : 8 2sH: 1 QN : Al BUSH N : QL A Ay
1. sl 2is v AR qvid @S d-leusi sl d vl ............ ua,

(A) adl (B) a- (C) ueuni (D) sisuw dl
2. 10 -l &t scuell und) Ava 56 € ?

(A) 100 (B) 10 (C) 1000 (D) 10,000
3. 17656 Avaiui sus-l »is sui ?

(A) 6 (B) 1 (C) 7 (D) 5
4 7=

(A) 3 (B) 4 (€)5 (D) 6
5. ol ivldl AAsH-l 15 2 i di Al aq sl HOdl vl gL s sul?

(A) 2 (B) 8 (C) 9 (D) 7
6. 5 Al axt sl Hadl v 56 ?

(A) 150 (B) 500 (C) 100 (D) 125
7. 343 AL aAyn-l dvan 56 ?

(A) 3 (B) 7 (C) 6 (D) 9
8. 17656 Avaimi 4l HL 2is sUL ?

(A) 6 (B) 5 (€)1 (D) 7
9. 64 - adiyus ayo daidl 56 dvuL 1o ?

(A) 8 (B) 2 (C) 4 (D) 6
10. 704 4 59 dvan ad cuorcull wdl dvan yeiaq oA ?

(A) 3 (B) 4 (C) 10 (D) 11
11, Daiumiell 56 v yoian ¢ ?

(A) 4 (B) 10 (C) 100 (D) 64
12. "8 danyn tieR 2" 5l Ad avna ?

(A) =2 (B) ¥2=8 (C) VB8=2 (D) ¥a=2
13. 11 i aq sl Hadl iva 56 ?

(A) 3131 (B) 1331 (C) 1313 (D) 1133
14, Dumidll 59 yelaq Aqva 4l ?

A) 1 (B) 25 (C) 27 (D) 64
15. 4096 -l 4Ayu-l AsU-L i AL A ?

(A) 6 (B) 2 (€)0 (D) 8

(133)




16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

729 Al 4yl S5 215 Al A ?

(A) 9 (B) 6 (C) 3 (D) 7
2197 4 a1y ............ AL,
(A) 12 (B) 11 (C) 13 (D) 17
1 ¢ 100 @23 32l yplan Avaii s 8 ?
(A) 3 (B) 4 (€)5 (D) 6
A2l-umiell 56 v yelan 9 ?
(A) 2312 (B) 704 (C) 1600 (D) 10648
Qe 59 Avard a1 216 wn ?
(A)5 (B) 6 (C) 7 (D) 8
315625 = ..veennee
(A) 15 (B) 20 (C) 25 (D) 35
258 -l st 53Ul W) vui-l AsH-L 215 Rudl.
(A) 8 (B) 2 (C) 4 (D) 0
QryuAl A5d ALY ?
AV (B) ¥ © ¥ (D) »sum il
56 vl 8- sl d-ll d o Avar2ud ?
(A) 2 (B) 1 (C) 10 (D) Asua ]
1 ¢ 1000 udlui 32el yelaq v & ?
(A) 10 (B) 9 (C) 11 (D) 8
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10
B C A B D B A D
11 12 13 14 15 16 17 18 19 20
D A B B A A C A D B
21 22 23 24 25
C B C B A
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Y AYe — UAH AA

Qe 8 2wsu: 2 vy : afia BsU U : AAY AvAAL
1. A2l-umiell 56 v wiglds © ?
(A) 0 (B) -2 (C) 2.5 (D) 2
2. Al el wiglas Avan 56 6 ?
(A) 0 (B) 1 (C) -1 (D) Bisua il
3. luniefl 56 Avan yol dvul aladl el ?
(A) 0 (B) 1 (C) -1 (D) 2
4, ALl Al yel Avan 56 € ?
(A)O (B)1 (€)1 (D)2
5. Yails AvAAUL Si-L A B D ?
(A) a- yaiist (B) 2 yaiisi (C) yu (D) A, B, C ~diu
6. (—gj Avyiui va A d ?
(A)5 (B)3 (C)-3 (D)-5
7. DAmied el 2iyels sai e ?
12 1 3
(A0 (B) 5 (©) 23 (D) 5
8. 0.5 satia 2yauisa AA-unidl 56 Ad sala ?
5 5 1 10
(A) 1 (B) 0 (©) g (D) =
9. (_gj A R 2iveu 56 7
4 4 3 3
(A) 3 (B) -3 (©) " (D) 2
10. (_%)x(_%) = e,
(A) 0 (B) 28 (C) 49 (D) 1
11 2/ Deuadaivu s ?
(A) % (B) -2{ ©) -% D) %
12. 0.01 4 »tyais a3 3dl {d auuu ?
A) 7o (B) Hoo (©) Hooo (D)1
13.  0+2 B = s
(A) O (B) %, (C) 1 (D) wsual +dl
14. V a3 law ddl v ............ AvaL 58 8 ?
q

(135)




15.

16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

(A) yais (B) 21ymuls (C) x¥n (D) 2isum el
2% Hi e, syas 69,
(A) 2 (B) % (©) 5 (D) %
y XL = e,
5%/2
(A)O (B) 1 (C) 10 (D) wisua Al
YxZ=
275
(A % (B) % (©1 (D)0
5 Y p . Y
(—3gj ! A A3UHL 56 Ad Qo ?
14 _ 13
(A) -5 (B) 23 (©) 2% () 2
0 -0l [QRid) zivan 58 €9 ?
(A0 (B) 1 (C) -1 (D) »isum ¢l
ARAU WIS d AvuL 58 8 ?
(A)O (B) 1 (C) 1 (D) »isum ¢l
AVUSIR HIS 2 vl 58 €9 ?
(A) 0 (B) 1 (C) -1 (D) 10
(%)x(%x%):(%x%)x% Ui sul ?L'Qlﬁl*{ 9 ?
(A) su-L s (B) %@l ey (C) aza divay (D) curd vl
25/ 1o " suia 2930 56 Ad salaw ?
(A) 0.25 (B) 25 (C) 0.025 (D) 25
0.021 4 2yauls :a3u 59 Ad quuy ?
(A) 2%0 (B) 2%00 ©) 2%000 (D) 2%oooo
(—%) A R et v 58 S ?
A -7, B % (©) 4 D) %,
<+ % ANS. KEY &+ %

1 2 3 4 5 6 7 8 9 10

D B C A D C D D

11 12 13 14 15 16 17 18 19 20

D B B C C B A C A A

21 22 23 24 25

B B A C D

(136)




Y AyYye — uAY AA

Qe 8 Asu: 3 vy : afia BsU UH : A A AAls
1. 28x2%= .

(A) 2 (B) 2% (C) 2° (D) 2
2. Bx3FxF= ...

(A) 3 (B) 3% (C) 3 (D) 3%
3. X o=

22

(A) 2' (B) 2°° ©)2° (D) %
T

(A) 3* (B) ¥ €)3° (D)3
5. (2)=

(A) 22 (B) 28 (C) 2% (D) 2%°
6. () =

(A) 3° (B) 3 (C) 3° (D) 3°

28 x2°
7. o = e

(A) 2° (B) 2 (C) 22 (D) 2*

29 %24
8. oo = s

(f;) 2° 9 (B) 2* ©)2° (D) 2*
9. A+ s a

(A) a2 (B) & (C)a (D) a*
10.  15x*+3x% = ..

(A) 5x (B) 5x° (C) 5x° (D) 3x?
11. (%Tg ALE U 2AUAL Ut Y WAL ?

(A) ¢ (B) 3 © 3 (D) 5
12.  9=8l8l™dlX=.......

(A) 2 (B)1 (€3 (D)4
13.  (_7_)=64

(A) 2 (B) 3 (€)1 (D) 4
14, 3*x3%=...

(A) 81 (B) 243 (C) 343 (D) 27
15.  32x*+8X= e

(A) 4% (B) 4x° (C) 4x (D) 4x*
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8 _
6 -
(A) % (B) % (©) % ©) %
17.  3PHi2Q32............ 29 QAALS oo, 8.
(A) 5,3 (B) 3,5 (C) 2,5 (D)5, 2
18. :_j: ................
(A) a* (B)a’ ©)a° (D) a’
19. z_zz ................
(A) 2% (B) 2°° €2 (D) 2°
20. (12°=3X ..oo....
(A) 4° (B) 4° ©) 4 (D) 9°
21.  (@b%)’= ..
(A) ab®c® (B) a*b°c (C) a*b°c? (D) ab’c
22. (%)3: ............
(A) Vs (B) %2 (©) 27 () s
23, (J§)°: ..............
(A) 5 (B)1 ()0 (D)5
24, o
-3)
(A) (-3) (B) 9 (C) 27 (D) —27
25, a&%- ..............
(A) a° (B) &° (C)1 (D) 0
26. 1 = .
(37)
(A) 372 (B) 3 (c)23 (D) 31
27, (6%) =
(A) 36 (B) —36 (C) 12 (D) 18
28. 4= ...
(A) 64 (B) —12 () é (D) —64
29. (32)% = .,
(A) 1 (B) 2 (C)3 (D)0
30.  (81)% = .o,
(A) 3 (B) 2 (C)9 (D)-3
<+ % ANS. KEY <+ %
1 | 2345 |6 7] 8] 9]10|11]12][13][14]15
D|B|]c|B|]c|]c|c|A|B|B|B|A[A|B]|B
16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
c|/Blc|D|]clc|bp|lB|B|]C|B|A|[]C|B|A

(138)




Y AYe — UAH AA

Qe 8 AsH: 4 vy : afia sH UH 2 A9 WRAA
1. a1 slfacl W2 sUl A3d a9 ?

A) () B[] (©) ~ O{}
2. LRI AU lal HI2 $UL A3 augA D ?

(A) = B) () (C) ~ (D) e
3. At gifacn-l i 2l 9 ?

(A) »is (B) vt (C) A (D) R
4, AR A = {x/x 35 Al wiglas v} A wlA Ad quil.

(A){L,2,3,4,5% (B){1,23,4,56} (C){L 23,4} (D) {0, 1,2, 3, 4}
5. % oLQIMi WS UBLH2s L iy dan AR 3 $8 8 ?

(A) vudl awt (B) uxu- ot (C) ¢i54 2w (D) »isum ¢l
6. % UAHL S % Y25 Sl Al AR 3 $S  ?

(A) vudl awt (B) 258l aw (C) v@a 2w (D) 2isum el
7. vudl e W sul Add auau 9 ?

(A)o (B) < ©) ¢ (D) e
8. Alrel L S1U dcl 2 9 58 6 ?

(A) vudl awt (B) @54l aw (C) 2t-id 2@ (D) »isum -l
9. wislds dvuiiqn oA [QRre 243 sai e ?

(A)N (B)Z ©)Q (D) w
10.  yel 2ivan o [l 2434 sui 6 ?

(A)N (B)W (C)z D)Q
11, yads Avanl [QRre 2A3d su1 9 ?

(A)N (BywW (€)z D)Q
12, A Avawn sai [QRee q3d 9 ?

(A)N (BYW (€) z D)Q
13, vudlomd Secn Guaa iy 8 ?

(A) »is (B) v (C) 2 (D) &R
14. &35 Guae s e ?

(A) vudlow (B)O (C) 2isdlaw (D) »isum ¢l
15. o ueuaion aRiA d2a Guaill giu 9 ?

(A) 2 (B) 4 (C) 6 (D) 8
16. o1 2RIML N AGAL &I dl d-t Guael-l v ... A,

(A) 2™ (B) 2! (c)2" (D) 2™*

17, ARARLH2 $UL ASd auagu O ?
(139)

= i




(A) = (B) € €) c (D)~
18.  adlAs oA su1A3d al sl 9 ?
(A v (B) ¢ (C) ~ (D)
19. ol Risticns 2L 9 58 O ?
(A) 2udiu (B) adn (C) an 2usld (D) dorair
20, 6 {1,2,4 6}
(A) € (B) ¢ (C)c D)z
21, {1,1,0} N
(A) e (B) ¢ €) c D)z
22. {1,2,3,45+ N
(A) e (B) ¢ C) c D)z
23. fA={1,2,3},B={abctdA_ B
(A) € (B) = (C) ~ (D)<
24, MRdL RIRSIAL 1L A 8.
(A) vudl 2 (B) 2is18l 2w (C) A 2w (D) 2trid 2
25. %iU={1,2,3,4,5}aur A={1,3,5}dl A-diysaa A'=
(A) {2, 4,5} (B) {2, 4} (C) {2} (D) {5}
26. "2 o Auill” A d3aul 56 Ad salaw ?
(A) YeA (B) ¥, cA (C) Yea (D) ¥z A
27. % A={1,2,3}24B={2,4,5}dlAUBgau?
A {1, 2,3,5} (B) ¢ (C) {2} (D){1,2,3,4,5}
28. fA={1,2578}21B={3,4,58, 9} dAnBsuu?
(A) {5} B){} (C) {5, 8} (D){1,234,56,7.8}
29. %A={1,2,3},B={a,b,c}dlAnB=.........
(A) (B) {1, 2, 3} (C){a, b, c} (D){1,2,3,a,b,c}
30. 0 {x/x¥5-iuwaua}
(A)c (B) ¢ (C) € D)z
%+ % ANS. KEY &+ %
1 2 3 4 5 6 7 8 9 10 | 11 |12 | 13 | 14 | 15
D B C A B C C A B C|D|A|A | B
16 17 18 19 | 20 | 21 | 22 | 23 | 24 | 25 |26 |27 |28 |29 | 30
D A C A D C C C B C|D|C|A | B

(140)




Y AYe — UAH AA

Qe 8 Asu: 5 vy : afia BsU U : [
1. B ogudlui 6l us Sid dn 9 sdauu ?

(A) 2isugl (B) [guel (C) [ugl (D) »isum ¢l
2. B oiguglui AR ug id dA 9 s ?

(A) isusl (B) [guel (C) [uel (D) »isum ¢l
3. axb=ab®di4x8uusr Searuy ?

(A) 32 (B) 48 (C) 36 (D) 42
4, 8X x By ti1612 9l dvna ?

(A) 38 xy (B) 40 xy (C) 50 xy (D) 45 xy
5. AX® x AyP o2 g i ?

(A) 16x%y (B) 16xy? (C) 16xy (D) 16x%y?
6. 10X x 4y? 6142 g cviiy ?

(A) 40x%y (B) 40xy? (C) 40xy (D) 40x%y?
7. 4X X 4y X Z HRAGR U quia ?

(A) 16xy (B) 16yz (C) 16xyz (D) 16xz
8.  wsudl-i wisugl ud dALusiR 9 »ud ?

(A) isusl (B) [guel (C) [ruel (D) »isum ¢l
9. syl [3udl ud Qusik 3 2ud ?

(A) AAsug) (B) Budl (C) Brugl (D) Asua =l
10,  GXARAAL AU Yot Qv

(A) 1b° (B)1+b (C)1-b (D)Ixb
11.  axborer g qvll as ?

(A)a+b (B)a-b (C) ab (D) ab?
12.  (-2) (4 - (-4)) neR seecn i ?

(A) -16 (B) 0 (C) 16 (D) 8
13.  (a+b)x(a+h)orerdau?

(A) (ax b)* (B) (a +b)® (C) (a+Db) (D) (a +b)*
14.  (a+b)?eR0R 8w ?

(A)a*+2ab+Db*  (B)a’—2ab’ (C)a’®+2ab-b*  (D)a’-2ab-b’
15. (a-—b)?eei g ?

(A) a° + 2ab + b?

(B) a® — 2ab? + b?

(C) a® + 2ab — b®

(D) a* — 2ab — b?




16.

17.

18.

19.

20.

21.

22,

23.

10? sR1612 S2e A1y ?

(A) 10 (B) 1 (C) 1000 (D) 100

(9 + 2)% w112 Jecn Ay ?

(A) 11 (B) 112 (C) 121 (D) 81

(20 — 14)% 1612 32 Ay ?

(A) 6 (B) 14 (C) 20 (D) 36

(X + 1)? o142 gLy ?

(A) x> +2x + 1 (B)x*—2x +1 (C)x*—2x—1 (D) x®+2x + 1

(2a— 3)? 11012 o A ?
(A) 4a* + 12a+ 9
(a+b) (a—b) e g ?

(B) 4a® + 12a + 9

(C)4a’—12a+9

(D) 4a* + 12a—9

(A) a° + b? (B) a® - b? (C) a’v® (D)a+b

m? — n 611042 9 A ?

(A) (m-n)? B)(Mm+n)(m+n) (C)(h-m)(n+m) (D) (m-n)(m+n)
(X+2) (Xx—2) e g ?

(A) x> — 4 (B) X* + 4 (C)x*-2 (D) x* + 2

X% — 81 142 g At ?

(A x=9)(x+9)  (B)(x-9)(x-9)
X% +xa + Xb + ab siR112 g A ?

(A) (x=a) (x+b)  (B) (x+a)(x-D)
(m+n) (M—n) e1RA612 8w ?

(C) x+9) (x+9) (D) (x+3)(x-3)

(€) (x+a) (x+b) (D) (x—a)(x-b)

(A) (m* +n?) (B) (m* - n?) (C) (n*-m?) (D) (m + n)®
Y2 — ZZ 1012 g A ?
Ay-9y+tz) BY+2)(y+tz) (©)@z-y@E+y) DO)z-y)(y-2)

(X +8) (x—8) triei g ?

(A) x> — 49 (B) x*— 16 (C)x*—8 (D) x* — 64
ab + ac kR g ?

(A)a(b-c) (B) a*(b +c) (©a(b+c) (D) a (b +c)?
X (Y — Z) iR gl ?

(A) xy — xz (B) yz —xy (C)xy—yz (D) xz —xy

<+ % ANS. KEY <+ %

2 3 4 5 6 7 8 9 10 | 11|12 | 13 | 14 | 15

c/ A} B | D|B|C|A | B | D|C|A|D|A|B

16

17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25 |26 | 27 | 28 | 29 | 30

c | bjJA]C|B|D| A A C B|A|D|C]A
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Qe 8 AsH: 6 vy : afia BsU UH : AR
——— o
1. AR Juwist ad adl oi suglan 9 58 8 ?

(A) Bsia (B) adn (C) AiRA (D) adrsian
2. AMSIAHL S2al vvish 14 S2a Qs siu © ?

(A) R, AR (B) AR, s (C) 4, ar (D) R, 4
3. addsia-u Al RRUBig A sl 3 s © ?

(A) sux (B) vl (C) [asai (D) 2isun «dl
4, vz AB A dsaHl 51 avua ?

(A) 5B (B) AB (C) AB (D) AB
5. adesiat ABCD i [asal susu e ?

(A) ABau CD (B) BC du CD (C) ACdaL AD (D) ACda BD

6.  adesial PQRS Hi PQ +l ausl-) ouoy 56 siu ?

(A) QR (B) Rs (C) PR (D) SR
7. agesiat ABCD i wiuid-l dat 0H-l 254 i3 s2ell ois wd ?
(A) o, ot (B) AR, AR (C) ar, v (D) ol ar
8.  adesial PQRS ui wiiwizi-iL vyguii-l 2l ois wo ?
(A) a (B) a2 (C) s (D) A
9. UdLSIEL-L AU VRUAIAL HIYAL AR 324l A ?
(A) 180° (B) 360° (C) 90° (D) 160°
10, AASIRL AL AR AHAdlY Big2l WS 32 Bigaal andv A i ?
(A) o (B) 2@ (C) ar (D) »isum ¢l

11, adssivr [@sel uu 4 98 didd g $8 © ?
(A) AR (B) deiai (C) eildxm adesial (D) iddu adssial

12, 2is Addsial- =18l vRuAiAL Hiu 253 70°, 80°, 90° € dl 2l veusd Hiy 9 2 ?

(A) 120° (B) 110° (C) 100° (D) 130°
13, %l AddSIAAL A3 RUSAL HIY AU 1A dl 635 WEll 52l Ay ?
(A) 80° (B) 90° (C) 100° (D) 110°
14.  aqesir ABCD A 23qui 56 dld qvua ?
(A) A ABCD (B) O ABCD (C) [1ABCD (D) m/ABCD

15. @ adrsivnrl mua-dl cugrai-l ol o3 AHIdR Sid da Advsion g4 s8 O ?

(A) uHidRouy Adesiel  (B) 2idyv adrsiay (C) umdoL agrsial (D) @isuw dl
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16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

28 Addsivil 2is viel 90° €, oflogl 110° © 4 sl 6l RUAL HIL AU 1Y dl d WRUALAL MY, 3
R ?

(A) 90° (B) 80° (C) 100° (D) 110°

suL AR [QsRlHL Y AuE dHgy BiselnA s12vEl g ?

(A) A4 (B) uudsL Adrsial (C) doraia (D) Ansuy Advsial

o1 AB 11 CD HidR Sid A A3dui 58 Ad sl ?

(A) AB = CD (B) AB|CD (C) AB=CD (D) AB~CD

suL Adsienl Qs iy a2l dngy [@sel sellonA geudt 48 ?

(A) doraRa (B) ik (C) uudsL Addsinl (D) uuoUg AdbsiaL
[1 ABCD + s& 32l d -un 2udl asi ?
(A) R (B) 2w C) o (D) 2us
1R AR WRUAL HIYAL AU 2l Ay ?
(A) 90° (B) 180° (C) 270° (D) 360°
215 AASIRLAL 8L VRIAIAL WY 2irisH 85°, 35° 244 160° 69, dl Ale v Wiy 3 2y ?
(A) 75° (B) 80° (C) 85° (D) 70°
1 ABCD A Ala-umiell 56 Ad qvll s ?
(A) (1 ABCD (B) (1 BCDA (C) DABC (D) A, B, C =1din
AU Addsianl [Asal el adesiaui Sear Bisiel s © ?
(A) 6 (B) 2@ (C) ar (D) ¢
SUL AASIAHL G GUALAL HIY ARV 81U ?
(A) uideuy adesiar  (B) d@eia (C) umdoL agrsinl (D) AirA
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10

D D C C D B C B B B

11 12 13 14 15 16 17 18 19 20

D A B C A B A B C D
21 22 23 24 25
C B D C D
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Qe : 8 Asu: 7 (v : R BsU UM : WUSIRT AASN AR Qs
1. AnARA SN QoS d AdOUSIR ML ... oA 8.
(A) uRHldl (B) &asn (C) uRRa (D) ansn
2. Ao sl usious d Ausil ........... oA 8.
(A) usious (B) Glaug (C) ansn (D) dous
3. sl asawdld axsn Alad W Yot sl s3U.
(A) dous x dous (B) deus / usious (C) doud + usius (D) 2Asun «dl
4, sl asnwdld s = ................
(A) 27°h (B) ndh (C) 2nrh (D) (B) =1 (C) 4iA
5. uRad ya weudl
(A) T x e (B) 7t x (s (C) 7t x (Brosan)? (D) wrh
6. alfuain viedr qousiz-l sa Al dxsn = ?
(A) 2nrh + nr? (B) nr? (C) 2nrh + 2nr? (D) 2nrh
7. 0y Rald YU Sid ddl azdtiA Sedl auidd giu ?
(A) 1 (B) 2 () 3 (D) 4
8.  oia ousix-l sd A axsn 3dl dd wuai ?
(A) 2rrh + 7r? (B) 2nr (h +71) (C) 2xrh + mr? (D) 004 dvH
9. w5836 gl ddl azdA Sedl awdl €1y ?
(A) 1 (B) 2 (C) 4 (D) 3
10.  1¥le=......... Al
(A) 10 (B) 100 (C) 1000 (D) 1
11, 1l =........ A4,
(A) 10 (B) 100 (C) 10000 (D) 1
12, m el Bud asil s
(A) 224 (B) 75, (C)3.14 (D) (A) 21 (C) bin
13. s sk weurd Birun 14 M2z 21 Glaus 20 W2k © di 2u AvusiR-l asawdld fsn wel.
(n=22)
(A) 1760 L4 (B) 176 L. (C) 880 =LA (D) 88 2.

14. s sl Biran 3.5 A 244 Gl 40 AL 9 di 0 sl asaudl axasn 24w (= 2%)

(A) 440 ai.a. (B) 880 aL.aH. (C) 220 LA, (D) 110 il
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

215 ARl A 28 Al 214 Gl 10 Al i di d-dl asuwdld fstsn Sed a ?

(A) 110 .. (B) 220 aLaA. (C) 440 aLaA. (D) 880 =01,

divisdl 205 Ausik Audal cu 2 He: wd Qs 7 H2r 9 w0 DudlA el Faral WA €
41,123+ 3. 100 &vl Sedi a ?

(A) 1100 3 (B) 2200 3 (C) 4400 3 (D) 8800 3[uu

21 HRAAL 2s isvieuou Aousik Yunl i 100 A 24 Glaug 2.5 ez 8. »u Ylu-dl sa awdld
st ALzl Al (1 =3.14)

(A) 3.14 2L, (B) 6.28 .. (C) 9.42 .. (D) 12.56 2L

ol gouaal aundl s Ad- dous 91 Al 244 adousiz e Besan 30 Al 9. 20 A4R ¥l Gu
100 2i21 53 di 32a Al W2z - soud.

(A)171.60 ..  (B) 17.16 2L (C) 1716 =L (D) 17160 2014\
Rissiti-l 2ul2AiAl 20812 ... el guuy € ?

(A) adwusi (B) usi2 (C) dearusiz (D) »isum ¢l
AVUSRAL WAL oo 8.

(A) adwusiz (B) a-usi2 (C) sk (D) (B) 241 (C) viq
ANUSRA QS0 = ..,

(A) wand &xsn x GRS (B) adusd axsn x GRS (C) warl uRa x deus (D) (A) 24 (B) i

AUSIRL S0 = ..,

(A) nrh (B) 2nrh (C) nrh (D) 2nr?

laqdle = ...,

(A) 1000 @~ (B) 10000 a-@sl  (C) 10 @<l (D) 1000000 a-3s)

1@z =.........

(A) 10Md) (B) 100 el (C) 10000 ) (D) 1000 el

1anfle’ = ..o Baildez:

(A) 1 (B) 10 (C) 100 (D) 1000

<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10
C B D D A A C B B B
11 12 13 14 15 16 17 18 19 20
C D A B D C C A B A

21 22 23 24 25

A C D D A
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ke : 6 2wsu: 1 @Qua : [Qauq 2sidi Bsud Un : Yous

1.

10.

11.

12.

13.

14.

15.

2ot 2@ suL saui 4G &d) ?

(A) *uRd (B) §o&rs (C) $2dl (D) A=
DAl sid A4is 2059 O ?

(A) ulfaa (B) wules (C) vidl (D) vea
DA-nuiel 54 4eas sustld el ?

(A) A2t (B) s (C) 2isell (D) v0dl
AaAuniell 5§ g Aors a3 2usnidl 2l ?

(A) Aa@Run (B) [sa (C) sisuce (D) aivig
A%y 615l USIR Sl Sl 6 ?

(A) dnaaudlgal  (B) s (C) aigi-l -un gai (D) $sausi
2ois Sea Ay gal i 6 ?

(A) 854 215 % (B) v (C) 2 (D) &R
2615 uR £[3eL ga saulaal sUL YONER @id Sl ?

(A) S (B) U (C)N (D) W
Ayl AoisA 92ell $3) A3 AU dsiadl Al G2 g 56 — Bauni Ru wa O ?

(A) ud (B) uBan (C) 6wz (D) el

6l 615l HAHIA YAl 195 Alddl o iy ?

(A) 2usa (B) xtuistiwl (C) tin iselloniell g2 (D) 56 2443 i Hal Al
6] 615l UL YAl 195 @ladi 2wy ?

(A) vin visellonl g2 xnu(B) vind isellond vid  (C) 2usta iy (D) 56 243 oial 1Al -l
A[%uL Aot UIRS A615cd $UL MLLHL A i 1AL O ?

(A) Q- ¢uLHi (B) fal »uan (C) 85d G ga 2w (D) $5d el@w ga 2uan
A st ugaw UM well Hod2 UM HEY ?

(A) Wor2 (B) Honn (C) woral (D) wonsllum

dotEn gl FarAoisi g 58 9 ?

(A) sseus1R (B) "usi2 Aois (C) 2yl Aeas(D) aisi-ll Ao 2us12+ Aois

suL Aois-l veedl undell [Bau el asu e ?

(A) Ayl eis (B) aisi-ll i 2us12- 4615(C) S31512 Aois (D) 23u -l

24015 a3 2usuldl a2l wdl oAdl giu e ?

(A) Ran (B) aivig (C) Aum[un (D) i
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16.

17.

18.

19.

20.

oraflt U U3l SuL sel AoisA A wU 9 ?

(A) dl-u sai (B) dls suil (C) 3dl-u sau
Yorsr HADHIL Y 58 B ?
(A) alys (B) #orlun (C) #on2

'CausrRUYos AU 58 89 ?
(A) alxai Aes (B) il -uen 2us12-4 Aots (C) SR Aots
o15eL oin €931 8L 58 69 ?

(D) st sa1

(D) o

(D) wusR Aois

(A) Ggarm 2 (B) 2R (C) ax (D) aa

oru-l 6[3RL gad sudsd ad salaami »ud ¢ ?

(A)E (B) N (C)S (D) W

%+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10
D C B A A B A A C
11 12 13 14 15 16 17 18 19 20
B C C A B B C B D C
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ke : 6 2wsu: 2 @Qua : [Qauq 2sidi BsU UH : AW A e
—— —
1. DA-umiodl sul awa AU s2d) -,
(A) a4 (B) 2692 (C) Brandl (D) HId1RL - 913
2. 2351 AAunidl 56 cua@sda qad O ?
(A) =au (B) de-u (C) waar (D) >uud Al
3. s gat il 58 aaisd aiad 19l ?
(A) =au (B) waan (C) ux (D) Ade-u
4, s -A-unil 56 aalbisdl aud © ?
(A) wadn (B) ¢4 aan (C) =aan (D) »uua U4 vis wa 1l
5. QAL WL 58 w9 ?
(A) aisn (B) agsullil 913 (C) [asun (D) 2u22udl
6. A2l WA sy a8 ?
(A) 81531 912 (B) wu2ii2 (C) udliy (D) sl
7. aruldd =au- i 54 89 ?
(A) un (B) usis (C) el (D) usu
8. 56 aniula- wall 2usl wey Adeeld O ?
(A) Adnvil (B) axnmell-u (C) acei-u (D) %1
9. 56 anuld-d sa ALy usdl pél U & ?
(A) dayvlln (B) nael (C) aonuelld (D) dcuoin
10,  duyvlla sa 56 Ad ddsusaid O ?
(A) d A vild 8. (B) dnl t35auell =3l u3d 8
(C) d »dl dzs 28 8. (D) dn issaull Brsia onu ¢
11, s arpufdusdai wa A 3 Wlad 8 ?
(A) 2acuet-u (B) axnmell-u (C) winvll-u (D) uiueu-u
12, s powid) 6o ouil Uidi-l Aid ANIdR s34 d B g 58 9 ?
(A) =auq (B) vaan (C) ux (D) 25 ndl
13, aquld 2aunui sul ud iR 518 9 ?
(A) 2[5u% (B) -usSzios+ (C) s16i sraisss (D) suS i
14, 3y Daal welli 55 el g 6 ?
A)wel gy oid  (B)uwlass nud  (C) wel cua o 8 (D) 51 »1uR ad) el
15, yrued llad well su @ A skel gl v ¢ ?

(A) usaixn (B) »iiin
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DA-nuigd sidl ales adl 42 ?

(A) sa1 (B) w2 (C) el (D) qaal Al 913
A2-umiell 56 ge-u vuldadl € ?

(A) Ruiard viaug (B) sl s&al (C) sullmidll & ad (D) ~@iunidl A3y ]
Quniall 5 g2 uldadl o ?

(A) ol Glaig (B) 201 saal (C) uanlmiN g ad (D) v aad

<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10
D D B D B B C B A C
11 12 13 14 15 16 17 18
D B C A D A C B
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QReL: 6 XTI

Y AYe — UAH AA

[Qua : [Qsun 2sa

VsH UH : AR ASH 2 R

—— .
1. 21 [2uuust A e oirid d glae- 9 58 ¢ ?
(A) 2113 (B) 6id» (C) ar (D) az2:a
2. A2 WA sy AR gra e ?
(A) Qi AL (B) viicu-l AL (C) 2umdl- s1ael (D) wisd g1at
3. QA1 WA 54 A3 grae Al
(A) dley 4 sraw (B) 21211 glagt (C) zundld sla (D) oA slamt
4, flot-ti 34 51 UsIR-L weEd © ?
(A) 2113 (B) iS» (C) ar (D) az2a
5. A WS 5y de glaw e ?
(A) & slasl (B) vicurl At sawr  (C) dlotd giam (D) wisd g1at
6. DA A 521 ueted sl O ud d- 4198l d2e giaet A ?
(A) QlaiAl AL (B) ¥1§ (C) wis (D) u3ivuR
7. siResangd?
(A) ar (B) 2iails (C) 6if» (D) aze el
8.  SNEUSL AL s1AR A 3l U D ?
(A) aie (B) Wil (C) ddi (D) a3t
9. Avid WA 424 ti-ladl s34 vel quAd € ?
(A) QlaiAl AL (B) vuai-ii st (C) siles st (D) ¢
10.  RRAA scumi -l Guaio i © ?
(A) QlciAl AL (B) vudi-ii a3t (C) silRzs uist (D) ¢
11, DA-umidl yas 43 s quan 9 ?
(A) a1 gisaidls 1 (B) silRes Alst (C) sngR (D) [Bricsaldn
12, ADA-umiddl siqi Guaidl =P Gusenui i § ?
(A) sissilas 2R3 (B) 1§ (C) alau-i 4131 (D) IR N
13, ADA-umiodl su1auz-l Guaid wia Hedl-d ysaell sAA gaq w2 au Q ?
(A) vl i3t (B) &icu-il st (C) ¥§ (D) yaivuR
14.  sie il Rzuausa ¢R13004 sieud 6 ?
(A) i3 (B) S (C) &= (D) 2is ua 1l
15,  aRrdsansid?
(A) 12 (B) 1§ s1amt (C) aud wel (D) silRes a3t sian
<+ % ANS. KEY <+ %
2 3 4 5 6 7 8 9 10 | 11 | 12 | 13 | 14 | 15
D A D A C A A B D/ D|C|C | B
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"

ke : 6 AsH: 4 @Qua : [Qauq 2sidi Bsur U : ofl
1. uaoll avian oflogd sraui as souddi d-l 6 513 £92 usdl Al dl d 6l DA-uuiell sy 9l ?

(A) na (B) a2 (C) a6 (D) e
2. UL ollogui Vil Y2 guy 69 ?

(A) wa (B) waR (C) siar (D) euesd
3. Duniofl WA 5y viseoll oflor &9 ?

(A) wa (B) qdr (C) azwu (D) w1
4, Qe WA sy siseoll ofloy ell ?

(A) a6 (B) s (C) us1d (D) sidr
5. 2w WA 53 [geoll ofloy &9 2

(A) a6 (B) s (C) na (D) usd
6. A2l-u U4 5y (geoll ofloy 4l ?

(A) R (B) wa (C) 213¢ (D) awu
7. DA AL sd 6 D ?

(A) cul (B) azwu (C) w1 (D) %a
8. e A 5y ey A olly & ?

(A) us1s (B) w2t (C) us (D) a4

9. ool AL Sau 6lloy 01 -l a6 ?
(A) weli d2 d (B) wesllmi 361 d
10. ol Gloran wie -u WSl su uRoin o3 -l ?

(C) win sl d

(D) o cwdul gl d

(A) sal (B) well (REX (D) usllai
11, surt ollogHl Sl van gri A 9 ?
(A) asulRul (B) %51 (C) a2 (D) 2usst
12, ol Saial uad izt Adi el ?
(A) 2us3t (B) 2tmg (C) duui (D) sae
13. i oo Senal wisl gy 9 ?
(A) sluo (B) sa (C) %51 (D) 2usst
14. - oo Saual wisll gy adi 1 ?
(A) sun (B) tuan (C) s (D) asua
15. 2t oflog- denal wielai gl § ?
(A) 2usst (B) 2us3 (C) -ulRau (D) sa
16. DA sunoog-l daial uaal wy 9 ?
(A) as-u ol (B) -ulz (C) tuan-u oiloy (D) 2us3i-u vlloy
17.  swofle 21idRs s 51280 e €9 ?
(A) unaz (B) azwu (C) as-uolly (D) enan-u oilo
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 |11 12|13 |14 |15|16| 17
C A D B C A B A | B D D/B|C| B/ B A B
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ke : 6 Asu: 5 @Qua : [Qauq 2sidi BsU UH : afldA sl

1.

10.

11.

12.

13.

14.

15.

DA U4 5 arula 913 6 ?

(A) sunAl (B) Wlun
AL 913 UHURHI Aloy 20y Q14 8 ?
(A) a6 (B) lowai-i
sUL 913 AR A 30 el 0 9 ?
(A) qad) (B) a6
A2 WA 56 aruld au e ?

(A) dlusi (B) #1ue
A2l WAL 58 a-uld a6 ?

(A) 2nmsull (B) ugel
AAll s usR-l anulda € ?

(A) 918 (B) ga
539 5L usRl anuld & ?

(A) 913 (B) ddl

¢ anula-d 2uam agl dioy giu & ?
(A) tiea (B) 1€
56§ a-auld A HU Yad= aad O ?
(A) us1s (B) aia
58 anuld ddua Yod-L ad ¢ ?
(A) zar (B) »ue
Q2w A4 565 dan usil aqula & ?
(A) wasull (B) ua

58 anuld- yon adausdl Guidl asu ¢ ?
(A) cuxl (B) %e
56§ anuld 2uRidl usis 4 9 ?

(A) eusll (B) ¥ra
6§ anula Qadl usis i wa 9 ?
(A) slidirda (B) @i

58 anuld A1g el 4 © ?

(A) Qluni (B) 2undl

(C) uainaa

(C) curmuall-L

(C) acuen

(C) w1

(C) vl

(C) au

(C) g

C)

(C) »ioi

(C) 2u1iu1da

(C) a2l

(C) tuwidl

(C) el

(C) a1

(C) dlust
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(D) dlendl

(D) qail-i

(D) {2l

(D) 2niuida

(D) %wue

(D) dal

(D) &y

(D) sl

(D) 224l

(D) dlmsi

(D) <ol

(D) s3w

(D)

(D) 2ug

(D) AaHsiR




16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

25.

58 anuld Asd uel 4nd ¢ ?

(A) Nuoil (B) as (C) 3 (D) dudl

6§ anulan welni aHid: RiRu@=u siu 8 ?

(A) 30 (B) il (C) e (D) Wy

6§ anula- welni A R sl e ?

(A) 30 (B) as (C) (D) usu$

aull G sedl glu ® .

(A) 452 s2ai 0l (B) 4-6 82 (C)15-20 g2 (D) 20 geel aaud

2U1g 3l SR USLS Sl 8 ?

(A) 221R usis (B) Uil usis (C) [aadl usis (D) &yfRand usis

530 ol auld-d sy 2o e ?

(A) 3 (B) usis (C) 54 (D) sa

A2 A a-uldd su o e ?

(A) un (B) usis (C) sa (D) s

sA1aR A arizuldd sy 2io e ?

(A) 3 (B) usis (C) s (D) sa

012121 A QR fdq su via e ?

(A) 3 (B) usis (C) s (D) s

siofl 2 anuldsd sy 24069 ?

(A) 3 (B) usiz (C) 54 (D) s

GaA A i dl 5 aniulanl 20u8 43 Guaiol s3 asy ?

(A) il (B) 2iiiviad (C) %y (D) qa:ll

<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10
A D B C B D A
11 12 13 14 15 16 17 18 19 20
B A D B A D A B C D

21 22 23
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ke : 6 Asu: 6 @Qua : [Qauq 2sidi Bsud un : well
1. Huel 56 ualdui Al ag welfl 232 w3 B ?

(A) ws-ll (B) 8 (C) Rius (D) N
2. dpourtt WA UEMBL U5 s WL UIBSs2 $UL 6D ?

(A) GAP (B) GPP (C) GOP (D) GCP
3. gl 3edn 25 axdl wielHl dofl-l uxeuiAl wmAl 53 2 & ?

(A) 30% (B) 50% (C) 40% (D) 25%
4. yed)l y searestuell e ?

(A) 53% (B) 72% (C) 52% (D) 60%
5. gl ui Secn disi wia Mlan w2+ v wigll el ?

(A) 3wl 1 (B) 6 widl 1 (C)10 wiell 1 (D)20 wiell 1
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30. &3 el ollvm ulE 2 ol ufA o 9 ?
(A) 2381 (B) silRisi (C) Gz (D) sl
<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 | 11|12 | 13 | 14 | 15
A A A B C A C B D D|C|B|B|C
16 | 17 | 18 | 19 | 20 | 21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30
A B B C A C D C B C cC|C|D|]A]A
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Qe : 8 Asu: 9 Quu: Qsuq 2s-lai BsUsd AN : 1A adload

=

1.

10.

11.

usia- [3ad agleiad sa12 ad il wo o9 ?

(A) us12-l HIRTHL SIS 24916 2ud AR (B) ustai-il Hiol- MieuH sgdia Al

(C) s a8l — 2491 Addl 1A 1R (D) usi2 2uRe s AWAA AU Wedl F51u AR
el et dcuni 3Rl Rissi Y4 d-d dcuu-l 2ie: vadis sdi Rissi 58 gou svuy € ?

(A) Risst 2all ois1R guia 9. (B) [assi dcua-u dldan-) N2 gvua 6.

(C) [assi scuadl A Gul guuu 8. (D) Rissi el BuR ddi gvua 6.

well MRd saqL 2l WFua 21364 wiellui 28 dn =il wsdl giu dl d Wia 3 guny ?

(A) aifl, g2l xn ondl  (B) wiaoll evun (C) wellmi ulaa gvna (D) scisll oiiz gvi
usta S (500 samidl sia doaqul st 249 -l Awdl uedl sigiz sami Alsi 8 d (3w 9 $8
87

(A) >uwalsa (B) aslejdlsm (C) [Rolals@ (D) [Qaladls@

AR 21 a3 sl doran U (3o 2uud sl avid usiad iy Be samidl sl e adl avd 9
e ?

(A)ddorazsansd. (B)ddudlgonu®d. (C) dafean wnd el (D) d unad- wa .
S1AL G018 YR BuLd Ad (391 dorgn-l awidl e 2 2inl vall si-idd iy, di d Bewd aglead ad
el ?

(A) 0° (B) 60° (C) 45° (D) 90°

usiad i 3ol el welul e wa AR Adt afleidnAl AeelHl suudsionL Y uA
AQMAASIRLAL HEU A423) AL A6E iy 8 ?

(A) 2uuidsier Yed sl aQedlBeid Yeu i siu 9.

(B) 2AULA5IRAL HEA 53l AQdlBR01- yeu ag gl ©.

(C) 2uuiasian 241 agleydlBa- yeu Auq i 9.

(D) »isum 1l

welHiel carmi e1d Adl wstae i (3221 w2 2uudlEed Wy § 8 agleidsie- {7 a3 2l 4eia
Sl e ?

Ai=r B)i<r Qi>r D)i<r
A2l-u U sU Al 42 usielly wean 8 ?
(A) gl (B) s12 (C) wll (D) i

i ustaHl 4oL Al ag s 9 ?

(A) gruasani (B) saumi (C) wellwi (D) siaui
AL SIAHL USIAAL AL 324l S 69 ?

(A) 2,25,000 km/second (B) 1,80,000 km/second
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

(C) 3,00,000 km/second

wellHi usia-l 4o Seal sl 8 ?

(A) 3,00,000 km/second

(C) 1,80,000 km/second

Wil Sl YrUASIAHL WS- 21 S2a1 211 €9 ?

1
(A) 2 (B) 5
wellHl Rua agdaris Sedi © ?
(A) 1.0 (B) 1.5

A1HIY s1A-L [R08 agdeanis Sedi € ?
(A) 1.25 (B) 1.33
[Barz siuqi Rua afeanis Sedi ® ?
(A) 2.42 (B) 1.66
Al g aQManis s ?

(A) i (B) s12
agleadis 2 589 AsiauaAu Y ?

(A) 8 (B)n
[Quansi 2 56 Asitaunu & ?
(A)n (B) =

Bosud sa 2l Al i 8 ?

(A)3 (B) 4

Bosu-l sa awduiddl Sedl awidl doizy sy e ?
(A) 2 (B) 3

(D) 2,00,000 km/second

(B) 2,25,000 km/second
(D) 2,00,000 km/second

© 3 (D)3
© - (D) 5
(C) 2.42 (D) 15
(C) 1.5 (D) 1.33
(C) wall (D) sau
(©) o (D) y
©)y (D)
(C)5 (D) 6
(C) 4 (D) 5

Bosu-dl sa awdluid Sedl wwdl Busiousiz gl © ?

(A) 2 (B)3

(C) 4 (D) 5

[Bosmniell wak ad otiz (3@ w2 2uual3e 21 RlRalE ariqn veud g 58 ¢ ?

(A) 2uuidsial (B) alzmidsial

(C) - sial (D) Bosu 51w

A2 WS sul 2RlTR s1AAL RRUa aQManis suid O :

( A) YrAASIAHL UsL2-L AL (B) SLAHL ws1A-L 0L
SAHL W51l 40 YrAA5IAHL UL AL

(C) SIAUL US4t ( ) sl UsIAHL 4oL

Sl usta-ll 4ot wisllui usial 4o

<+ % ANS. KEY <+ %

1 2 3 4 5 6

7 8 9 10 11 12

B C A C A D

A B D A C B

13 14 15 16 17 18

19 20 21 22 23 24

C D D B A B

D C B A C A
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ke : 6 2Asu: 1 Qv = ulrs Qi 2sud un : S @ 2l
—— .
DR iU e W2 Qiod [@Asey Rie s394 e viruul O Quil,
1. o111 Bl Wl g1t el asi § ?

(A) Bewi (B) 2Rs amar wsl  (C) adn (D) wsayas
2. Russil, 2wia R32, y[d, 2021, Bean adia vl g ol asu o ?

(A) adwid auy—oad (B) Axsiirdl ezt (C) Slasin (D) 56 -l
3. Rawiz — 2000 ui adHi wami Qadl adui sdar sl [@Qadl suuami 2udl ¢d, d4 o un

Y AUHL 20 ed, ?

(A) [addl € (B) Hld-luxm siasl (C) adHiriust A& (D) Ma-Dlum u»
4, sl gl 6916 UR SidfA Qe 2iadl AviA 3 58 8 ?

(A) *ieuat (B) diz@ut (C) Rcudm (D) disust
5. @2 L gaill 914 UR SidAA @il 2adl duid 3 58 8 ?

(A) ®ieust (B) syt (C) Ricndw (D) diuat
6. ALY B MUY UAL UR ABUML Hd @rital Hi2Ludl 59 i oial wolL € ?

(A) cusll AL (B) za-uaisl (C) uig [adl (D) »isum ¢l
7. Al YRl UR SiddlA dvicumi 2adi @uie 9 s »ud ¢ ?

(A) dizua (B) dmus (C) ®irua (D) Ricudw
8. U2uR UR SidAA davicuui adi quiad 9 seai 2ud O ?

(A) iyt (B) ®iiua (C) sy (D) Ricudm
9. fld 3 U2 UR SidA quicuml Suddl duieid 9 s8umi 2ud © ?

(A) dimust (B) eyt (C) drsu (D) 2Aladm
10.  ulMdvil B A0 AU 2UA D A Y 58 9 ?

(A) Ao (B) ussin (C) 2ivaour (D) 2l¢dviou:
11, dlu 2=ldAvuR sui A0 2udd ¢ ?

(A) Herd (B) sasdl (C) [zecl (D) 2Amglcue
12, oun-i wollun gt 9l Sl el asy @ ?

(A) 2 (B) [aza-u (C) udz-i (D) dumsii
13, 2usiaL2ied 4 ?

(A) usadl wd (B) 51l Wl (C) R-ud Wl (D) 2l
14, Slasia [anus sl 2uua auidl voll 28 6 ?

(A) dasuid (B) eueuiy vigd (C) [@srt-uiel (D) 2isun 1l
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15.

16.

17.

18.

19.

20.

21.

22.

aduiq aHami Slasia e w2 A0 Rdl ¢idl %30 & ?

(A) ailawy (B) ad#ur (C) &asn

21U, Q81 Sl sui 74 gL el asa S ?

(A) Been — 4z (B) 121 (C) Rz (D) Rt
AU QA Anogdl WS AL BUR Quint 51 Ad, 8d ?

(A) st R (B) ®irust u2 (C) augr udL R (D) s1us w2
M M 9a suL A0 Aldl HAd S ?

(A) [Bran (B) s8R (C) elaa tua (D) 2uuu
wigstH sl auid 3al AlAsiRs wtid ofl i sdi ?

(A) Rissiil (B) W&l aigL, 2uepNgl

(C) R~ (D) Ricndm

A% AL 5ui 220 2425 Ricudvt ogicn woL € ?

(A) wea (B) %-oie (C) virag (D) ux2s

2205 Rendu 56 [@MRHL qual 9 ?

(D) 2isum el

(A) tusll dlndl (B) uig il (C) garuaidl (D) @isum 4l

ALY Bi I UAL SUL A6, lal HAL 6 ?

(A) arsidl dasiay (B) adadl (C) wuldun (D) udai

<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10
B C B D A C B D
11 12 13 14 15 16 17 18 19 20
C D A A C A C A B B
21 22
A A
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ke : 6 2wsu: 2 Qv : eulrs [@auq 2susd un : DA, 15U AHDA ...
——— o
DR iU e W2 Qiod [@Asey Rie s394 e viruul O Quil,
1.yl 50 el Als5A GIRLAL AUI2 S0 Y-L AR 9 58 € ?

(A) 32 a1l (B) sl (C) wxauy (D) 32 4y
2. silugedll B d usud i Rt oned asiu © ?

(A) sl (B) siecuu-l (C) 32 Hul (D) [2eu-l
3. 22 A% UL AHAL W2IR1 244 Huy A8 £ ALl A2 5UL USIR-L A5 S ?

(A) [Qva — R3us (B) ayyrs-i (C) ax il (D) wslas
4, Agnd sea -3 RARS Ay 2050-uS3a (NATMO) e su adui »uddl 6 ?

(A) siastdl (B) 2sugr (C) el (D) yai
5. 3ol AL AU [AReIRL g2l HI2 531 301 quAL D ?

(A) s (B) Ml (C) sl (D) dlai
6. 3ol sl Hidl G salaal W2 sul 3o quaAa B ?

(A) dlal (B) i (C) seus (D) 2u1xu-)
7. 524 [Bouyas dlRl 216l 56 [2au vtand © ?

(A) ud (B) Gu2 (C) elaw (D) ulan
8. 3ol AsuMi Al salaal 12 sui 3oL quAA D ?

(A) dlal (B) i (C) seus (D) 2nau-l
9. AU P15 34 salddl 45U 51 USIRAL A5AL S ?

(A) aclu (B) wslds (C) lawa — [A3us (D) eyyrsti
10. 390 As2AHi RS sAldal $UL 32 AUAL D ?

(A) Wi (B) @& (C) cugell (D) s
11, sl Al Gua-u 83 sul viaR audl ¢l e ?

(A) u. (B) <. (C) 6. (D) y,
12, sHi gl salaa | 56 dsiauan 8 ?

w7 ® =" O~
13, -swHi sl aereu-l eataan 5§ s auau 9 ?

(AO© (B)® (C) O (D)©
14,  «saumi 596 36 A opa-dl A alaal qua 8 ?

(A) — e e — .. (B) ............................... (C) | | | | | (D)
15. 20 Asmi ses 391 9l HI2 auuu 8§ ?

(A) Fadl w2 (B) Helr w2 (C) G e (D) @nuax we
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16.

17.

18.

290 Asouml ol 391 Al WS quga 8 ?

(A) He e (B) wtuaiu w2 (C) anzuld w2
AL iRe—iEu sulaal o dviami ud © ?
(A) PA (B) PK (C)PS

A5UHL AidAU Al salacn 56 36 A auaA Y ?

(D) Gaus we

(D) P.O.

N — B)— — —-—- (C)---=------ (D) =X — X —X—X—X
<+ % ANS. KEY «+ %
1 2 3 4 5 6 7 8 9 10
B D C A C C B A A
11 12 13 14 15 16 17 18
C A D B C A D B
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ke : 6 wWsH: 3 (Qna : ulys [Qauq isHsd un : wARsdl
—— —
DR i e W2 Qiod [@Asey uaie s394 e viruul O Quil,
1. 2R AUSHL 2] uan Al s a1 59 € ?
(A) o (B) wisiay (C) $2u (D) 2um
2. seoruidl 2uuRd g 1A 9 ?
(A) dasiR (B) 2wy (C) 28121 (D) -wauR s
3. A5URAL 2 AlBdcassda-dl Grn o 56 € ?
(A) wals uo (B) suadle= (C) wealns suo (D) s2u
4. AHIY A UM AL A5 55 €9 ?
(A) 24 (B) 2um (C) [aenau (D) séu
5. 6 AR WAL ABddad Rulel sami wes3u au 9 ?
(A) ulals (B) mulys (C) wlis (D) 2= slu
6.  ecllui Hdsir sa 2 RURs WA 3 id ¥33 O ?
(A) HagltuaA (B) walRsust (C) xiviua (D) wruuA
7. 24 2R HL HAEIA ANBIUA A 5 GUGLAHT AN BRI dLRu € ?
(A) uaRscadl (B) 2uou uda-l (C) [aga uaru-ll (D) 8lda cndu-udl
8. @R ARIRSA 324l avl-l GHI HAgLA sa-l 2AA51R HA S ?
(A) 15 (B) 18 (C) 17 (D) 16
9.  ®Rdd wiRs Anaardl S2dl Adi 9 ?
(A) »is (B) = (C) ar (D) o
10.  cuRdui vzt Ul 5 uadi el ?
(A) G A1e11 $3cl-L (B) wait scu-il
(C) 2uzelui Ge 8-l (D) eiBis Armi 514 s41-l
11, oleRe uHidl GiRd 635 URRSA sl AR sdL o 2ewAd) © ?
(A) apadl (B) sévi-l (C) curdly Aa-l (D) -l
12, A AA 51 AAR0HL HRAAL ARLRS GURdr AR S dwid © ?
(A) %1 d [A2ami sl sa1 1. (B) i d 2agis-l 2i6dR -l $3.
(C) %1 a [agell uad) ud @on 53 ... (D) %1 d vyt el AR -l 53..
<+ % ANS. KEY <+ %
2 3 4 5 6 7 8 9 10 11 12
C A D D B C A B D C C B
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aRa: 6 WsH: 4 (Qna s ulys (Ao sud un : waanHl azzud
1. aRdlu Guvisul 2ua2 S2a anid Hiiaddl- 2adiN ian v § ?
(A) 12 am (B) 20 cumt (C) 10 cum (D) 22 am
2. AWSS dGisSL sAL AU S ?
(A) 2ulsumm you (B) Heu wnaL yoL (C) et wrweL y2 (D) il ure you
3. v Geutert dA3HL st saiaeuy © ?
(A) wzl™s waa yor  (B) 2uleure you (C) et wrweL y2 (D) Heuure y2t
4.  sil agui vulEuqa 21s oudl ollw ouIA sl i ?
(A) 288181 12+l Ad) opour-) GEER
(C) wad ugii-l (D) viiisl
5. 2l uiranl W3ls @a--dl wizl euorl Wl diq uell va € ?
(A) 2121 (B) 284wl (C) astil (D) viils
6. AR DAHL B3Y AL UL Al 2 6 ?
(A) vidl-l atael (B) 2Rl atieaell (C) ngasardl anael (D) as-) aiad
7. Hira@as- Al sildsid) aia 56 O ?
(A) 2B+ (B) asl (C) vidi-l (D) sl
8. SUL USIRAL A1 2UEHIAAAL Dad W12 Gl st ?
(A) ueaz-i (B) divis-u (C) crssi-i (D) disu-i
9. Hew ugA A G usu- slAwL et Asi2Aui Sini Rt i & ?
(A) WA gt (B) sunsi-u (C) wiag v (D) %4 ugiii
10. et vlaug i 2uddl siql Aasiui 2UEHIACIAL AU Slaldl YA HoUL © ?
(A) usie-ll (B) Srumoum-l (C) ellmsizsi-l (D) ereufail-l
11, gl (iR US e suL Wil 421 ALSIAL UAUAAL Sdi ?
(A) 2ule (B) nen (C) a8 (D) 23
12, 2022 QML 524l av usdl g[RarL dldiaemi s uRadq »ue ?
(A) 10,000 a¥ (B) 12,000 af (C) 15,000 af (D) 20,000 a¥
13, w4l UB AL 2AHAURHIE su1 21 WllaAiAL 81351 2o1el A g21AL Yl Hull vl © ?
(A) 2ultumm i (B) @4 wum g2k (C) qatwmetyadl. (D) Hen wna youri
14, $.2. yd 56 adlu weaddl 2uuan dist 5120l S2iql Hsitiui 8L st ?
(A) i (B) ol (C) viaMl (D) uqa¥l
15.  S.a.yd i 28l weadl suauin- auanl 59 ag-l sou [asAd) goua © ?
(A) aivizl (B) na-l (C) aieu-dl (D) siau-ll
16.  uleniad @ad 104 st afd A dH d-d 9 2d 2w ?
(A) 2ua-0sw (B) aulyslsa (C) Gaiclfls (D) ARafsw
17.  uRHinan-) AdASHL Q411 2di d-umi - [@s aul ?
(A) Retsarnil (B) [ sdi-ii (C) 5lactidl (D) %Rl -t sd-il
%+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10 111|112 (13|14 |15|16|17
B A C D A D B A | D Cc | ¢/ B|B|A/D|B|C
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ke : 6 AU : 5 (Qua 2 by s [Qauq wsHrd K : 2uug aR yedl

o DA s gast 1 A1y [sey e sAA 2004 vi-inl O Q.

1. yedldl awidd GuR o162 Heyui g3l 208 3vud 9 58 6 ?
(A) 1ungd (B) [Quaqd (C) usRad (D) $594d
2. [Auagasll 23.5° Gn2 2uddl >udl Jvud g 58 9 ?
(A) Hs2an (B) [Anaga (C) us:au (D) s59n
3. [dyagaell 23.5° g2l >uddl >udl vud g 58 8 ?
(A) usan (B) 2u-aa (C) [Qyaq (D) s59n
4. QAL YAUSIA 21 ARMENAL 2012 yedl-t Gri 44 sel 2u £35 olvndA zen sRoiaui adaami
209 69 ?
(A) 6 (B) 2@ (C) ar (D) uia
5. yed) uR set S2al eyfAvisi 2udan e ?
(A) d (B) na (C) uia (D) &
6.  uxdl u 54 32l HSIRUORL 0dA & ?
(A) uia (B) Ad (C) 2 (D) ar
7. sui vig Al Wizl © ?
(A) 2R (B) 2ul3st (C) u2iu (D) Grir 2351
8.  sul SRR Al Wizt 9 ?
(A) edlrzs (B) uailds (C) 2usles (D) [E=
9.  sulHSIRR Al UL ?
(A) [ (B) »iedlr2s (C) 2usls (D) ulalzs
10. DA VA su1 visL 5165 wRL et Guat sRoigui Al ?
(A) sl x13Rs (B) w2 [au (C) uiu (D) Grr u13Rs1
11, suivis el ga udl Qa4 9 ?
(A) 2ul3st (B) i-215R 51 (C) 2a1R2[xu (D) 2
12, sulvi3 WA duddl e ?
(A) -85 (B) uliu (C) Grr 21351 (D) il
13.  ‘'[Avagn’ s 58 8 ?
(A) 0° naia (B) 90° 6.2 (C) 23.5° G.2. (D) 90° ..
14.  'sSqn’ S 58 69 ?
(A) 23.5° 6.2 (B) 0° »1aia (C) 90° €., (D) 90° G.2x.
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15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

UYL’ SiA 58 O ?

(A) 23.5 e (B) 0° »1aia

‘B2 gadn’ s 58 © ?

(A) 66.5° 4 2id2 Griui

(C) 23.5° A %idR Gl

'g[A gagn’ s 58 6 ?

(A) 66.5 €., (B) 66.5 G.%.

A U g 2 B ?

(A) usiaL 244 2124 (B) aig-l 241 Qa0
slRoial Jean © ?

(C) 90° .. (D) 23.5 G.x.

(B) 66.5° A vid2 sl@ami

(D) 23.5° A »id? elani

(C) 23.5 G.2. (D) 23.5 &.%L.

(C) arane v carcuniy (D) [Aoell 244 2101312

(A) 2 (B) aa (C) A (D) xR
Aledl a8 usta s sleeia Gua w3 9 ?
(A) Gua sl2eig (B) 2l s2eia (C) uulma sReia (D) Guz U4 51 Al
Alell 241691 us1a suL sRoia Gu U3 9 ?
(A) R sRoia (B) 6w sl2eig (C) nulama sl2via (D) Guz-u tia sl2eiami
yed)-t 2lion uR €3l s1cu[s 2udl vuA g sdai 8 ?
(A) aiagal (B) uiugni (C) gagni (D) sdlial
yed) onou v Gledl giRd) sicus JvuiiA 9 sdau © ?
(A) uiiag (B) 2ziugri (C) sdlvia (D) visi
$AL HSIARIR A sRoIaH] 2udal 9 ?
(A) [€e (B) viedlr2s (C) 2usls (D) uailss
%+ % ANS. KEY <+ %
1 2 3 4 5 6 7 8 9 10

A D A B A

D A B C C

11 12 13 14 15

16 17 18 19 20

B A A A A

A A A A A

21 22 23 24

A A A C
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qiRL: 6 WsH: 6 (A : ulys [Qauq SisHdd UK : S @anl azxud.
—
DR iU e W2 QoY [@Asey uie s394 e vi-uul O Quil,
1. AUZ 2 A+l 2100l 1R car) ad 2023 Sear ar oD 69 ?

(A) 12000 (B) 25000 (C) 1000 (D) 15000
2. - 2unll 2ioflA W2 A% M2sd usd ?

(A) 28uis (B) vidl e (C) s (D) wgwan
3. oiruri sellein uul wisl quiell 2 Sl Guaiol sdi ?

(A) sigill (B) &ldrsi (C) wasi (D) s
4, ol sl 2412020 AHiA] ot vuadi ?

(A) ad (B) wdl (C) asst (D) ucaz
5. HERV1E $UL 2AML 20AE €9 ?

(A) wlzun (B) 2tstu-lzein (C) somlsain (D) ®uRd
6.  We22ue-l 5101 Hasi- d 9 esiacqimi ud © ?

(A) a2 (B) t153 (C) 4l (D) °ua
7. [RR1 Hidl irt 249N Al o ?

(A) 46 (B) v (C) &d2i (D) aln
8. Aluan wad el el 3 8d ?

(A) 2uy (B) 42l (C) &2 (D) Beudl
9. wialld uHUML AU A arRuldtA qrzal 12 -l Guaiol Adi ?

(A) uca (B) isid (C) wra (D) i
10, $CHR Vi GIRdrL SUL ABUHL 2044 69 ?

(A) Brer (B) 2iaucal (C) Grruza (D) slem=

<+ % ANS. KEY <+ %
1 2 3 4 5 6 7 9 10
A C B D A B D B
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qiRL: 6 WEH: 7 (Qua : sl [Qaun 25U UM 2 QoA 2 e, AHL 21 Y
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1. [zl g2t dopteri e GHURAHL 52, €9 ?
(A) g (B) a4 (C) winy (D) e (v9g)
NOTE : 2tiueanizll ddo1gu 225 tintdl A%ud et AldHidl 9¢ o1 6.
2. og il AlHuid derna-dl ydui sy A 20dd 8 ?
(A) nen uea (B) uoszaun (C) HsRRg (D) vt
3. Al ulH sUL AUg 21AAL D ?
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33.

34.

35.

[Bedl-u Beai uad suge 519 Sdi ?
(A) vigig2u8 352 (B) 215012 (C) e (D) aligorsl

§.24. 1857 «Ul 2elld>u AnmHL ot isian W2 3 udls avicumi vue gd ?

(A) 21 (B) s (C) sun (D) arcuot

§.24. 1857 « 2ald>u Aumui ARSIA Fistan w2 s34 udls v 20 gd ?

(A) sun (B) uusa (C) acus (D) 14

<+ % ANS. KEY <+ %

1 2 3 4 5 6 7 8 9 10
D C A B B C B A D
11 12 13 14 15 16 17 18 19 20
D A B A B A B A B C
21 22 23 24 25 26 27 28 29 30
B C D A D C A B D B

31 32 33 34 35

A B A C D
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